Agilent
N8200A Series

Synthetic Instrument
Modules

Rack Configuration Guide

Edition, January 24, 2008
N8200-90003

-1 Agilent Technologies



Notices

© Agilent Technologies, Inc. 2007, 2008

No part of this manual may be reproduced
in any form or by any means (including
electronic storage and retrieval or transla-
tion into a foreign language) without prior
agreement and written consent from Agi-
lent Technologies, Inc. as governed by
United States and international copyright
laws.

Manual Part Number
N8200-90003

Edition
Edition, January 24, 2008
Printed in USA

Agilent Technologies, Inc.
1400 Fountaingrove Pkwy
Santa Rosa, CA 95403

Warranty

The material contained in this docu-
ment is provided “as is,” and is sub-
ject to being changed, without notice,
in future editions. Further, to the max-
imum extent permitted by applicable
law, Agilent disclaims all warranties,
either express or implied, with regard
to this manual and any information
contained herein, including but not
limited to the implied warranties of
merchantability and fitness for a par-
ticular purpose. Agilent shall not be
liable for errors or for incidental or
consequential damages in connection
with the furnishing, use, or perfor-
mance of this document or of any
information contained herein. Should
Agilent and the user have a separate
written agreement with warranty
terms covering the material in this
document that conflict with these
terms, the warranty terms in the sep-
arate agreement shall control.

Technology Licenses

The hardware and/or software described in
this document are furnished under a
license and may be used or copied only in
accordance with the terms of such license.

Restricted Rights Legend

If software is for use in the performance of
a U.S. Government prime contract or sub-
contract, Software is delivered and
licensed as “Commercial computer soft-
ware” as defined in DFAR 252.227-7014
(June 1995), or as a “commercial item” as
defined in FAR 2.101(a) or as “Restricted

computer software” as defined in FAR
52.227-19 (June 1987) or any equivalent
agency regulation or contract clause. Use,
duplication or disclosure of Software is
subject to Agilent Technologies’ standard
commercial license terms, and non-DOD
Departments and Agencies of the U.S. Gov-
ernment will receive no greater than
Restricted Rights as defined in FAR
52.227-19(c)(1-2) (June 1987). U.S. Govern-
ment users will receive no greater than
Limited Rights as defined in FAR 52.227-14
(June 1987) or DFAR 252.227-7015 (b)(2)
(November 1995), as applicable in any
technical data.

Safety Notices

A CAUTION notice denotes a haz-
ard. It calls attention to an operat-
ing procedure, practice, or the like
that, if not correctly performed or
adhered to, could result in damage
to the product or loss of important
data. Do not proceed beyond a
CAUTION notice until the indicated
conditions are fully understood and
met.

WARNING

A WARNING notice denotes a
hazard. It calls attention to an
operating procedure, practice, or
the like that, if not correctly per-
formed or adhered to, could result
in personal injury or death. Do not
proceed beyond a WARNING
notice until the indicated condi-
tions are fully understood and met.




Introducing N8200A Series Synthetic Instrument Modules

The Agilent Technologies N8200A Series synthetic instrument modules offer the
highest-performing RF/MW LAN-based modular instrumentation and the smallest footprint
for automated test systems; providing the maximum flexibility and minimizing the cost of an
Automated Test System over its lifetime.

Agilent’s synthetic instrument modules use LAN eXtension for Instrumentation (LXI)
modular format. LXI differs from other modular formats (such as VXI and PXI) by using an
external computer and local area network (LAN), rather than embedded computers, for
control.

The LXI standard supports the IEEE 1588 time synchronization and protocol standard, which
allows synchronous triggering of different instruments, even with different-length LAN
cables. The IEEE 1588 precision time protocol (PTP) enables a common sense of time over a
distributed system.

Synthetic instrument modules offered by Agilent Technologies include the following:
» NB8201A performance downconverter, 3 Hz to 26.5 GHz

» NB8211A performance analog upconverter, 250 kHz to 20 / 40 GHz

» NB8212A performance vector upconverter, 250 kHz to 20 GHz

o NB8221A IF digitizer, 30 MS/s

o NB8222A digitizer 4 Channel, 10-Bit, 2 to 8 GS/s

» NB8241A arbitrary waveform generator, 15-Bit, 1.25 GS/s or 625 MS/s

» NB8242A arbitrary waveform generator, 10-Bit, 1.25 GS/s or 625 MS/s

For further information, refer to:

http.//www.agilent.com/find/synthetic

Agilent N8200A Series Synthetic Instrument Modules 3



Agilent N8200A Series Synthetic Instrument Modules



Contents

Introducing N8200A Series Synthetic Instrument Modules

1 Introduction to Racks and Kits

Understanding Agilent’s Modular Cabinets (System 1) 10
Height, Width, and Depth of System Il Instruments 10
Height, Width, and Depth of N8200A Series Instruments
Height, Width, and Depth of Non-System Il Instruments

Selecting Kits 15
Kits for Rackmount Flanges without Handles 17
Kits for Rackmount Adapters 18
Kits for Support Shelves (E3666A Plain Shelf) 19

2 Rack Configuration Parts List

3 Racking into a 19” EIA Rack Cabinet

N8201A by an Adapter 33

N8201A by an N8201A 34

N8201A by an N8211A or N8212A 35

N8201A by an N8221A and Adapter 36

N8201A by an N8221A and N8221A 38

N8201A by an N8221A and N8222A 40

N8201A by an N8221A and N824xA 42

N8201A by an N8221A and N8262A and Adapter 44
N8201A by an N8221A and N8262A and N8262A 46
N8201A by an N8222A and Adapter 48

N8201A by an N8222A and N8222A 50

N8201A by an N8222A and N824xA 52

N8201A by an N8222A and N8262A and Adapter 54
N8201A by an N8222A and N8262A and N8262A 56
N8201A by an N824xA and Adapter 58

N8201A by an N824xA and N8221A 60

N8201A by an N824xA and N8222A 62

N8201A by an N824xA and N824xA 64

N8201A by an N824xA and N8262A and Adapter 66
N8201A by an N824xA and N8262A and N8262A 68
N8201A by an N8262A and 3 EIA Adapter 70
N8201A by an N8262A and N8262A and Adapter 72
N8211A or N8212A by an Adapter 74

N8211A or N8212A by an N8211A or N8212A 75

Agilent N8200A Series Synthetic Instrument Modules

3

11
14



N8211A or N8212A by an N8221A and Adapter 76

N8211A or N8212A by an N8221A and N8221A 78

N8211A or N8212A by an N8221A and N8222A 80

N8211A or N8212A by an N8221A and N824xA 82

N8211A or N8212A by an N8221A and N8262A and Adapter 84

N8211A or N8212A by an N8221A and N8262A and N8262A 86

N8211A or N8212A by an N8222A and Adapter 88

N8211A or N8212A by an N8222A and N8222A 90

N8211A or N8212A by an N8222A and N824xA 92

N8211A or N8212A by an N8222A and N8262A and Adapter 94

N8211A or N8212A by an N8222A and N8262A and N8262A 96

N8211A or N8212A by an N824xA and Adapter 98

N8211A or N8212A by an N824xA and N8221A 100

N8211A or N8212A by an N824xA and N8222A 102

N8211A or N8212A by an N824xA and N824xA 104

N8211A or N8212A by an N824xA and N8262A and Adapter 106

N8211A or N8212A by an N824xA and N8262A and N8262A 108

N8211A or N8212A by an N8262A and 3 EIA Adapter 110

N8211A or N8212A by an N8262A and N8262A and Adapter 112

N8221A by an Adapter with an E7732A 2 EIA Filler Panel 114

N8221A by an N8221A with an E7732A 2 EIA Filler Panel 115

N8221A by an N8222A with an E7732A 2 EIA Filler Panel 116

N8221A by an N824xA with an E7732A 2 EIA Filler Panel 118

N8221A by an N8262A and Adapter with an E7732A 2 EIA Filler Panel 120
N8221A by an N8262A and N8262A with an E7732A 2 EIA Filler Panel 122
N8222A by an Adapter with an E7732A 2 EIA Filler Panel 124

N8222A by an N8222A with an E7732A 2 EIA Filler Panel 125

N8222A by an N824xA with an E7732A 2 EIA Filler Panel 126

N8222A by an N8262A and Adapter with an E7732A 2 EIA Filler Panel 127
N8222A by an N8262A and N8262A with an E7732A 2 EIA Filler Panel 129
N824xA by an Adapter with an E7732A 2 EIA Filler Panel 131

N824xA by an N8221A with an E7732A 2 EIA Filler Panel 132

N824xA by an N8222A with an E7732A 2 EIA Filler Panel 133

N824xA by an N824xA with an E7732A 2 EIA Filler Panel 134

N824xA by an N8262A and Adapter with an E7732A 2 EIA Filler Panel 135
N824xA by an N8262A and N8262A with an E7732A 2 EIA Filler Panel 137
N824xA and Adapter by an N8221A and N8221A 139

N824xA and Adapter by an N8221A and N8222A 141

N824xA and Adapter by an N8221A and N824xA 143

N824xA and Adapter by an N8221A and N8262A with a 1 EIA Filler 145
N824xA and Adapter by an N8221A and N8262A and N8262A 147
N824xA and Adapter by an N8222A and N8222A 149

Agilent N8200A Series Synthetic Instrument Modules



N824xA and Adapter by an N8222A and N824xA 151

N824xA and Adapter by an N8222A and N8262A with a 1 EIA Filler 153
N824xA and Adapter by an N8222A and N8262A and N8262A 155
N824xA and N824xA by an N8221A and an Adapter 157

N824xA and N824xA by an N8221A and N8221A 159

N824xA and N824xA by an N8221A and N8222A 160

N824xA and N824xA by an N8221A and N824xA 161

N824xA and N824xA by an N8221A and N8262A and Adapter 162
N824xA and N824xA by an N8221A and N8262A and N8262A 164
N824xA and N824xA by an N8222A and an Adapter 166

N824xA and N824xA by an N8222A and N8222A 168

N824xA and N824xA by an N8222A and N824xA 169

N824xA and N824xA by an N8222A and N8262A and Adapter 170
N824xA and N824xA by an N8222A and N8262A and N8262A 172
N8262A by an Adapter with an E7733A 3 EIA Filler Panel 174

N8262A and N8262A by an Adapter with an E7732A 2 EIA Filler Panel 175

4 Generic Rack Configurations

Front Hooks 178

2 EIA Mounting Plate 178

Red Rear Link and Rackmount Flanges 178

1 EIA Instruments of Equal Length with Blue Rear Link 179

1 EIA Instruments with Front Adapter Panel 179

2 EIA Instruments, System Il Front Frames with Red Rear Link 180

2 EIA Instruments, Custom Front Frames with Black Rear Link 180

2 EIA Mixed Length and Mixed Front Frame Styles 181

4 EIA, 2 EIA, and 1 EIA Mixed Length with Mounting Plate and Rear Feet 181
4 EIA, 2 EIA, and 1 EIA Rackmount Adapter Kits 182

4 EIA Equal Length Instruments with Rear Links 182

4 EIA and 2 EIA Equal Length Instruments with Rear Links 183

4 EIA and 2 EIA Mixed Length Instruments with Mounting Plate and Rear Links 183

Agilent N8200A Series Synthetic Instrument Modules



Agilent N8200A Series Synthetic Instrument Modules



() Rack Configuration Guide

.o. ® .o.
0%
o0 @ @01
..... Introduction to Racks and Kits
o

*  This chapter introduces Agilent’s Modular Cabinets (System Il) and various kits that can be

used with N8200A Series synthetic instrument modules when installing them into an
Agilent System Il rack.

* “Understanding Agilent’s Modular Cabinets (System II)"* on page 10
“Height, Width, and Depth of System II Instruments" on page 10
“Height, Width, and Depth of N8200A Series Instruments" on page 11
“Height, Width, and Depth of Non-System II Instruments" on page 14

» “Selecting Kits" on page 15
“Kits for Rackmount Flanges without Handles" on page 17
“Kits for Rackmount Adapters" on page 18
“Kits for Rackmount Adapters" on page 18
“Kits for Support Shelves (E3666A Plain Shelf)" on page 19

Agilent Technologies 9



1 Introduction to Racks and Kits

Understanding Agilent’s Modular Cabinets (System Il)

Agilent’s Modular Cabinets (System Il) offer cabinets designed for compatibility with
Electronics Industries Association (EIA)! and International Electrotechnical

Commission (IEC)? standards, both in width and height. Synthetic instruments are different
from System Il sizes. As shown in Figure 1, instrument heights have six (6) standard sizes,
but synthetic instruments have three (3) sizes that are differnt from standard depths.

Instrument width is measured in module width (MW) and is available in 1 MW, 3/4 MW,
1/2 MW, and 1/4 MW. An instrument that is 1 MW is equal to the full width of the rack.

Height, Width, and Depth of System Il Instruments

HEIGHT 300,4 mm (12.25 in} H
I &
| T ElA 2659 mm (105 in) H
! BEIA M EmmiBTE I H '
li L]
| BEIA 1770 mm (T in) H
| 4 E1A 12 8mmi{525iniH I
| JElA BB mmi3S5ini M !
[
| EIA
- - , B I | L | . R
N8241A  N8222A N8201A
N8242A  N8262A N8211A
422 mm 498mm  N8212A
{16.5251n) | (19.825in) |\ iannen
£05.7 mm
WIDTH DEPTH ) ,(23.840in)
|—| -} —— |
‘ Full Module | I
- ) .-—-r —-r’ —— —-r:'—-r
" Standard Depths
- 1MW - = 1§92 mm al
Minj 0
r e = M54 mm (14in)D—=
ol al £ .
‘ Muodila | Modida 4216 {17 {n) D
— - - - = 4978 mm (20'in} D -
= 5740 mam (23 in) D -
=142 MW == 12 MW -
| ]
| Ouarter | Ouarter § Ouarter § Oussrter
| Modude !‘r'lnu-.-i.rJ Modide | Modula
R L]
- AMW A
Figure1  Height, Width (Module Width or MW), and Depth of System Il Instruments

1 The Electronic Industries Alliance (EIA) is a national trade organization that includes the full spectrum of U.S.
manufacturers. The Alliance is a partnership of electronic and high-tech associations and companies whose
mission is promoting the market development and competitiveness of the U.S. high-tech industry through

domestic and international pol

icy efforts.

2The International Electrotechnical Commission (IEC) is a worldwide organization for standardization comprising
all national electrotechnical committees (IEC National Committees). The object of the IEC is to promote
international co-operation on all questions concerning standardization in the electrical and electronic fields.

10

Agilent N8200A Series Synthetic Instrument Modules



Introduction to Racks and Kits 1

Height, Width, and Depth of N8200A Series Instruments

The hardware required to place instruments in a rack is dependent on: height, width, depth,
and the style of the front frame of an instrument model. There are System Il style front
frames, Custom style front frames, full-width rack instruments with built-on racking flanges
already attached to the front frame, and third party instruments. All of these front frame
styles may be integrated together into a rack.

Models that have System Il Style Front Frames

System |l style front frames use a sheet metal insert that is connected to the instrument
chassis with washers and nuts that are connected to the back-inside of the front panel.

The following list of synthetic instruments use a System Il style front frame:
» NB8201A performance downconverter, 3 Hz to 26.5 GHz

» NB8211A performance analog upconverter, 250 kHz to 20 / 40 GHz

» NB8212A performance vector upconverter, 250 kHz to 20 GHz

» NB8221A IF digitizer, 30 MS/s

Models that have Custom Style Front Frames

Custom style front frames may be die-cast or machined and are connected to the
instrument chassis differently than the System Il style front frame - usually from screws
connected to the left and right sides of the front panel.

The following list of synthetic instruments use a Custom Style front frame:

» NB8222A digitizer 4 Channel, 10-Bit, 2 to 8 GS/s

» NB8241A arbitrary waveform generator, 15-Bit, 1.25 GS/s or 625 MS/s

» NB8242A arbitrary waveform generator, 10-Bit, 1.25 GS/s or 625 MS/s

» NB8262A P-Series power meter

Models that have Other Styles of Front Frames

In addition to System Il style and Custom style front frames, there are full-width rack
instruments (1 MW instruments) that have built-in rack-mount flanges; these full-width
rack instruments use different hardware, but can also be placed in the same rack as
System Il style and Custom style front frame instruments.

For example, Agilent oscilloscopes, such as the DS06104L oscilloscope, are full-width rack
instruments that have built-in rack-mount flanges on the left and right sides of their front
frames and can be integrated and used in the same rack.

For additional solutions and rack mounting information that is not included in this rack
configuration guide, which include the integration of third party instruments, contact your
system integrator or refer to the Agilent Technologies Enclosures Solutions Product Catalog.
http://cp.literature.agilent.com/litweb/pdf/5980-0450E.pdf

Agilent N8200A Series Synthetic Instrument Modules 11


http://cp.literature.agilent.com/litweb/pdf/5980-0450E.pdf

1 Introduction to Racks and Kits

N8201A performance downconverter,
3 Hzto 26.5 GHz

* Height; 132.6 mm (5.25in) or 4 EIA
¢ Width: 1/2 MW

» Depth: 574.0 mm (23 in)

»  Weight: 19 kilograms (42 pounds)
» Front Frame Style: System Il

N8211A performance analog upconverter,

; |
|

=== ] S ——— ——— 250 kHz to 20 / 40 GHz

EE= eSS EEREEE + Height: 132.6 mm (5.25 in) or 4 EIA

S e eeies=ss | - Depm5TAOMM(Bin

e Ay «  Weight: 18 kilograms (40 pounds

g wed i LB 9 grams (40 pounds)
— — — * Front Frame Style: System ||

N8212A performance vector upconverter,
250 kHz to 20 GHz

* Height; 132.6 mm (5.25in) or 4 EIA
¢ Width: 1/2 MW

» Depth: 574.0 mm (23 in)

»  Weight: 18 kilograms (40 pounds)
» Front Frame Style: System Il

12 Agilent N8200A Series Synthetic Instrument Modules



O ey MRS
2 2l @& e
& e g e
i oy - — - — —
o e
= e ——
ar

Agilent N8200A Series Synthetic Instrument Modules

Introduction to Racks and Kits

N8221A IF digitizer,
30 MS/s

» Height: 88.1 mm (3.5in) or 2 EIA
« Width: 1/2 MW

» Depth: 574.0 mm (23 in)

» Weight: 9 kilograms (20 pounds)
o Front Frame Style: System Il

N8222A digitizer,
4 Channel, 10-Bit, 2 to 8 GS/s

» Height: 88.1 mm (3.5in) or 2 EIA

¢ Width: 1/2 MW

» Depth: 508.0 mm (20 in)

»  Weight: approx, 9 kilograms (20 pounds)
» Front Frame Style: Custom

N8241A arbitrary waveform generator,
15-Bit, 1.25 GS/s or 625 MS/s

» Height: 88.1 mm (3.5in) or 2 EIA

¢ Width: 1/2 MW

» Depth: 421.6 mm (17 in)

»  Weight: 5.66 kilograms (12.5 pounds)
» Front Frame Style: Custom

NB8242A arbitrary waveform generator,
10-Bit, 1.25 GS/s or 625 MS/s

» Height: 88.1 mm (3.51in) or 2 EIA

¢ Width: 1/2 MW

» Depth: 421.6 mm (17 in)

» Weight: 5.66 kilograms (12.5 pounds)
» Front Frame Style: Custom

13



1 Introduction to Racks and Kits

N8262A P-Series power meter

¥ hlewi  PERPLLA e B S BT e e R
T

=i. EEE T u  Height: 44.5 mm (1.8 in) or 1 EIA
=== ° -@ " em
e Width: 1/2 MW

» Depth: 508.0 mm (20 in)
» Front Frame Style: Custom

_ DS06104L oscilloscope
S T T
ﬂnﬁ .o Fa BBE ﬂm « Height: 42.0 mm (1.65 in) or 1 EIA

2
T e e AAD ﬁ'i « Width: 1 MW (full width module)
e

N + Depth: 270.0 mm (10.6 in)
» Front Frame Style: Custom

» Rackmount Flange Kit: Flange is Built On

Height, Width, and Depth of Non-System Il Instruments

Some Agilent instruments use non-System Il frames. These products typically have their
own rack mounting options. Non-Agilent instruments that comply with industry-standard
units can also be rack mounted as well. For further information, refer to the specific
product’s data sheet for details.

14 Agilent N8200A Series Synthetic Instrument Modules



Introduction to Racks and Kits 1

Selecting Kits

When configuring a rack of equipment, you may need various kits and other hardware such
as power strips, plugs, and LAN hubs.

Before ordering any kits, review the following:
“Kits for Rackmount Adapters" on page 18
“Kits for Rackmount Flanges without Handles" on page 17
“Kits for Rackmount Adapters" on page 18
“Kits for Support Shelves (E3666A Plain Shelf)" on page 19

Kits for Handles
Kits for Rackmount Flanges

Kits for Rackmount Flanges with Handles

o O w >

Kits for Rackmount Flanges for Instruments with Supplied Handles

N
.-/// ;
=

° F =

2

Figure 2  Kits for Handles and Rackmount Flanges

For additional solutions, information about handles, and rack mounting information that is
not included in this rack configuration guide, which include the integration of third party
instruments, contact your system integrator or refer to the Agilent Technologies Enclosures
Solutions Product Catalog.
http://cp.literature.agilent.com/litweb/pdf/5980-0450E.pdf

Agilent N8200A Series Synthetic Instrument Modules 15


http://cp.literature.agilent.com/litweb/pdf/5980-0450E.pdf

1 Introduction to Racks and Kits

Table 1  Selecting a Kit

Model Instrument Rackmount Adapter Kit Rackmount Flange Kit
Height
(Number of (This kit includes (This kit includes
EIA Units) 1 Adapter Assembly, 2 Rackmount Flanges and
1 Rackmount Flange, and Hardware.)
Hardware.)
N8201A performance 4EIA 5063-9245 5063-9215
downconverter, 3 Hz to 26.5 GHz
N8211A performance 4EIA 5063-9245 5063-9215
analog upconverter, 250 kHz to
20/ 40 GHz
N8212A performance 4EIA 5063-9245 5063-9215
vector upconverter, 250 kHz to
20 GHz
N8221A IF digitizer, 30 MS/s 2EIA 5063-9240 5063-9212
N8222A digitizer 4 Channel, 2EIA 5063-9240 5063-9212
10-Bit, 2 to 8 GS/s
N8241A arbitrary 2EIA 5063-9240 5063-9212
waveform generator, 15-Bit,
1.25 GS/s or 625 MS/s
N8242A arbitrary 2EIA 5063-9240 5063-9212
waveform generator, 10-Bit,
1.25GS/s or 625 MS/s
N8262A P-Series power meter 1EIA N8200-60101 N8262-60109
DS06104L oscilloscope 1EIA Built On Built On

16 Agilent N8200A Series Synthetic Instrument Modules



Introduction to Racks and Kits 1

Kits for Rackmount Flanges without Handles

Kits for Rackmount Flanges without Handles are available for all System Il cabinets and
are used to secure the instrument to the front mounting column of the rack. All Agilent
rackmount flange kits attach to the instrument and use pre-existing holes in the instrument
case. These rackmount flanges do not have a notch for handles and therefore cannot be
used for instruments that have handles; if you need or desire handles, refer to “Kits for
Rackmount Adapters" on page 18.

Rackmount flanges alone will not support the weight of an instrument in the rack. The
appropriate rails or slides must be purchased for support.

Rackmount flange kits can be supplied with most instruments for an added cost by
specifying the appropriate option at the time of order. Alternatively, the equivalent mounting
hardware may be ordered after receipt of the instrument.

Figure 3  Kits for Rackmount Flanges without Handles

Agilent N8200A Series Synthetic Instrument Modules 17



1 Introduction to Racks and Kits

Kits for Rackmount Adapters

Kits for Rackmount Adapters are available to mount an instrument, or combination of
instruments, that is less than one full module width (MW).

* Individual 1/4 MW or 1/2 MW modules use the kits shown in the figure below.

» Combinations of 1/4 MW or 1/2 MW (of equal depth) are first joined side-by-side with the
Lock Link Kit (see page 32 for PN 5061-9694). Combinations joined side-by-side must be the
same depth and height. Then the rackmount adapter kit is applied. If modules are of
unequal depth or height, a support shelf can be used. For further information, refer to “Kits
for Support Shelves (E3666A Plain Shelf)" on page 19.

* For combinations of instruments adding up to 1 MW, use the rackmount flange kit (see
Selecting a Rackmount Flange or Handle Kit, page 27).

* Hole patterns conform to EIA and IEC standards.

-"---.
-
-

' -
- -

= " Adapter
) Assembly

Flange

Figure 4  Kits for Rackmount Adapters

18 Agilent N8200A Series Synthetic Instrument Modules



Introduction to Racks and Kits 1

Kits for Support Shelves (E3666A Plain Shelf)

Kits for Support Shelves are available for instruments less than 1 MW.

Submodules of differing heights, widths, and depths (up to 20 inches deep) can be
rackmounted using these support shelves. Any combination of 1/4 MW and 1/2 MW will fit
side-by-side up to 1 MW.

Front Column
-

Riear Column "

3 T '|.<r
T O

A L L L R L L e L R

B,
‘:Il
&
[
o
&
{

— o L O

!

3

9ﬂﬂG‘G‘ﬂG‘Gﬂd‘ﬁd‘d‘&ﬂﬂ&ﬂd‘d‘-ﬁ-’?-’?ﬂﬁﬁﬂﬂ&ﬂ.l%

L

Figure5  Kits for Support Shelves (E3666A Plain Shelf)

Agilent N8200A Series Synthetic Instrument Modules 19



1 Introduction to Racks and Kits

20 Agilent N8200A Series Synthetic Instrument Modules



() Rack Configuration Guide
[ ] [ ]

o. ® .0
0%
o0 @ @0
20, Rack Configuration Parts List
o

*  This chapter lists the rack configuration parts used by N8200A Series synthetic instrument

modules of 4 EIA, 2 EIA, or 1 EIA in height, that are 1/2 MW (one-half module width), and
placed in a 19” EIA rack cabinet.

Table 2  Parts List

Description Part Number Comments

Plain Shelf E3666A

Rear Foot, Red N8200-20201 System Il Style Front Frame

Rear Foot, Black N8200-20203 Custom Style Front Frame

Rear Foot, Green N8200-20208 Rear Foot for 1 EIA Modules

Rear Link, Red, Horizontal N8200-20202 System Il Style Front Frame

Rear Link, Black, Horizontal N8200-20204 Custom Style Front Frame

Rear Link, Blue, Vertical N8200-20211 System Il Style Front Frame

Rear Link, Green, Vertical N8200-20214 Custom Style Front Frame

Rear Link, Blue N8200-20207 Use to connect 1 EIA
modules.

Lock Link Kit 5061-9694 Contains Fronts Hooks,

Flat Head Screws, and other
miscellaneous hardware.

Front Hook Front Hooks are included in
Kit 5061-9694.

Flat Head Screw, M4 x 0.7 x 6L Flat Head Screws are used
with Front Hook and included
in Kit 5061-9694.

Agilent Technologies 2



2

22

Rack Configuration Parts List

Table 2 Parts List (continued)

Description Part Number Comments

1 EIA Rackmount Adapter Kit, No Handles N8200-60101 Rackmount Flange, Adapter,

and Hardware

This kit includes the following:

Quantity 1, Adapter Assembly - Use as a front filler panel.
Quantity 1, Rackmount Flange - Use to connect an instrument to the front column of a rack.

Quantity 2, Panhead Screw, M4 x 0.7 x 10L - Use to fasten the Rackmount Flange and Adapter Assemblies
to the front-side of each module.

Quantity 2, Gray Dress Screw - Use to connect Adapter Assembly to rack’s front column.

Quantity 2, Sheet Metal Nut - used to fasten the Gray Dress Screws to the front or rear columns of the
rack.

1 EIA Rackmount Flange Kit, No Handles  N8262-60109 Two Rackmount Flanges and

Hardware

This kit includes the following:

Quantity 2, Rackmount Flange - Use to connect an instrument to the front column of a rack.

Quantity 2, Panhead Screw, M4 x 0.7 x 10L - Use to fasten the Rackmount Flanges to the front-side of
each module.

Quantity 2, Gray Dress Screw - Use to connect Rackmount Flanges to rack’s front column.

Quantity 2, Sheet Metal Nut - used to fasten the Gray Dress Screws to the front or rear columns of the
rack.

1 EIA Rackmount Flange Kit, with Handles Not Available
1 EIA Rear Adapter Panel N8200-00001 Used as Rear Filler Panel
1 EIA Filler Panel Kit (1 MW) E7731A Use as a front filler panel

that fills the full width of rack

1 EIA Mounting Plate N8200-20218
Flat Head Mounting Screw, M4 x 0.7 x 10L  0515-1269 Use with Mounting Plate

Agilent N8200A Series Synthetic Instrument Modules



Rack Configuration Parts List 2

Table 2 Parts List (continued)

Description Part Number Comments

2 EIA Rackmount Adapter Kit, No Handles 5063-9240 Rackmount Flange, Adapter,
and Hardware

This kit includes the following:
e Quantity 1, Adapter Assembly - Use as a front filler panel.
* Quantity 1, Rackmount Flange - Use to connect an instrument to the front column of a rack.

¢ Quantity 4, Panhead Screw, M4 x 0.7 x 10L - Use to fasten the Rackmount Flange and Adapter Assemblies
to the front-side of each module.

e Quantity 4, Gray Dress Screw - Use to connect Adapter Assembly to rack’s front column.

* Quantity 4, Sheet Metal Nut - used to fasten the Gray Dress Screws to the front or rear columns of the
rack.

2 EIA Rackmount Flange Kit, No Handles  5063-9212 Two Rackmount Flanges
and Hardware

This kit includes the following:
* Quantity 2, Rackmount Flange - Use to connect an instrument to the front column of a rack.

¢ Quantity 4, Panhead Screw, M4 x 0.7 x 10L - Use to fasten the Rackmount Flange and Adapter Assemblies
to the front-side of each module.

e Quantity 4, Gray Dress Screw - Use to connect Adapter Assembly to rack’s front column.

* Quantity 4, Sheet Metal Nut - used to fasten the Gray Dress Screws to the front or rear columns of the
rack.

2 EIA Rackmount Flange Kit, with Handles 5063-9219 Two Rackmount Flanges,
Two Handles, and Hardware

This kit includes the following:
e Quantity 2, Handle Assembly
¢ Quantity 2, Rackmount Flange - Use to connect an instrument to the front column of a rack.

¢ Quantity 4, Panhead Screw, M4 x 0.7 x 16L - Use to fasten the Rackmount Flange and Adapter Assemblies
to the front-side of each module.

« Quantity 4, Gray Dress Screw - Use to connect Adapter Assembly to rack’s front column.
¢ Quantity 4, Sheet Metal Nut - used to fasten the Gray Dress Screws to the front or rear columns of the

rack.
2 EIA Rear Adapter Panel N8200-00002 Used as Rear Filler Panel
2 EIA Filler Panel Kit (1 MW) E7732A Use as a front filler panel
that fills the full width of rack
2 EIA Mounting Plate N8200-20206

Flat Head Mounting Screw, M4 x 0.7 x 10L  0515-1269 Use with Mounting Plate

Agilent N8200A Series Synthetic Instrument Modules 23



2  Rack Configuration Parts List

Table 2 Parts List (continued)

Description Part Number Comments

3 EIA Rackmount Adapter Kit, No Handles 5063-9243 Rackmount Flange, Adapter,
and Hardware

This kit includes the following:
e Quantity 1, Adapter Assembly - Use as a front filler panel.
* Quantity 1, Rackmount Flange - Use to connect an instrument to the front column of a rack.

¢ Quantity 6, Panhead Screw, M4 x 0.7 x 10L - Use to fasten the Rackmount Flange and Adapter Assemblies
to the front-side of each module.

e Quantity 4, Gray Dress Screw - Use to connect Adapter Assembly to rack’s front column.

* Quantity 4, Sheet Metal Nut - used to fasten the Gray Dress Screws to the front or rear columns of the
rack.

3 EIA Rackmount Flange Kit, No Handles  5063-9214 Two Rackmount Flanges
and Hardware

This kit includes the following:
* Quantity 2, Rackmount Flange - Use to connect an instrument to the front column of a rack.

¢ Quantity 6, Panhead Screw, M4 x 0.7 x 10L - Use to fasten the Rackmount Flange and Adapter Assemblies
to the front-side of each module.

e Quantity 4, Gray Dress Screw - Use to connect Adapter Assembly to rack’s front column.

* Quantity 4, Sheet Metal Nut - used to fasten the Gray Dress Screws to the front or rear columns of the
rack.

3 EIA Rackmount Flange Kit, with Handles 5063-9221 Two Rackmount Flanges,
Two Handles, and Hardware

This kit includes the following:
¢ Quantity 2, Handle Assembly
e Quantity 2, Rackmount Flange - Use to connect an instrument to the front column of a rack.

« Quantity 6, Panhead Screw, M4 x 0.7 x 16L - Use to fasten the Rackmount Flange and Adapter Assemblies
to the front-side of each module.

e Quantity 4, Gray Dress Screw - Use to connect Adapter Assembly to rack’s front column.
¢ Quantity 4, Sheet Metal Nut - used to fasten the Gray Dress Screws to the front or rear columns of the

rack.
3 EIA Rear Adapter Panel N8200-00003 Used as Rear Filler Panel
3 EIA Filler Panel Kit (1 MW) E7733A Use as a front filler panel
that fills the full width of rack
3 EIA Mounting Plate Not Available

24 Agilent N8200A Series Synthetic Instrument Modules



Rack Configuration Parts List 2

Table 2 Parts List (continued)

Description Part Number Comments

4 EIA Rackmount Adapter Kit, No Handles 5063-9245 Rackmount Flange, Adapter,
and Hardware

This kit includes the following:
e Quantity 1, Adapter Assembly - Use as a front filler panel.
* Quantity 1, Rackmount Flange - Use to connect an instrument to the front column of a rack.

¢ Quantity 8, Panhead Screw, M4 x 0.7 x 10L - Use to fasten the Rackmount Flange and Adapter Assemblies
to the front-side of each module.

e Quantity 4, Gray Dress Screw - Use to connect Adapter Assembly to rack’s front column.

* Quantity 4, Sheet Metal Nut - used to fasten the Gray Dress Screws to the front or rear columns of the
rack.

4 EIA Rackmount Flange Kit, No Handles  5063-9215 Two Rackmount Flanges
and Hardware

This kit includes the following:
* Quantity 2, Rackmount Flange - Use to connect an instrument to the front column of a rack.

¢ Quantity 8, Panhead Screw, M4 x 0.7 x 10L - Use to fasten the Rackmount Flange and Adapter Assemblies
to the front-side of each module.

e Quantity 4, Gray Dress Screw - Use to connect Adapter Assembly to rack’s front column.

* Quantity 4, Sheet Metal Nut - used to fasten the Gray Dress Screws to the front or rear columns of the
rack.

4 EIA Rackmount Flange Kit, with Handles 5063-9222 Two Rackmount Flanges,
Two Handles, and Hardware

This kit includes the following:
e Quantity 2, Handle Assembly
¢ Quantity 2, Rackmount Flange - Use to connect an instrument to the front column of a rack.

¢ Quantity 8, Panhead Screw, M4 x 0.7 x 16L - Use to fasten the Rackmount Flange and Adapter Assemblies
to the front-side of each module.

« Quantity 4, Gray Dress Screw - Use to connect Adapter Assembly to rack’s front column.
¢ Quantity 4, Sheet Metal Nut - used to fasten the Gray Dress Screws to the front or rear columns of the

rack.
4 EIA Rear Adapter Panel N8200-00004 Used as Rear Filler Panel
4 EIA Filler Panel Kit (1 MW) E7734A Use as a front filler panel
that fills the full width of rack
4 EIA Mounting Plate N8200-20205
4 EIA Mounting Plate, Notched N8200-20217 Use with Rear Link, Red,

Horizontal

Flat Head Mounting Screw, M4 x 0.7 x 10L  0515-1269 Use with Mounting Plates

Agilent N8200A Series Synthetic Instrument Modules 25



2

26

Rack Configuration Parts List

Table 2 Parts List (continued)

Description Part Number Comments

Hardware called out in the previous defined kits may include the following:

Painted Gray Dress Screw 0570-1577 Gray Dress Screws are used
to connect the Rackmount
Flange and Front Adapters to
the front column.

Panhead Screw, M4 x 0.7 x 10L 0515-1114 Panhead Screws are used to
connect the Rackmount
Flange and Front Adapters to
the front-side of each module.

Sheet Metal Nut 0590-0804 Sheet Metal Nuts are used to
fasten the Gray Dress Screws
to the Front or Rear Columns
of the rack.

Panhead Screw, M3 x 8L 0515-0372

Agilent N8200A Series Synthetic Instrument Modules



Rack Configuration Guide
[ ]

o0 @ @03

..Q.. Racking into a 19” EIA Rack Cabinet
o

This chapter shows configurations of Agilent N8200A Series synthetic instrument modules
of 4 EIA, 2 EIA, or 1EIA in height, that are 1/2 MW (one-half module width), and placed in a
19” EIA rack cabinet.

Each configuration contains one or more of the following models: N8201A, N8211A,
N8212A, N8221A, N8222A, N8241A, N8242A, and N8262A; Adapters and Filler Panels were
added as needed.

 If models are the same length, use front hooks and rear links to connect them together.

 If models are different lengths, use front hooks, rear links, and rear feet with a mounting
plate and screws that connect them together.

There are four different mounting plates available: 4 EIA, 2 EIA, or 1 EIA in height; most
of the configurations shown in this chapter use the 4 EIA mounting plate and the
4 EIA mounting plate with a notch.

To find a configuration in this chapter:

1 Start with the lowest model number to be placed in a rack.
2 Scan down the list and add additional models - they are grouped in accenting order.

The configurations are also grouped in a way that fills up a 4 EIA height that is
1 MW (one module width) in a 19” EIA rack cabinet.

For example, if you wanted an N8201A, N8241A, and an N8262A to be placed in a
configuration:

a Start by looking in the N8201A group. Since the N8201A is a 4 EIA height model, you
would look for the N8201A by an N824xA (N8241A or N8242A); this would create a
configuration of a 4 EIA height model by a 2 EIA model, which leaves 2 EIA height of
open space. The two models side-by-side are 1 MW.

b Continue in the list until you find N8201A by an N824xA and N8262A,; this would
create a configuration of a 4 EIA height model by a 2 EIA model and a 1 EIA model,
which leaves 1 EIA height of open space. Since the goal is to fill up a 4 EIA height
thatis 1 MW in a 19” EIA rack cabinet, this configuration would need a
1 EIA Adapter above the N8262A.

¢ Continue in the list until you find N8201A by an N824xA and N8262A and Adapter.
(This example configuration can be found as
“N8201A by an N824xA and N8262A and Adapter" on page 66.)

Agilent Technologies 21



3

28

Racking into a 19” EIA Rack Cabinet

Configurations starting with the N8201A performance downconverter:

— .
|
o .
E i.’t,'Er'll

“N8201A by

“N8201A by

“N8201A by

“N8201A by

“N8201A by

“N8201A by

“N8201A by

“N8201A by

page 44

“N8201A by
page 46

“N8201A by
“N8201A by
“N8201A by
“N8201A by

page 54
“N8201A by
page 56
“N8201A by

“N8201A by

“N8201A by

an Adapter" on page 33

an N8201A" on page 34

an N8211A or N8212A" on page 35

an N8221A and Adapter" on page 36

an N8221A and N8221A" on page 38

an N8221A and N8222A" on page 40

an N8221A and N824xA" on page 42

an N8221A and N8262A and Adapter" on

an N8221A and N8262A and N8262A" on

an N8222A and Adapter" on page 48

an N8222A and N8222A" on page 50

an N8222A and N824xA" on page 52

an N8222A and N8262A and Adapter" on

an N8222A and N8262A and N8262A" on

an N824xA and Adapter" on page 58

an N824xA and N8221A" on page 60

an N824xA and N8222A" on page 62

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19” EIA Rack Cabinet

E??Ej-l “N8201A by an N824xA and N824xA" on page 64
=1

E*,HT_ “N8201A by an N824xA and N8262A and Adapter" on
==0 page66

E ===  “N8201A by an N824xA and N8262A and N8262A" on
: ==0 page68
“N8201A by an N8262A and 3 EIA Adapter" onpage 70

“N8201A by an N8262A and N8262A and Adapter" on
o= page72

Configurations starting with the N8211A or N8212A performance upconverter:

ﬁ “N8211A or N8212A by an Adapter" on page 74

E “N8211A or N8212A by an N8211A or N8212A" on page 75
E “N8211A or N8212A by an N8221A and Adapter" on page 76

]
YU “N8211A or N8212A by an N8221A and N8221A" on page 78

[
E- “N8211A or N8212A by an N8221A and N8222A" on page 80

|
E “ZZ0  “N8211A or N8212A by an N8221A and N824xA" on page 82

“N8211A or N8212A by an N8221A and
"M NB8262A and Adapter" on page 84

i “N8211A or N8212A by an N8221A and
" N8262A and N8262A" on page 86

E “N8211A or N8212A by an N8222A and Adapter" on page 838
=

E- “N8211A or N8212A by an N8222A and N8222A" on page 90

E !'IZ“’,__EI “N8211A or N8212A by an N8222A and N824xA" on page 92

E___,ﬁ “N8211A or N8212A by an N8222A and
N8262A and Adapter" on page 94

Agilent N8200A Series Synthetic Instrument Modules

29



3

30

L L
=B TTens

Racking into a 19” EIA Rack Cabinet

“N8211A or N8212A by an N8222A and
N8262A and N8262A" on page 96

“N8211A or N8212A by an N824xA and Adapter" on page 98

“N8211A or N8212A by an N824xA and N8221A" on page 100

“N8211A or N8212A by an N824xA and N8222A" on page 102

“N8211A or N8212A by an N824xA and N824xA" on page 104

“N8211A or N8212A by an N824xA and
N8262A and Adapter" on page 106

“N8211A or N8212A by an N824xA and
N8262A and N8262A" on page 108

“N8211A or N8212A by an N8262A and 3 EIA Adapter" on
page 110

“N8211A or N8212A by an N8262A and
N8262A and Adapter" on page 112

Configurations starting with the N8221A IF digitizer:

o m
Cmem
LU == |
Z'm
IR s

L Tl
CLd & Ok

“N8221A by an Adapter with
an E7732A 2 EIA Filler Panel" on page 114

“N8221A by an N8221A with
an E7732A 2 EIA Filler Panel" on page 115

“N8221A by an N8222A with
an E7732A 2 EIA Filler Panel" on page 116

“N8221A by an N824xA with
an E7732A 2 EIA Filler Panel" on page 118

“N8221A by an N8262A and Adapter with
an E7732A 2 EIA Filler Panel" on page 120

“N8221A by an N8262A and N8262A with
an E7732A 2 EIA Filler Panel" on page 122

Configurations starting with the N8222A digitizer:

“N8222A by an Adapter
with an E7732A 2 EIA Filler Panel" on page 124

“N8222A by an N8222A
with an E7732A 2 EIA Filler Panel" on page 125

Agilent N8200A Series Synthetic Instrument Modules



-

L L
=B TTens

Racking into a 19” EIA Rack Cabinet

“N8222A by an N824xA
with an E7732A 2 EIA Filler Panel" on page 126

“N8222A by an N8262A and Adapter with
an E7732A 2 EIA Filler Panel" on page 127

“N8222A by an N8262A and N8262A with
an E7732A 2 EIA Filler Panel" on page 129

3

Configurations starting with the N8241A or N8242A arbitrary waveform generator:

S
g m
e
g m
e |
= m
aB T REn
'7".'...':' i
am e
S b=
g m

“N824xA by an Adapter with
an E7732A 2 EIA Filler Panel" on page 131

“N824xA by an N8221A with
an E7732A 2 EIA Filler Panel" on page 132

“N824xA by an N8222A with
an E7732A 2 EIA Filler Panel" on page 133

“N824xA by an N824xA with
an E7732A 2 EIA Filler Panel" on page 134

“N824xA by an N8262A and Adapter
with an E7732A 2 EIA Filler Panel" on page 135

“N824xA by an N8262A and N8262A
with an E7732A 2 EIA Filler Panel" on page 137

“N824xA and Adapter by an N8221A and N8221A" on
page 139

“N824xA and Adapter by an N8221A and N8222A" on
page 141

“N824xA and Adapter by an N8221A and N824xA" on
page 143

“N824xA and Adapter by an
N8221A and N8262A with a 1 EIA Filler" on page 145

“N824xA and Adapter by an
N8221A and N8262A and N8262A" on page 147

“N824xA and Adapter by an N8222A and N8222A" on
page 149

“N824xA and Adapter by an N8222A and N824xA" on
page 151

“N824xA and Adapter by an
N8222A and N8262A with a 1 EIA Filler" on page 153

Agilent N8200A Series Synthetic Instrument Modules

31



3

32

Racking into a 19”

(e e e e e e R e

HE EE EE EE O OEE EE O OEE EE O EE O EE EE -
- i

=
aa
=

i

B

1|

-:|
¥
i

-:.
T
Hi

EIA Rack Cabinet

“N824xA and Adapter by an
N8222A and N8262A and N8262A" on page 155

“N824xA and N824xA by an N8221A and an Adapter" on
page 157

“N824xA and N824xA by an N8221A and N8221A" on
page 159

“N824xA and N824xA by an N8221A and N8222A" on
page 160

“N824xA and N824xA by an N8221A and N824xA" on
page 161

“N824xA and N824xA by an
N8221A and N8262A and Adapter" on page 162

“N824xA and N824xA by an
N8221A and N8262A and N8262A" on page 164

“N824xA and N824xA by an N8222A and an Adapter" on
page 166

“N824xA and N824xA by an N8222A and N8222A" on
page 168

“N824xA and N824xA by an N8222A and N824xA" on
page 169

“N824xA and N824xA by an
N8222A and N8262A and Adapter" onpage 170

“N824xA and N824xA by an
N8222A and N8262A and N8262A" on page 172

Configurations starting with the N8262A power meter:

L Y
=2 " oan

“N8262A by an Adapter
with an E7733A 3 EIA Filler Panel" on page 174

“N8262A and N8262A by an Adapter
with an E7732A 2 EIA Filler Panel" on page 175

Agilent N8200A Series Synthetic Instrument Modules



E N8201A by an Adapter

5063-9245
4 EIA Rackmount Adapter Kit

e

{Quantity 1)

san

- R
-

"

Front I‘.'Jcliumn

g
Sooad

e E3666A
: Plain Shelf

Racking into a 19" EIA Rack Cabinet

Part of the
Rackmount
Adapter Kit.

Plain Shelf

4 EIA Rackmount Adapter Kit, No Handles
4 EIA Adapter Assembly
4 EIA Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw

Sheet Metal Nut

E3666A
5063-9245
Included in Kit
Included in Kit
Included in Kit
Included in Kit

Included in Kit

Use as a front Filler Panel.

Use to connect front of the N82xxA to rack.
Use to connect Flange/Adapter to N82xxA.
Use to connect Flange/Adapter to rack.

Use to fasten Gray Dress Screws to rack.

Agilent N8200A Series Synthetic Instrument Modules

33



3 Racking into a 19” EIA Rack Cabinet

mm N8201A by an N8201A

5063-9215

4 EIA Rackmount Flange Kit = | ‘;w fOG;f_G?K.t
ity 1 = ock Link Ki
(Quantity 1) e 5
ﬁ/ Front Hooks
(Quantity 8)
» Flathead Screws
% {Quantity 8)
Front C?lu'nn
.|'
o < y
B . Part of the
Y : Rackmount
e Flange Kit.
’{: g E3666A = ’
- - _.--""f i
o Plain Shelf e N8200-20202 N8200-20201
& i . Rear Foot, Red
Rear Link, Red Quantity 4
(Quantity 2) ey
Secure with e_c;J.re i
existing _ex'f Ing .
instrument LGRS
screws. SRS
Plain Shelf 1 HPE3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215

4 EIA Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut
Lock Link Kit
Front Hook
Flat Head Screw, M4 x 0.7 x 6L
Rear Link, Red, Horizontal

Rear Foot, Red (All 4 outside feet are optional.)

2 Included in Kit
8 Included in Kit
4 Included in Kit
4 Included in Kit
1 5061-9694

8 Included in Kit
8 Included in Kit
2 N8200-20202
4 N8200-20201

Use to connect front of two N82xxA to rack.
Use to connect Flanges to N82xxA.
Use to connect Flanges to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.
Use to connect front of modules.
Use to connect rear of N82xxA to N82xxA.

Use on the rear of both N82xxAs.

34

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

E E N8201A by an N8211A or N8212A

5063-9215
4 EIA Rackmount Flange Kit =

(Quantity 1) “ | Lock Link Kit

k., 5061-9694
)

ﬁ/ Front Hooks
(Quantity 8)
Flathead Screws
(Quantity 8)
Front C?l wmin |
", i\.l_.- . '
-
o £
@ Ty
af
4
) Part of the
) Rackmount
o Flange Kit.
e E3666A i
. N
S Plain Shelf e N8200-20202 RGP0
-~ - . Rear Foot, Red
Rear Link, Red Q tity 4
(Quantity 2) (s uanti y.th)
Secure with e.c;J_re wi
existing .eX'f N9 t
instrument instrumen
— screws.
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 2 Included in Kit Use to connect front of two N82xxA to rack.
Panhead Screw, M4 x 0.7 x 10L 8  Included in Kit Use to connect Flanges to N82xxA.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 8  Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 8 Included in Kit Use to connect front of modules.
Rear Link, Red, Horizontal 2 N8200-20202 Use to connect rear of N82xxA to N82xxA.
Rear Foot, Red (All 4 outside feet are optional.) 4 N8200-20201 Use on the rear of both N82xxAs.

Agilent N8200A Series Synthetic Instrument Modules

35



3

36

Racking into a 19” EIA Rack Cabinet

E N8201A by an N8221A and Adapter
: Y

5063-9240
2 EIA Rackmount
Adapter Kit
(Quantity 1)

N8200-20201
Rear Foot, Red -

(Quantity 6)
Use on rear of

both N8221A

and N82xxA
and secure
with existing
instrument
I — N8200_-2021 7
N Mounting
71| Plate, Notched
; 2
o | ' - .
Front Column "“Lli-.ff']\q . ) )
2 1K =
P ? . v L
#.’f.a*;f.,.,. .
g E3666A
T Plain Shelf

5061-9694
Lock Link Kit

Front Hooks

(Quantity 4)

Flathead Screws

(Quantity 4)
5063-9215
4 EIA Rackmount
Flange Kit

I {Quantity 1)

s

N8200-20202

Rear Link, Red
(Quantity 1)

Secure with existing
instrument screws.

Connection Order of
Mounting Screws, 0515-1269:
1¢t) Screw 1 on N8221A

2") Screw 2 on N82xxA

Plain Shelf

4 EIA Rackmount Flange Kit, No Handles
4 EIA Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

2 EIA Rackmount Adapter Kit, No Handles
Adapter Assembly
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

Lock Link Kit
Front Hook

Flat Head Screw, M4 x 0.7 x 6L

1 E3666A
1 5063-9215

1 Included in Kit Use to connect 4 EIA module to rack.

4 Included in Kit Use to connect 4 EIA Flange to N82xxA.

2 Included in Kit Use to connect 4 EIA Flange to rack.

2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5063-9240

1 Included in Kit Use as a front Filler Panel.
1 Included in Kit Use to connect front of the N8221A to rack.
4 Included in Kit Use to connect Flange/Adapter to modules.
4 Included in Kit Use to connect Flange/Adapter to rack.
4 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5061-9694

4 Included in Kit Use to connect front of modules.

4 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

4 EIA Mounting Plate, Notched 1 NB8200-20217 Connect order: N8221A then N82xxA.
Flat Head Mounting Screw, M4 x 0.7 x 10L 2 0515-1269 Use with Mounting Plate, Notched.

Rear Foot, Red (Outside 4 feet are optional.) 6  N8200-20201 Use on rear of both N82xxA and N8221A.
Rear Link, Red, Horizontal 1 N8200-20202 Use to connect N82xxA to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules 37



3 Racking into a 19” EIA Rack Cabinet

E m N8201A by an N8221A and N8221A

5063-9212
N8200-20201 “ . 2 EIARackmount
Rear Foot, Red B, e H Flange Kit
(Quantity 4) b i 5061-9694

Use on rear of

both N8221As and
N82xxA and secure
with existing screws.

Lock Link Kit

Front Hooks
(Quantity 8)
Flathead Screws
(Quantity 8)

N8200-20211
Rear Link, Blue I
(Quantity 2) A
Secure with o
existing
instrument
SCrews.

- 5063-9215
; 4 EIA Rackmount
Flange Kit
Front Column gl {Quantity 1)
| S
/ N8200-20202
o i Rear Link, Red
.-"-' .
it (Quantlty.Z) o
W E3666A $ecure with existing
e Plain Shelf instrument screws.
-~

Plain Shelf 1 E3666A

4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
Rackmount Flange 1 Included in Kit
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.

2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect fronts of N8221As to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.

Lock Link Kit 1 5061-9694
Front Hook 8  Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 8 Included in Kit Use to connect front of modules.

38 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

Rear Foot, Red (All 4 outside feet are optional.) 4 N8200-20201 Use on rear of N82xxA and both N8221As.
Rear Link, Red, Horizontal 2 N8200-20202 Use to connect N82xxA to both N8221As.
Rear Link, Blue, Vertical 2 NB8200-20211 Use to connect N8221A to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules 39



3 Racking into a 19” EIA Rack Cabinet

E_ N8201A by an N8221A and N8222A
| o

5063-9212
™ 2 EIA Rackmount

N8200-20203 Flange Kit

Rear Foot, Black a3
(Quantity 4) ’ ! J
Use on rear of

N8222A and secure with
existing instrument screws.

8

N8200-20201

Rear Foot, Red
(Quantity 6)

Use on rear of
N8221A and N82xxA
and secure with
existing instrument

Screws. N8200-20217

Mounting
Plate, Notched 2 M1
d: - o - !

Front Column

N
A .
XLL
Ll

5061-9694
Lock Link Kit

Front Hooks
(Quantity 8)
Flathead Screws
(Quantity 8)

5063-9215

4 EIA Rackmount
Flange Kit
(Quantity 1)

i

N8200-20202

Rear Link, Red

{Quantity 1) and secure with
existing instrument screws.

Connection Order of
2 .JMounting Screws, 0515-1269:

Use to connect 4 EIA module to rack.
Use to connect 4 EIA Flange to N82xxA.
Use to connect 4 EIA Flange to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect N8221A/N8222A to rack.
Use to connect Flanges to modules.
Use to connect Flanges to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

’,x"':-f" 1) Screws 1 and 2 on N8242A
/’:”f E3666A 2") Screw 3 on N8221A
-;_,.f Plain Shelf 3) Screw 4 on N82xxA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit
Gray Dress Screw 2 Included in Kit
Sheet Metal Nut 2 Included in Kit
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit
Gray Dress Screw 4 Included in Kit
Sheet Metal Nut 4 Included in Kit
Lock Link Kit 1 5061-9694
Front Hook 8 Included in Kit
Flat Head Screw, M4 x 0.7 x 6L 8  Included in Kit

Use to connect front of modules.

40 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

4 EIA Mounting Plate, Notched

Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Foot, Red (Outside 4 feet are optional.)

Rear Link, Red, Horizontal

N8200-20217
0515-1269

N8200-20203
N8200-20201
N8200-20202

Connect order: N8222A, N8221A, N82xxA.

Use with Mounting Plate, Notched.
Use on rear of N8222A.
Use on rear of both N82xxA and N8221A.

Use to connect N82xxA to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules

41



42

Racking into a 19” EIA Rack Cabinet

5063-9212

2 EIA Rackmount Flange Kit

(Quantity 1)
N8200-20203
Rear Foot, Black
(Quantity 4) and
secure with existing
instrument

SCrews.

N8200-20201
Rear Foot, Red

(Quantity 6)

Use on rear of

N8221A and

N82xxA and N8200-20217

secure with +11 Mounting

existing 41| Plate, Notched
instrument a 4 1
Screws. | ¢ = =

Front Column

B isan

r
e
—

-~

229 N8201A by an N8221A and N824xA

5061-9694
Lock Link Kit

Front Hooks
(Quantity 8)
Flathead Screws
(Quantity 8)

5063-9215
4 EIA Rackmount
Flange Kit

] .

N8200-20202

Rear Link, Red
{Quantity 1) and
secure with existing
instrument screws.
Connection Order of

Mounting Screws, 0515-1269:

4 EIA Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

2 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

Lock Link Kit
Front Hook

Flat Head Screw, M4 x 0.7 x 6L

e e L ) .
.~ [E3666A . =) 1¢') Screws 1 and 2 on N824xA
P Plain Shelf 3 2m) Screw 3 on N8221A
- 3r) Screw 4 on N82xxA
) o 4™) Use existing screws on the Rear Link, Red.
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215

1 Included in Kit Use to connect 4 EIA module to rack.

4 Included in Kit Use to connect 4 EIA Flange to N82xxA.

2 Included in Kit Use to connect 4 EIA Flange to rack.

2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5063-9212

2 Included in Kit Use to connect N8221A/N824xA to rack.
4 Included in Kit Use to connect Flanges to modules.
4 Included in Kit Use to connect Flanges to rack.
4 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5061-9694

8 Included in Kit Use to connect front of modules.

8 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

4 EIA Mounting Plate, Notched

Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Foot, Red (Outside 4 feet are optional.)

Rear Link, Red, Horizontal

N8200-20217
0515-1269

N8200-20203
N8200-20201
N8200-20202

Connect order: N824xA, N8221A, N82xxA.

Use with Mounting Plate, Notched.
Use on the rear of the N824xA.
Use on the rear of the N82xxA.

Use to connect N82xxA to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules

43



3 Racking into a 19” EIA Rack Cabinet

.. N8201A by an N8221A and N8262A and Adapter

; T -
5063-9212 N8200-60101
2 EIA Rackmount . 1 EIA Rackmount Adapter Kit
Flange Kit ; » (Quantity 1) 5061-9694
(Quantity 1) 7% 2 5™ 4 "k Lock Link Kit
N8200-20208 i,_‘ S Mg N 5
Rear Foot, Green A Front Hooks
(Quantity 2) [ e =1 (Quantity 6)
Use on rear of ; Flathead Screws
N8262A and secure (Quantity 6)

with existing

. 5063-9215

instrument screws. v 4 EIA Rackmount
Flange Kit

N8200-20201 {7 (Quantity 1)

Rear Foot, Red ’ - f

(Quantity 6) oA

Use on rear of

Rear Link, Red
(Quantity 1) Secure with

N8221A and N8200-20217
N82xxA and secure 7 || Mounting
with existing ';f[ Plate, Notched peH AT

instrument screws.

A r i L existing instrument screws.
Front Column p | L . - N
o . . B
’ Connection Order of
'#,-" - M 1| Mounting Screws, 0515-1269:
oot 2 1%) Screw 1 on N8262A
A E3666A T 2) Screw 2 on N8221A
Far Plain Shelf st 31) Screw 3 on N82xxA
-~ -
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
2 EIA Rackmount Flange 1 Included in Kit Use to connect N8221A to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to module.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Adapter Kit, No Handles 1 NB8200-60101
1 EIA Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
1 EIA Rackmount Flange 1 Included in Kit Use to connect N8262A to rack.

44 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Panhead Screw, M4 x 0.7 x 10L

Gray Dress Screw

Sheet Metal Nut
Lock Link Kit

Front Hook

Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate, Notched
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Green (Outside foot is optional.)
Rear Foot, Red (Outside 4 feet are optional.)

Rear Link, Red, Horizontal

Included in Kit
Included in Kit
Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20217
0515-1269
N8200-20208
N8200-20201

N8200-20202

Use to connect Flange/Adapter to modules.

Use to connect Flange/Adapter to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

Use to connect front of modules.

Connect order: N8262A, N8221A, N82xxA.
Use with Mounting Plate, Notched.

Use on rear of N8262A.

Use on rear of both N82xxA and N8221A.

Use to connect N82xxA to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules

45



3 Racking into a 19” EIA Rack Cabinet

=72= N8201A by an N8221A and N8262A and N8262A

ol T ean

5063-9212 N8262-60109
2 EIA Rackmount - 4 1 EIARackmount Flange Kit
Flange Kit [j (Quantity 1) 5061-9694
(Quantity 1) ® = [ﬂ |7k Lock Link Kit
N8200-20208 i'J 5
Rear Foot, Green = F Front Hooks

" (Quantity 8)
Flathead Screws

(Quantity 4)
Use on rear of both

Connection Order of
Mounting Screws, 0515-1269:

N8262As and secure i (Quantity 8)
with existing " &
instrument screws. : : . 1 ! /\ iolglz,z_sl;z;cim ount
N8200-20201 v T 3 Flange Kit
Rear Foot, Red b - Y 2'1 (Quantity 1)
(Quantity 6) v S P B
Use on rear of ks Ng?’(
N8221A and N8200-20217 ¥ T
N82xxA and secure Mounting = '
with existing Plate, Notebed 74 2 N8200-20202
instrument screws. » - Rear Link. Red

l [ » Y7 . {Quantity 1) Secure with
SR o I,;- :;. ] T ¥ 4 L ) existing instrument screws.

I\( - ¢ . ;

g -

" E3eeeA 3 \ 1%) Screws 1 and 2 on N8262As
Pt Plain Shelf ; 2) Screw 3 on N8221A

31) Screw 4 on N82xxA

Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 1 Included in Kit Use to connect N8221A to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to module.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Flange Kit, No Handles 1 NB8262-60109
Rackmount Flange 2 Included in Kit Use to connect N8262As to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flanges to modules.

46 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

Gray Dress Screw 2 Included in Kit Use to connect Flanges to rack.

Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694

Front Hook 8 Included in Kit Use to connect front of modules.

Flat Head Screw, M4 x 0.7 x 6L 8  Included in Kit Use to connect front of modules.
4 EIA Mounting Plate, Notched 1 N8200-20217 Connect order: N8262As, N8221A, N82xxA.
Flat Head Mounting Screw, M4 x 0.7 x 10L 4 0515-1269 Use with Mounting Plate, Notched.
Rear Foot, Green (Outside foot is optional.) 2 N8200-20208 Use on rear of N8262A.
Rear Foot, Red (Outside 4 feet are optional.) 6  N8200-20201 Use on rear of both N82xxA and N8221A.
Rear Link, Red, Horizontal 1 N8200-20202 Use to connect N82xxA to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules a7



3

48

Front Column

Racking into a 19” EIA Rack Cabinet

E N8201A by an N8222A and Adapter
. ==

5063-9240 5061-9694
2 EIA Rac_kmount [k~ Lock Link Kit
Adapter Kit e |

(Quantity 1)

N8200-20203
Rear Foot, Black ’
(Quantity 4)

o Front Hooks

5~ (Quantity 4)
Flathead Screws

= (Quantity 4)

5063-9215
Use on rear of 4 EIA Rackmount
N8222A and Flange Kit
secure with I (Quantity 1)
existing A
instrument
sScrews.

N8200-20205

Mounting Plate N8200-20201

Rear Link, Red
(Quantity 4)

Secure with existing
instrument screws.

R ®
.

e

.| Connection Order of
Mounting Screws, 0515-1269:

A 1) Screws 1 and 2 on N8222A
f"’# — . 2") Screws 3 and 4 on N82xxA
S Plain Shelf S
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Adapter Kit, No Handles 1 5063-9240
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect front of the N8222A to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)

Rear Foot, Red (Outside 2 feet are optional.)

N8200-20205
0515-1269
N8200-20203

N8200-20201

Connect order: N8222A then to N82xxA.

Use with Mounting Plate.
Use on rear of the N8222A.

Use on rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

49



3

50

Racking into a 19” EIA Rack Cabinet

EE N8201A by an N8222A and N8222A

N8200-20203 [ .
Rear Foot, Black J
(Quantity 6) ’ b
Use on rear of *
N8222As and secure i

with existing
instrument screws.

5063-9212
2 EIA Rackmount
Flange Kit

05061-9694
Lock Link Kit

2| Front Hooks
A (Quantity 8)

. Flathead Screws
: (Quantity 8)

5063-9215

4 EIA Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

2 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

Lock Link Kit
Front Hook

Flat Head Screw, M4 x 0.7 x 6L

1 Included in Kit

4 Included in Kit

2 Included in Kit

2 Included in Kit

2 Included in Kit
4 Included in Kit
4 Included in Kit

4 Included in Kit

8 Included in Kit

8 Included in Kit

4 EIA Rackmount
N8200-20214 . Flange Kit
Rear Link, Green 5% <71 (Quantity 1)
{Quantity 1) I Tk
Secure with existing 6 '
instrument screws. 2"
1 3
N8200-20205 N8200-20201
Mounting Plate . Rear Link, Red
5 - (Quantity 4)
r. r x . Secure with existing
AU w Lol [ = E . . instrument screws.
- - \T { : :| Connection Order of
s . ¥ ¥ *| Mounting Screws, 0515-1269:
x'f- P +| 1°) Screws 1 and 2 on N8222A {bottom)
x./‘#,.«"" E3666A 2") Screws 3 and 4 on N8222A (top)
- Plain Shelf 3) Screws 5 and 6 on N82xxA
N
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215

Use to connect 4 EIA module to rack.
Use to connect 4 EIA Flange to N82xxA.
Use to connect 4 EIA Flange to rack.

Use to fasten Gray Dress Screws to rack.

1 5063-9212

Use to connect front of N8222As to rack.
Use to connect Flanges to modules.
Use to connect Flanges to rack.

Use to fasten Gray Dress Screws to rack.

1 5061-9694

Use to connect front of modules.

Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

4 EIA Mounting Plate

Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Link, Green, Vertical

Rear Foot, Red (Outside 2 feet are optional.)

N8200-20205
0515-1269

N8200-20203
N8200-20214
N8200-20201

Connect order: N8222A, N8222A, N82xxA.

Use with Mounting Plate.
Use on rear of both N8222As.
Use to connect N8222A to the N8222A.

Use on rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

51



3

52

Racking into a 19” EIA Rack Cabinet

229 N8201A by an N8222A and N824xA
m

5063-9212 ~,  5061-9694

2 EIA Rackmount Flange Klt

(Quantity 1) -

N8200-20203
Rear Foot, Black .
(Quantity 8) -
Use on rear of ’
N824xA and
N8222A and
secure with
existing
instrument
sScrews.

Front Column

N8200-20205
Mounting Plate

2

R
s —%
N

i\ Lock Link Kit

o ‘ Front Hooks
(Quantity 8)
Flathead Screws
(Quantity 8)

N8200-20201
¥ Rear Foot, Red
. (Quantity 4)

Secure with existing
instrument screws.

5063-9215
4 EIA Rackmount
Flange Kit

LR

Connection Order of

E3666A s Mounting Screws, 0515-1269:
Plain Shelf & 1%) Screws 1 and 2 on N824xA
2") Screws 3 and 4 on N8222A
- 2N Q[Qerewa B and A nn NROwvA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of modules to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 8 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 8 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA, N8222A, N82xxA.
Flat Head Mounting Screw, M4 x 0.7 x 10L 6  0515-1269 Use with Mounting Plate.

Rear Foot, Black (Outside 4 feet are optional.) 8  N8200-20203 Use on the rear of the N824xA and N8222A.
Rear Foot, Red (Outside 2 feet are optional.) 4 N8200-20201 Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules 53



3

54

Racking into a 19” EIA Rack Cabinet

L

5063-9212
2 EIA Rackmount
Flange Kit
{(Quantity 1) ® 5
N8200-20208
Rear Foot, Green
(Quantity 2) (.
Use on rear of
N8262A and secure
with existing
instrument screws.

N8200-20203
Rear Foot, Black ’
(Quantity 4)

Use on rear of
N8222A and secure
with existing
instrument screws.

N8200-20205  5°
Mounting Plate

Front Column

B
f"f
Pl g
e
T
" E3666A ;
s Plain Shelf -~

N8200-60101
1 EIA Rackmount Adapter Kit
_(Quantity 1)

) 5061-9694
Lock Link Kit

Front Hooks
(Quantity 6)
Flathead Screws
(Quantity 6)

5063-9215
4 EIA Rackmount
Flange Kit

JU\I Quantlty 1)

N8200-20201

Rear Foot, Red
(Quantity 4)

Secure with existing
instrument screws.

VA

Connection Order of

Mounting Screws, 0515-1269:
1¢t) Screw 1 on N8262A

2") Screws 2 and 3 on N8222A
31) Screws 4 and 5 on N82xxA

Plain Shelf

4 EIA Rackmount Flange Kit, No Handles
4 EIA Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

2 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

1 EIA Rackmount Adapter Kit, No Handles
Adapter Assembly
Rackmount Flange

Panhead Screw, M4 x 0.7 x 10L

1 E3666A
1 5063-9215

1 Included in Kit Use to connect 4 EIA module to rack.

4 Included in Kit Use to connect 4 EIA Flange to N82xxA.

2 Included in Kit Use to connect 4 EIA Flange to rack.

2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5063-9212

1 Included in Kit Use to connect N8222A to rack.
2 Included in Kit Use to connect Flange to N8222A.
2 Included in Kit Use to connect Flanges to rack.
2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 NB8200-60101
1 Included in Kit Use as a front Filler Panel.
1 Included in Kit Use to connect N8262A to rack.

2 Included in Kit Use to connect Flange/Adapter to modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Gray Dress Screw

Sheet Metal Nut
Lock Link Kit

Front Hook

Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Green (Outside foot is optional.)
Rear Foot, Black (Outside 2 feet are optional.)

Rear Foot, Red (Outside 2 feet are optional.)

Included in Kit
Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20205
0515-1269
N8200-20208
N8200-20203

N8200-20201

Use to connect Flange/Adapter to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

Use to connect front of modules.

Connect order: N8262A, N8222A, N82xxA.
Use with Mounting Plate.

Use on rear of N8262A.

Use on rear of N8222A.

Use on rear of N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

55



3

56

Racking into a 19” EIA Rack Cabinet

E ~—= N8201A by an N8222A and N8262A and N8262A

5063-9212 N8262-60109

2 EIA Rackmount 3 1 EIA Rackmount Flange Kit

Flange Kit R D {(Quantity 1) 506; I?GiAfKt

{(Quantity 1) ® = E ock Link &1
N8200-20208 »J Front Hooks
Rear Fpot, Green - (Quanmy 8)
(Quantity 4) ; Flathead Screws
Use on rear of both (Quantity 8)
N8262As and secure
with existing 5063-9215
instrument screws. v 4 EIA Rackmount

/\ Flange Kit

N8200-20203 Quantlty 1)
Rear Foot, Black 3 J
(Quantity 4) . d
Use on rear of N8200-20205 6
N8222A and secure Mounting Plate
with existing 5 1,2 N8200-20201
instrument screws. ey % Rear Foot, Red

®
"

(Quantity 4) and
secure with existing
instrument screws.

R
EER]

Front Column o 1 \.T:

?-
) 4
»
A P e < |
" E3666A 6 \4\. ;

:| Connection Order of

3 Mounting Screws, 0515-1269:
- 1) Screws 1 and 2 on N8262As
s Plain Shelf 2m) Screws 3 and 4 on N8222A
- 39) Screws 5 and 6 on N82xxA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 1 Included in Kit Use to connect N8222A to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to N8222A.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Flange Kit, No Handles 1 N8262-60109
Rackmount Flange 2 Included in Kit Use to connect both N8262As to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flanges to N8262As.
Gray Dress Screw 2 Included in Kit Use to connect Flanges to rack.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Sheet Metal Nut
Lock Link Kit

Front Hook

Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Green (Outside 2 feet are optional.)
Rear Foot, Black (Outside 2 feet are optional.)

Rear Foot, Red (Outside 2 feet are optional.)

Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20205
0515-1269
N8200-20208
N8200-20203

N8200-20201

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

Use to connect front of modules.

Connect order: N8262As, N8222A, N82xxA.

Use with Mounting Plate.
Use on rear of both N8262As.
Use on rear of N8222A.

Use on rear of N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

57



3

58

Racking into a 19” EIA Rack Cabinet

E N8201A by an N824xA and Adapter

5063-9240 2 EIA Rackmount Adapter Kit

N8200-20203
Rear Foot, Black
(Quantity 4)

Secure with ’
existing ¥
instrument
sScrews.

K.
v

B

5061-9694
Lock Link Kit

Front Hooks
(Quantity 4)
Flathead Screws
(Quantity 4)

5063-9215
4 EIA Rackmount
Flange Kit

| -

N8200-20201

al 3 Rear Foot, Red
Ey 4 (Quantity 4)
Front Column e I’|: 5 N8200-20205 Y y ¥ : Se.cu.re with
8 Mounting Plate existing
LT® = . " instrument
¥ B : > screws.
_f-'"':_,.f"' E3666A - : . - Conngction Order of
B Plain Shelf * 4 Mounting Screws, 0515-1269:
) 4 1 1%t) Screws 1 and 2 on N824xA
-"\\ 2") Screws 3 and 4 on N82xxA
-
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Adapter Kit, No Handles 1 5063-9240
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect front of the N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)

Rear Foot, Red (Outside 2 feet are optional.)

N8200-20205
0515-1269
N8200-20203

N8200-20201

Connect order: N824xA then N82xxA.
Use with Mounting Plate.
Use on the rear of the N824xA.

Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

59



60

Racking into a 19” EIA Rack Cabinet

5063-9212

2 EIA Rackmount Flange Kit

(Quantity 1)
N8200-20203
Rear Foot, Black
(Quantity 4) and
secure with existing
instrument

SCrews.

N8200-20201
Rear Foot, Red

(Quantity 6)

Use on rear of

N8221A and

N82xxA and N8200-20217

secure with +11 Mounting

existing 41| Plate, Notched
instrument a 4 1
Screws. | ¢ = =

Front Column

B isan

r
e
—

-~

229 N8201A by an N824xA and N8221A

5061-9694
Lock Link Kit

Front Hooks
(Quantity 8)
Flathead Screws
(Quantity 8)

5063-9215
4 EIA Rackmount
Flange Kit

] .

N8200-20202

Rear Link, Red
{Quantity 1) and
secure with existing
instrument screws.
Connection Order of

Mounting Screws, 0515-1269:

4 EIA Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

2 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

Lock Link Kit
Front Hook

Flat Head Screw, M4 x 0.7 x 6L

e e L ) .
.~ [E3666A . =) 1¢') Screws 1 and 2 on N824xA
P Plain Shelf 3 2m) Screw 3 on N8221A
- 3r) Screw 4 on N82xxA
) o 4™) Use existing screws on the Rear Link, Red.
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215

1 Included in Kit Use to connect 4 EIA module to rack.

4 Included in Kit Use to connect 4 EIA Flange to N82xxA.

2 Included in Kit Use to connect 4 EIA Flange to rack.

2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5063-9212

2 Included in Kit Use to connect N8221A/N824xA to rack.
4 Included in Kit Use to connect Flanges to modules.
4 Included in Kit Use to connect Flanges to rack.
4 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5061-9694

8 Included in Kit Use to connect front of modules.

8 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

4 EIA Mounting Plate, Notched

Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Foot, Red (Outside 4 feet are optional.)

Rear Link, Red, Horizontal

N8200-20217
0515-1269

N8200-20203
N8200-20201
N8200-20202

Connect order: N824xA, N8221A, N82xxA.
Use with Mounting Plate, Notched.

Use on the rear of the N824xA.

Use on the rear of the N8221A and N82xxA.

Use to connect N82xxA to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules

61



3 Racking into a 19” EIA Rack Cabinet

“229 N8201A by an N824xA and N8222A

5063-9212
2 EIA Rackmount Flange Klt
(Quantity 1) - |

N8200-20203
Rear Foot, Black .
(Quantity 8) -
Use on rear of ’
N824xA and
N8222A and
secure with
existing
instrument

screws.
g 2

N8200-20205 ": i r

Front Column b Mounting Plate : : «

. > -

. 5061-9694
i\ Lock Link Kit

o ‘ Front Hooks
(Quantity 8)
Flathead Screws
(Quantity 8)

5063-9215

4 EIA Rackmount
J U\IFIange Kit
N8200-20201
¥ Rear Foot, Red
. (Quantity 4)

Secure with existing
instrument screws.

LR

Connection Order of

" E3666A

Mounting Screws, 0515-1269:

o Plain Shelf 3 1¢) Screws 1 and 2 on N824xA
- 2") Screws 3 and 4 on N8222A
fae - 3) Screws 5 and 6 on N82xxA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of modules to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 8 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 8  Included in Kit Use to connect front of modules.

62

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA, N8222A, N82xxA.
Flat Head Mounting Screw, M4 x 0.7 x 10L 6  0515-1269 Use with Mounting Plate.

Rear Foot, Black (Outside 4 feet are optional.) 8  N8200-20203 Use on the rear of the N824xA and N8222A.
Rear Foot, Red (Outside 2 feet are optional.) 4 N8200-20201 Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules 63



3

64

Front Column

Racking into a 19” EIA Rack Cabinet

E "2y N8201A by an N824xA and N824xA

5063-9212 - 5061-9694
2 EIA Rackmount j‘ Lock Link Kit
Flange Kit g

Front Hooks
(Quantity 8)
Flathead Screws
(Quantity 8)

(Quantity 1) ~#
-
N8200-20203

Rear Foot, Black
(Quantity 6) ‘

Secure with 5063-9215
existing . 4 EIA Rackmount
instrument 4 Flange.Kit
screws. : (Quantity 1)

ik
N8200-20214
Rear Link, Green
(Quantity 1)

Secure with N8200-20201
existing o 5 Rear Foot, Red
instrument 8] y s (Quantity 4)
a0 A r S ith
SCrews. e N8200-20205 F—x— & = Soure
LA Mounting Plate existing
(- LT ' :" ' instrument
Fl: ¥ » : SCrews.
.-""J.#
g - . - : | Connection Order of
P ., ¥ 477, Mounting Screws, 0515-1269:
- E3666A 6 1 1) Screws 1 and 2 on N824xA
Plain Shelf 2") Screws 3 and 4 on N824xA
3) Screws 5 and 6 on N82xxA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of the N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 8  Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 8  Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

4 EIA Mounting Plate

Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Link, Green, Vertical

Rear Foot, Red (Outside 2 feet are optional.)

N8200-20205
0515-1269

N8200-20203
N8200-20214
N8200-20201

Connect order: N824xA, N824xA, N82xxA.

Use with Mounting Plate.
Use on the rear of the N824xA.
Use to connect N824xA to the N824xA.

Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

65



3 Racking into a 19” EIA Rack Cabinet

E .. N8201A by an N824xA and N8262A and Adapter

if '-21‘_ .
5063-9212 N8200-60101
2 EIA Rackmount 1 EIA Rackmount Adapter Kit
Flange Kit _(Quantity 1) 5061-9694
{(Quantity 1) ® 5 : Lock Link Kit

N8200-20208

Rear Foot, Green Front Hooks

. (Quantity 6)
Slsl;a:r:'téjg of Flathead Screws
N8262A and secure (CTELIVAR)
with existing 5063-9215

4 EIA Rackmount

_ Flange Kit
J Quantlty 1)
'l

Nﬁzx

instrument screws.

N8200-20203 ’

Rear Foot, Black
(Quantity 4) and z
secure with existing N8200-20205 5

instrument screws. Mountlng4PIate 3
a1 N8200-20201
fﬁ ’ , 7 v 3 Rear Foot, Red
Cl ) (Quantity 4) and

secure with existing

: n__. 5

Front Column

#\T - p instrument screws.
/ - : ’ *| Connection Order of
4
5

» , Mounting Screws, 0515-1269:
. 1st) Screws 1 and 2 on N824xA

-~

S 2m) Screw 3 on N8262A
e O] 39) Screws 4 and 5 on N82xxA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 1 Included in Kit Use to connect front of the N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to the N824xA.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Adapter Kit, No Handles 1 NB8200-60101
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect N8262A to rack.

66 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Panhead Screw, M4 x 0.7 x 10L

Gray Dress Screw

Sheet Metal Nut
Lock Link Kit

Front Hook

Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Foot, Green (Outside foot is optional.)

Rear Foot, Red (Outside 2 feet are optional.)

Included in Kit
Included in Kit
Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20205
0515-1269
N8200-20203
N8200-20208

N8200-20201

Use to connect Flange/Adapter to modules.

Use to connect Flange/Adapter to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

Use to connect front of modules.

Connect order: N824xA, N8262A, N82xxA.
Use with Mounting Plate.

Use on the rear of the N824xA.

Use on the rear of the N8262A.

Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

67



3 Racking into a 19” EIA Rack Cabinet

(L
Th

e -

E === N8201A by an N824xA and N8262A and N8262A

5063-9212 5061-9694
N8262-60109 ] k. _ _
1 EIA Rackmount 2 EIA Rackmount Flange Kit <] Lock Link Kit
(Quantity 1) J)|

Flange Kit

(Quantity 1) A, g Front Hooks

(Quantity 8)
Flathead Screws

N8200-20203 (Quantity 8)

Rear Foot, Black
{Quantity 4) and
secure with existing
instrument screws.

5063-9215
W s 4 EIA Rackmount
I I y Flange Kit
N8200-20208 A - A (Quantity 1)
Rear Foot, Green
(Quantity 4) P U\I :
Use on rear of both &
N8262As and N

&P ¢

secure with existing (% 4 ' N8200-20201
instrument screws. ? ¥ ~ Rear Link, Red
¢ ! 43 (Quantity 4) and
f-- N8200-20205 ¥ ¥ ‘ # : secure with eXiSting
Front Column - I'-; j instrument screws.

5 —

Mounting Plate:

/ 6 T ’ Connection Order of
& : X Mounting Screws, 0515-1269:

o

o~ . . «| 1%t Screws 1 and 2 on N8262As
s o Efﬁ%’;el ; i 2nd)) Screws 3 and 4 on N824xA
:_’,.--" . 1 2 3) Screws 5 and 6 on N82xxA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 1 Included in Kit Use to connect front of the N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to the N824xA.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Flange Kit, No Handles 1 NB8262-60109
Rackmount Flange 2 Included in Kit Use to connect both N8262As to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flanges to N8262As.

68 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Gray Dress Screw

Sheet Metal Nut
Lock Link Kit

Front Hook

Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Foot, Green (Outside 2 feet are optional.)

Rear Foot, Red (Outside 2 feet are optional.)

Included in Kit
Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20205
0515-1269
N8200-20203
N8200-20208

N8200-20201

Use to connect Flanges to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

Use to connect front of modules.

Connect order: N824xA, N8262As, N82xxA.

Use with Mounting Plate.
Use on the rear of the N824xA.
Use on the rear of the N8262As.

Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

69



3

70

Racking into a 19” EIA Rack Cabinet

N8201A by an N8262A and 3 EIA Adapter

1 EIA Rackmount Flange Kit, No Handles

Rackmount Flange

5063-9243 5061-9694
3 EIA Rackmount Lock Link Kit
N8262-60109 Adapter Kit
- {Quantity 1) 9| Front Hooks
1 EIA Rackmount 2 ;
F| Kit (Quantity 2)
ange - a Flathead Screws
{Quantity 1) (Quantity 2)
N8200-20208 _ SO
Rear Foot, Green b 4 EIA Rackmount
(Quantity 2) Flange Kit
Use on rear of (Quantity 1)
the N8262A and
secure with
existing
instrument
screws. - N8200-20201
Rear Link, Red
(Quantity 4) and
Front Colurmn o Ll N8200-20205 - SR, (S — SO
le-g Mounting Plate: instrument screws.
3 __,-»" Connection Order of
P Mounting Screws, 0515-1269:
g E3666A < - : 1) 1) Screw 1 on N8262A
e Plain Shelf 2 2") Screws 2 and 3 on N82xxA
Plain Shelf E3666A
4 EIA Rackmount Flange Kit, No Handles 5063-9215
4 EIA Rackmount Flange Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut Included in Kit Use to fasten Gray Dress Screws to rack.
3 EIA Rackmount Adapter Kit, No Handles 5063-9243
Adapter Assembly Included in Kit Use as a 3 EIA front filler panel.
Rackmount Flange Included in Kit This part is not used in this configuration.
Panhead Screw, M4 x 0.7 x 10L Included in Kit Use to connect Adapter to N82xxA.
Gray Dress Screw Included in Kit Use to connect Adapter to rack.
Sheet Metal Nut Included in Kit Use to fasten Gray Dress Screws to rack.

N8262-60109

Included in Kit Use to connect the N8262A to rack.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut
Lock Link Kit
Front Hook
Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Green (Outside foot is optional.)

Rear Foot, Red (Outside 2 feet are optional.)

Included in Kit
Included in Kit
Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20205
0515-1269
N8200-20208

N8200-20201

Use to connect Flanges to N8262As.

Use to connect Flanges to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

Use to connect front of modules.
Connect order: N8262A then N82xxA.
Use with Mounting Plate.

Use on the rear of the N8262A.

Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

71



3 Racking into a 19” EIA Rack Cabinet

&

E ~ NB201A by an N8262A and N8262A and Adapter

»R Tann

N8262-60109

1 EIA Rackmount
Flange Kit

(Quantity 1) A, ¢

5063-9240

(Quantity 1)

N8200-20208
Rear Foot, Green «
(Quantity 4)
Use on rear of
both N8262As
and secure with
existing
instrument
screws.

N8200-20205
Mounting Plate:

Front Column

" E3666A

2 EIA Adapter Kit

5061-9694
Lock Link Kit

Front Hook
(Quantity 4)
Flathead Screw
(Quantity 4)

5063-9215
4 EIA Rackmount

Flange Kit
.~ (Quantity 1)
A U\I o F

, N8200-20201 ‘
Rear Link, Red
(Quantity 4) and
' * . secure with existing

instrument screws.

Connection Order of
» Mounting Screws, 0515-1269:

% 4 M +) 1% Screws 1 and 2 on N8262As
Plain Shelf 3 2 2m) Screws 3 and 4 on N82xxA

Plain Shelf E3666A
4 EIA Rackmount Flange Kit, No Handles 5063-9215

4 EIA Rackmount Flange Included in Kit Use to connect 4 EIA module to rack.

Panhead Screw, M4 x 0.7 x 10L Included in Kit Use to connect 4 EIA Flange to N82xxA.

Gray Dress Screw Included in Kit Use to connect 4 EIA Flange to rack.

Sheet Metal Nut Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Adapter Kit, No Handles 5063-9240

Adapter Assembly Included in Kit Use as a front Filler Panel.

Rackmount Flange Included in Kit This part is not used in this configuration.

Panhead Screw, M4 x 0.7 x 10L Included in Kit Use to connect Adapter to module.

Gray Dress Screw Included in Kit Use to connect Adapter to rack.

Sheet Metal Nut Included in Kit Use to fasten Gray Dress Screws to rack.

1 EIA Rackmount Flange Kit, No Handles

Rackmount Flange

N8262-60109

Included in Kit Use to connect both N8262As to rack.

72

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut
Lock Link Kit
Front Hook
Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Green (Outside 2 feet are optional.)

Rear Foot, Red (Outside 2 feet are optional.)

Included in Kit
Included in Kit
Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20205
0515-1269
N8200-20208

N8200-20201

Use to connect Flanges to N8262As.
Use to connect Flanges to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

Use to connect front of modules.

Connect order: N8262A, N8262A, N82xxA.
Use with Mounting Plate.

Use on the rear of the N8262As.

Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

73



3 Racking into a 19” EIA Rack Cabinet

E N8211A or N8212A by an Adapter

5063-9245
4 EIA Rackmount Adapter Kit
(Quantity 1) 4

Front Column

Py P Part of the
e Rackmount
’_,x;’:z E3666A Adapter Kit.
Plain Shelf
Plain Shelf 1 E3666A
4 EIA Rackmount Adapter Kit, No Handles 1 5063-9245
4 EIA Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
4 EIA Rackmount Flange 1 Included in Kit Use to connect front of the N82xxA to rack.
Panhead Screw, M4 x 0.7 x 10L 8 Included in Kit Use to connect Flange/Adapter to N82xxA.
Gray Dress Screw 4 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.

74 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

E E N8211A or N8212A by an N8211A or N8212A

5063-9215
4 EIA Rackmount Flange Kit =

(Quantity 1) “ | Lock Link Kit

k., 5061-9694
)

ﬁ/ Front Hooks
(Quantity 8)
Flathead Screws
(Quantity 8)
Front C?l wmin |
", i\.l_.- . '
-
o £
@ Ty
af
4
) Part of the
) Rackmount
o Flange Kit.
e E3666A i
. N
S Plain Shelf e N8200-20202 RGP0
-~ - . Rear Foot, Red
Rear Link, Red Q tity 4
(Quantity 2) (s uanti y.th)
Secure with e.c;J_re wi
existing .eX'f N9 t
instrument instrumen
— screws.
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 2 Included in Kit Use to connect front of two N82xxA to rack.
Panhead Screw, M4 x 0.7 x 10L 8  Included in Kit Use to connect Flanges to N82xxA.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 8  Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 8 Included in Kit Use to connect front of modules.
Rear Link, Red, Horizontal 2 N8200-20202 Use to connect rear of N82xxA to N82xxA.
Rear Foot, Red (All 4 outside feet are optional.) 4 N8200-20201 Use on the rear of both N82xxAs.

Agilent N8200A Series Synthetic Instrument Modules

75



3

76

Racking into a 19” EIA Rack Cabinet

E N8211A or N8212A by an N8221A and Adapter
e

5063-9240 7 5061-9694

2 EIA Rackmount Lock Link Kit
Adapter Kit
(Quantity 1)

Front Hooks

(Quantity 4)
Flathead Screws
N8200-20201 (Quantity 4)
Rear Foot, Red - 5063-9215
(Quantity 6) .
Use on rear of e élirlgeR;ic;kmount
both N8221A ;
and N82xxA r-{Quantity 1)
and secure g K
with existing
instrument
SCrews. N8200_—2021 7 \
Mounting ¥ -
71| Plate, Notched
w, 5 N8200T20202
o ) < Rear Link, Red
o - - . . {Quantity 1)

Front Column ___LI{;,- Secure with existing
"’qf]\J : . . instrument screws.

o . . | Connection Order of
i Mounting Screws, 0515-1269:
- E3666A
Plain Shelf 1¢t) Screw 1 on N8221A
ain she 2) Screw 2 on N82xxA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Adapter Kit, No Handles 1 5063-9240
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect front of the N8221A to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate, Notched
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Red (Outside 4 feet are optional.)

Rear Link, Red, Horizontal

Included in Kit
N8200-20217
0515-1269
N8200-20201

N8200-20202

Use to connect front of modules.
Connect order: N8221A then N82xxA.

Use with Mounting Plate, Notched.

Use on rear of both N82xxA and N8221A.

Use to connect N82xxA to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules

77



3

78

Racking into a 19” EIA Rack Cabinet

E “ m N8211A or N8212A by an N8221A and N8221A

5063-9212
N8200-20201 g, . & 2 EIA Rackmount
Rear Foot, Red B, e u Flange Kit
EJQuantlty 4) f i i P ~ 5061-9694
se on rear o = Lock Link Kit

both N8221As and
N82xxA and secure
with existing screws.

5)
! Front Hooks
:;I (Quantity 8)
Flathead Screws
N8200-20211 (Quantity 8)
Rear Link, Blue I
(Quantity 2) A
Secure with v
existing
instrument
SCrews.

- 5063-9215
; 4 EIA Rackmount
Flange Kit
Front Column 4 1L (Quantity 1)
| S
/ N8200-20202
W e Rear Link, Red
e _ {Quantity 2)
P : . -
W E3666A . $ecure with existing
s Plain Shelf instrument screws.

Plain Shelf 1 E3666A

4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.

2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect fronts of N8221As to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.

Lock Link Kit 1 5061-9694
Front Hook 8  Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 8 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

Rear Foot, Red (All 4 outside feet are optional.) 4 N8200-20201 Use on rear of N82xxA and both N8221As.
Rear Link, Red, Horizontal 2 N8200-20202 Use to connect N82xxA to both N8221As.
Rear Link, Blue, Vertical 2 NB8200-20211 Use to connect N8221A to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules 79



3 Racking into a 19” EIA Rack Cabinet

E_ N8211A or N8212A by an N8221A and N8222A

5063-9212
» 2 EIA Rackmount
Flange Kit

N8200-20203

B [
Rear Foot, Black S o
(Quantity 4) ’ i J
Use on rear of

N8222A and secure with
existing instrument screws.

N8200-20201

Rear Foot, Red
(Quantity 6)

Use on rear of
N8221A and N82xxA
and secure with
existing instrument

screws. N8200-20217
Mounting
Plate, Notched 21
F - - o .
Front Column 4 'T: :r : :
Lle—e—p e

5061-9694
Lock Link Kit

Front Hooks
(Quantity 8)
Flathead Screws
(Quantity 8)

5063-9215

4 EIA Rackmount
Flange Kit
(Quantity 1)

i

N8200-20202

Rear Link, Red

{Quantity 1) and secure with
existing instrument screws.

Connection Order of

.JMounting Screws, 0515-1269:

1¢t) Screws 1 and 2 on N8242A

- - E3666A 2") Screw 3 on N8221A
[t o Plain Shelf 3) Screw 4 on N82xxA
Plain Shelf 1  E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215

4 EIA Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

2 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

Lock Link Kit
Front Hook

Flat Head Screw, M4 x 0.7 x 6L

1 Included in Kit Use to connect 4 EIA module to rack.

4 Included in Kit Use to connect 4 EIA Flange to N82xxA.

2 Included in Kit Use to connect 4 EIA Flange to rack.
2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5063-9212

2 Included in Kit Use to connect N8221A/N8222A to rack.
4 Included in Kit Use to connect Flanges to modules.
4 Included in Kit Use to connect Flanges to rack.
4 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5061-9694

8 Included in Kit Use to connect front of modules.

8 Included in Kit Use to connect front of modules.

80

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

4 EIA Mounting Plate, Notched

Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Foot, Red (Outside 4 feet are optional.)

Rear Link, Red, Horizontal

N8200-20217
0515-1269

N8200-20203
N8200-20201
N8200-20202

Connect order: N8222A, N8221A, N82xxA.

Use with Mounting Plate, Notched.
Use on rear of N8222A.
Use on rear of both N82xxA and N8221A.

Use to connect N82xxA to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules

81



82

Racking into a 19” EIA Rack Cabinet

E “2og N8211A or N8212A by an N8221A and N824xA

5063-9212

2 EIA Rackmount Flange Kit

(Quantity 1)
N8200-20203 -
Rear Foot, Black
(Quantity 4) and
secure with existing
instrument
screws.

N8200-20201
Rear Foot, Red

(Quantity 6)
Use on rear of
N8221A and
N82xxA and N8200-20217
secure with Mounting
existing Plate, Notched
instrument 4 1
screws. . = = e
Front Column 3
1\&‘ S —r—
e N
e E3666A . .
- Plain Shelf 3

5061-9694
Lock Link Kit

-

Front Hooks
(Quantity 8)
Flathead Screws
(Quantity 8)

5063-9215

= /"\ 4 EIA Rackmount
LA 5 : \\ Flange Kit
i g 1 f Y
- 2 5
S S

N8200-20202

Rear Link, Red
{Quantity 1) and
secure with existing
instrument screws.
Connection Order of

Mounting Screws, 0515-1269:

1¢t) Screws 1 and 2 on N824xA

2m) Screw 3 on N8221A

3r) Screw 4 on N82xxA

4™M) Use existing screws on the Rear Link, Red.

Plain Shelf

4 EIA Rackmount Flange Kit, No Handles
4 EIA Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

2 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

Lock Link Kit
Front Hook

Flat Head Screw, M4 x 0.7 x 6L

1 E3666A

1 5063-9215

1 Included in Kit Use to connect 4 EIA module to rack.
4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
2 Included in Kit Use to connect 4 EIA Flange to rack.
2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5063-9212

2 Included in Kit Use to connect N8221A/N824xA to rack.
4 Included in Kit Use to connect Flanges to modules.
4 Included in Kit Use to connect Flanges to rack.
4 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5061-9694

8 Included in Kit Use to connect front of modules.

8 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

4 EIA Mounting Plate, Notched

Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Foot, Red (Outside 4 feet are optional.)

Rear Link, Red, Horizontal

N8200-20217
0515-1269

N8200-20203
N8200-20201
N8200-20202

Connect order: N824xA, N8221A, N82xxA.

Use with Mounting Plate, Notched.
Use on the rear of the N824xA.
Use on the rear of the N82xxA.

Use to connect N82xxA to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules

83



3 Racking into a 19” EIA Rack Cabinet

.. N8211A or N8212A by an N8221A and N8262A and Adapter

; T -
5063-9212 N8200-60101
2 EIA Rackmount . 1 EIA Rackmount Adapter Kit
Flange Kit ; » (Quantity 1) 5061-9694
(Quantity 1) 7% 2 5™ 4 "k Lock Link Kit
N8200-20208 i,_‘ S Mg N 5
Rear Foot, Green A Front Hooks
(Quantity 2) [ e =1 (Quantity 6)
Use on rear of ; Flathead Screws
N8262A and secure (Quantity 6)

with existing

. 5063-9215

instrument screws. v 4 EIA Rackmount
Flange Kit

N8200-20201 {7 (Quantity 1)

Rear Foot, Red ’ - f

(Quantity 6) oA

Use on rear of

Rear Link, Red
(Quantity 1) Secure with

N8221A and N8200-20217
N82xxA and secure 7 || Mounting
with existing ';f[ Plate, Notched peH AT

instrument screws.

A r i L existing instrument screws.
Front Column p | L . - N
o . . B
’ Connection Order of
'#,-" - M 1| Mounting Screws, 0515-1269:
oot 2 1%) Screw 1 on N8262A
A E3666A T 2) Screw 2 on N8221A
Far Plain Shelf st 31) Screw 3 on N82xxA
-~ -
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
2 EIA Rackmount Flange 1 Included in Kit Use to connect N8221A to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to module.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Adapter Kit, No Handles 1 NB8200-60101
1 EIA Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
1 EIA Rackmount Flange 1 Included in Kit Use to connect N8262A to rack.

84 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Panhead Screw, M4 x 0.7 x 10L

Gray Dress Screw

Sheet Metal Nut
Lock Link Kit

Front Hook

Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate, Notched
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Green (Outside foot is optional.)
Rear Foot, Red (Outside 4 feet are optional.)

Rear Link, Red, Horizontal

Included in Kit
Included in Kit
Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20217
0515-1269
N8200-20208
N8200-20201

N8200-20202

Use to connect Flange/Adapter to modules.

Use to connect Flange/Adapter to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

Use to connect front of modules.

Connect order: N8262A, N8221A, N82xxA.
Use with Mounting Plate, Notched.

Use on rear of N8262A.

Use on rear of both N82xxA and N8221A.

Use to connect N82xxA to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules

85



3 Racking into a 19” EIA Rack Cabinet

<=7== N8211A or N8212A by an N8221A and N8262A and N8262A

ol T ean

: U
5063-9212 N8262-60109
2 EIA Rackmount - 4 1 EIARackmount Flange Kit
Flange Kit [ﬂ (Quantity 1) 5061-9694
(Quantity 1) ® = E} |7k Lock Link Kit
N8200-20208 i'J 5
Rear Foot, Green = F Front Hooks

" (Quantity 8)
Flathead Screws

(Quantity 4)
Use on rear of both

N8262As and secure ) & (Quantity 8)
with existing 5,
. oy 5063-9215
instrument screws. & &)
- Sl < 4 EIA Rackmount
3 » b - - .
N8200-20201 « ;: S / 3 Féangetlt(ndl
Rear Foot, Red .2'1 (_ uantity 1)
(Quantity 6) v ; P o M
=N X y
Use on rear of Ng? %
N8221A and N8200-20217 ¥ T
N82xxA and secure moumll:l]g o P v < '
i isti ; ate, Notche
ywt:] eX|st|?g . 4 1 2 N8200-20202
instrument screws. |2 > . Rear Link, Red
7| [ 7/ . {(Quantity 1) Secure with
Front Colurmn ] " F . J existing instrument screws.
i . P T 8 4
- . ’ . *| Connection Order o
P o Connection Order of
P ' . : «| Mounting Screws, 0515-1269:
_~ " E3666A 3 \ k ! 1) Screws 1 and 2 on N8262As
P Plain Shelf | 2M) Screw 3 on N8221A
b ol /_,«-”' 31) Screw 4 on N82xxA
-~ e
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 1 Included in Kit Use to connect N8221A to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to module.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Flange Kit, No Handles 1 N8262-60109
Rackmount Flange 2 Included in Kit Use to connect N8262As to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flanges to modules.

86 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

Gray Dress Screw 2 Included in Kit Use to connect Flanges to rack.

Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694

Front Hook 8 Included in Kit Use to connect front of modules.

Flat Head Screw, M4 x 0.7 x 6L 8  Included in Kit Use to connect front of modules.
4 EIA Mounting Plate, Notched 1 N8200-20217 Connect order: N8262As, N8221A, N82xxA.
Flat Head Mounting Screw, M4 x 0.7 x 10L 4 0515-1269 Use with Mounting Plate, Notched.
Rear Foot, Green (Outside foot is optional.) 2 N8200-20208 Use on rear of N8262A.
Rear Foot, Red (Outside 4 feet are optional.) 6  N8200-20201 Use on rear of both N82xxA and N8221A.
Rear Link, Red, Horizontal 1 N8200-20202 Use to connect N82xxA to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules 87



3 Racking into a 19” EIA Rack Cabinet

E N8211A or N8212A by an N8222A and Adapter

5063-9240
2 EIA Rackmount
Adapter Kit
(Quantity 1)

N8200-20203
Rear Foot, Black ’
(Quantity 4)

Use on rear of
N8222A and
secure with
existing
instrument

screws.
N8200-20205

Mounting Plate

®

Front Column

_ 5061-9694
a«, Lock Link Kit

o Front Hooks
5~ (Quantity 4)
Flathead Screws

= (Quantity 4)
5063-9215
4 EIA Rackmount
Flange Kit
(Quantity 1)

-

N8200-20201

Rear Link, Red
(Quantity 4)

Secure with existing
instrument screws.

"

e

.| Connection Order of

Mounting Screws, 0515-1269:

ol 1¢) Screws 1 and 2 on N8222A
,’i’# — 2) Screws 3 and 4 on N82xxA
i Plain Shelf
.--"-".
e
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215

4 EIA Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

2 EIA Rackmount Adapter Kit, No Handles
Adapter Assembly
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

Lock Link Kit

Front Hook

1 Included in Kit Use to connect 4 EIA module to rack.

4 Included in Kit Use to connect 4 EIA Flange to N82xxA.

2 Included in Kit Use to connect 4 EIA Flange to rack.

2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5063-9240

1 Included in Kit Use as a front Filler Panel.
1 Included in Kit Use to connect front of the N8222A to rack.
4 Included in Kit Use to connect Flange/Adapter to modules.
4 Included in Kit Use to connect Flange/Adapter to rack.
4 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5061-9694

4 Included in Kit Use to connect front of modules.

88

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)

Rear Foot, Red (Outside 2 feet are optional.)

Included in Kit
N8200-20205
0515-1269
N8200-20203

N8200-20201

Use to connect front of modules.

Connect order: N8222A then to N82xxA.

Use with Mounting Plate.
Use on rear of the N8222A.

Use on rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

89



3

90

Racking into a 19” EIA Rack Cabinet

EE N8211A or N8212A by an N8222A and N8222A

N8200-20203 [ .
Rear Foot, Black J
(Quantity 6) ’ b
Use on rear of *
N8222As and secure i

with existing
instrument screws.

5063-9212
2 EIA Rackmount
Flange Kit

05061-9694
Lock Link Kit

2| Front Hooks
A (Quantity 8)

. Flathead Screws
: (Quantity 8)

5063-9215

4 EIA Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

2 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

Lock Link Kit
Front Hook

Flat Head Screw, M4 x 0.7 x 6L

1 Included in Kit

4 Included in Kit

2 Included in Kit

2 Included in Kit

2 Included in Kit
4 Included in Kit
4 Included in Kit

4 Included in Kit

8 Included in Kit

8 Included in Kit

4 EIA Rackmount
N8200-20214 - Flange.Kit
Rear Link, Green 5% <71 (Quantity 1)
{Quantity 1) I Tk
Secure with existing 6 '
instrument screws. 2"
1 3
N8200-20205 N8200-20201
Mounting Plate . Rear Link, Red
5 - (Quantity 4)
r. r x . Secure with existing
Front Column .y [ = . . . instrument screws.
- - \T { : :| Connection Order of
s . ¥ ¥ *| Mounting Screws, 0515-1269:
x'f- P +| 1°) Screws 1 and 2 on N8222A {bottom)
x./‘#,.«"" E3666A 2") Screws 3 and 4 on N8222A (top)
- Plain Shelf 3) Screws 5 and 6 on N82xxA
N
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215

Use to connect 4 EIA module to rack.

Use to connect 4 EIA Flange to N82xxA.
Use to connect 4 EIA Flange to rack.

Use to fasten Gray Dress Screws to rack.

1 5063-9212

Use to connect front of N8222As to rack.
Use to connect Flanges to modules.
Use to connect Flanges to rack.

Use to fasten Gray Dress Screws to rack.

1 5061-9694

Use to connect front of modules.

Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

4 EIA Mounting Plate

Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Link, Green, Vertical

Rear Foot, Red (Outside 2 feet are optional.)

N8200-20205
0515-1269

N8200-20203
N8200-20214
N8200-20201

Connect order: N8222A, N8222A, N82xxA.

Use with Mounting Plate.
Use on rear of both N8222As.
Use to connect N8222A to the N8222A.

Use on rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

91



3 Racking into a 19” EIA Rack Cabinet

=
5063-9212
2 EIA Rackmount Flange Klt
(Quantity 1) -

N8200-20203
Rear Foot, Black .
(Quantity 8) -
Use on rear of ’
N824xA and
N8222A and
secure with
existing
instrument

screws.
g 2

N8200-20205 ": i r

Front Column b Mounting Plate : : «

. > -

N8211A or N8212A by an N8222A and N824xA

. 5061-9694
i\ Lock Link Kit

o ‘ Front Hooks
(Quantity 8)
Flathead Screws
(Quantity 8)

5063-9215

4 EIA Rackmount
J U\IFIange Kit
N8200-20201
¥ Rear Foot, Red
. (Quantity 4)

Secure with existing
instrument screws.

LR

Connection Order of

" E3666A

Mounting Screws, 0515-1269:

o Plain Shelf 3 1¢) Screws 1 and 2 on N824xA
- 2") Screws 3 and 4 on N8222A
fae - 3) Screws 5 and 6 on N82xxA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of modules to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 8 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 8  Included in Kit Use to connect front of modules.

92

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA, N8222A, N82xxA.
Flat Head Mounting Screw, M4 x 0.7 x 10L 6  0515-1269 Use with Mounting Plate.

Rear Foot, Black (Outside 4 feet are optional.) 8  N8200-20203 Use on the rear of the N824xA and N8222A.
Rear Foot, Red (Outside 2 feet are optional.) 4 N8200-20201 Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules 93



3 Racking into a 19” EIA Rack Cabinet

ol Tens

5063-9212
2 EIA Rackmount
Flange Kit
{(Quantity 1) ® 5

N8200-20208
Rear Foot, Green
(Quantity 2)

N8262A and secure ‘
with existing

Use on rear of

instrument screws.
N8200-20203

Rear Foot, Black ’
(Quantity 4)

Use on rear of
N8222A and secure
with existing
instrument screws.

Front Column

N8200-20205  5°
Mounting Plate

N8200-60101
1 EIA Rackmount Adapter Kit
_(Quantity 1)

) 5061-9694
Lock Link Kit

Front Hooks
(Quantity 6)
Flathead Screws
(Quantity 6)

5063-9215
4 EIA Rackmount

_ Flange Kit
J Quantlty 1)
'l

N8200-20201

Rear Foot, Red
. (Quantity 4)

Secure with existing

instrument screws.

Connection Order of

- Mounting Screws, 0515-1269:
ot 191 Screw 1 on N8262A
-t d
o E3666A > 2;) gcrewsf and 3 on 58522,?
”,f Plain Shelf o 3) Screws 4 and 5 on N82xx
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.

Gray Dress Screw
Sheet Metal Nut
2 EIA Rackmount Flange Kit, No Handles 1
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L 2
Gray Dress Screw
Sheet Metal Nut
1 EIA Rackmount Adapter Kit, No Handles 1
Adapter Assembly
Rackmount Flange

Panhead Screw, M4 x 0.7 x 10L 2

2 Included in Kit Use to connect 4 EIA Flange to rack.

2 Included in Kit Use to fasten Gray Dress Screws to rack.
5063-9212

1 Included in Kit Use to connect N8222A to rack.
Included in Kit Use to connect Flange to N8222A.
2 Included in Kit Use to connect Flanges to rack.
2 Included in Kit Use to fasten Gray Dress Screws to rack.
N8200-60101
1 Included in Kit Use as a front Filler Panel.
1 Included in Kit Use to connect N8262A to rack.

Included in Kit Use to connect Flange/Adapter to modules.

94

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Gray Dress Screw

Sheet Metal Nut
Lock Link Kit

Front Hook

Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Green (Outside foot is optional.)
Rear Foot, Black (Outside 2 feet are optional.)

Rear Foot, Red (Outside 2 feet are optional.)

Included in Kit
Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20205
0515-1269
N8200-20208
N8200-20203

N8200-20201

Use to connect Flange/Adapter to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

Use to connect front of modules.

Connect order: N8262A, N8222A, N82xxA.
Use with Mounting Plate.

Use on rear of N8262A.

Use on rear of N8222A.

Use on rear of N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

95



3 Racking into a 19” EIA Rack Cabinet

E === NB8211A or N8212A by an N8222A and N8262A and N8262A

5063-9212

2 EIA Rackmount z, M

Flange Kit

(Quantity )™ & (" [3 B
N8200-20208 | J
Rear Foot, Green
(Quantity 4)
Use on rear of both
N8262As and secure
with existing
instrument screws. v

N8200-20203
Rear Foot, Black
(Quantity 4)

Use on rear of N8200-20205 6

®

N8262-60109
1 EIA Rackmount Flange Kit

{Quantity 1)

£ 8 i . Flange Kit
L2 //1 [~ (Quantity 1)
N :

5061-9694
ks Lock Link Kit
|
| Front Hooks
q/ (Quantity 8)
| Flathead Screws
(Quantity 8)

5063-9215
4 EIA Rackmount

0 ik

N8222A and secure Mounting Plate
with existing g 1 /2 N8200-20201
instrument screws. K. F ¥ Rear Foot, Red
y - - ; (Quantity 4) and
A | L . ’ * H secure with existin
Front Column e 185 o - . . i 9
e \T » . : instrument screws.
- - » ’ :| Connection Order of
o~ = \ 3 Mounting Screws, 0515-1269:
o o E3666A 6 4 s 1) Screws 1 and 2 on N8262As
i Plain Shelf o 2m) Screws 3 and 4 on N8222A
- 3) Screws 5 and 6 on N82xxA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215

4 EIA Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

2 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

1 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L

Gray Dress Screw

1 Included in Kit

4 Included in Kit

2 Included in Kit

2 Included in Kit

1 Included in Kit
2 Included in Kit
2 Included in Kit

2 Included in Kit

2 Included in Kit
2 Included in Kit

2 Included in Kit

Use to connect 4 EIA module to rack.
Use to connect 4 EIA Flange to N82xxA.
Use to connect 4 EIA Flange to rack.

Use to fasten Gray Dress Screws to rack.

1 5063-9212

Use to connect N8222A to rack.
Use to connect Flange to N8222A.
Use to connect Flange to rack.

Use to fasten Gray Dress Screws to rack.

1 N8262-60109

Use to connect both N8262As to rack.
Use to connect Flanges to N8262As.

Use to connect Flanges to rack.

96

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Sheet Metal Nut
Lock Link Kit

Front Hook

Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Green (Outside 2 feet are optional.)
Rear Foot, Black (Outside 2 feet are optional.)

Rear Foot, Red (Outside 2 feet are optional.)

Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20205
0515-1269
N8200-20208
N8200-20203

N8200-20201

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

Use to connect front of modules.

Connect order: N8262As, N8222A, N82xxA.

Use with Mounting Plate.
Use on rear of both N8262As.
Use on rear of N8222A.

Use on rear of N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

97



3

98

Racking into a 19” EIA Rack Cabinet

N8200-20203
Rear Foot, Black
(Quantity 4)
Secure with
existing
instrument

5063-9240 2 EIA Rackmount Adapter Kit

screws. 4%

Front Column

b

X
\r
.l‘\“-i'&:x

peme
o Tl

N8211A or N8212A by an N824xA and Adapter

5061-9694
Lock Link Kit

Front Hooks

(Quantity 4)

Flathead Screws
» (Quantity 4)

5063-9215
4 EIA Rackmount
Flange Kit

| -

=N

N8200-20201

a 3 Rear Foot, Red
k) 4 (Quantity 4)
el N8200-20205 ¥ ¢ 1 % & SR
Mounting Plate existing
LT: . » " instrument
s : » . screws.
E3666A L3 = k- 1| Connection Order of
Plain Shelf * 4 , Mounting Screws, 0515-1269:
4 1 1%t) Screws 1 and 2 on N824xA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Adapter Kit, No Handles 1 5063-9240
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect front of the N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)

Rear Foot, Red (Outside 2 feet are optional.)

N8200-20205
0515-1269
N8200-20203

N8200-20201

Connect order: N824xA then N82xxA.
Use with Mounting Plate.
Use on the rear of the N824xA.

Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

99



100

Racking into a 19” EIA Rack Cabinet

S22 N8211A or N8212A by an N824xA and N8221A

5063-9212

2 EIA Rackmount Flange Kit

(Quantity 1)
N8200-20203
Rear Foot, Black
(Quantity 4) and
secure with existing
instrument

SCrews.

N8200-20201
Rear Foot, Red

(Quantity 6)

Use on rear of

N8221A and

N82xxA and N8200-20217

secure with +11 Mounting

existing 41| Plate, Notched
instrument a 4 1
Screws. | ¢ = =

Front Column

B isan

r
—

-~

5061-9694
Lock Link Kit

Front Hooks
(Quantity 8)
Flathead Screws
(Quantity 8)

5063-9215
4 EIA Rackmount
Flange Kit

] .

N8200-20202

Rear Link, Red
{Quantity 1) and
secure with existing
instrument screws.
Connection Order of

Mounting Screws, 0515-1269:

" E3666A L. ] 1%) Screws 1 and 2 on N824xA
fﬁ_,x:f,f' Plain Shelf 3 2") Screw 3 on N8221A
- 3r) Screw 4 on N82xxA
) o 4™) Use existing screws on the Rear Link, Red.
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect N8221A/N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 8 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 8 Included in Kit Use to connect front of modules.
Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

4 EIA Mounting Plate, Notched

Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Foot, Red (Outside 4 feet are optional.)

Rear Link, Red, Horizontal

N8200-20217
0515-1269

N8200-20203
N8200-20201
N8200-20202

Connect order: N824xA, N8221A, N82xxA.
Use with Mounting Plate, Notched.

Use on the rear of the N824xA.

Use on the rear of the N8221A and N82xxA.

Use to connect N82xxA to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules

101



3 Racking into a 19” EIA Rack Cabinet

5063-9212
2 EIA Rackmount Flange Kit -
{Quantity 1) - - |J

N8200-20203
Rear Foot, Black .
(Quantity 8) -
Use on rear of ’
N824xA and
N8222A and
secure with
existing
instrument
sScrews.

N8200-20205

Front Column Mounting Plate

E rzog N8211A or N8212A by an N824xA and N8222A

5061-9694
i\ Lock Link Kit

o ‘ Front Hooks
(Quantity 8)
Flathead Screws
(Quantity 8)

5063-9215

4 EIA Rackmount
N . Flange Kit
M x A

N8200-20201

¥ Rear Foot, Red

. (Quantity 4)

Secure with existing
instrument screws.

LR

Connection Order of

A E3666A . Mounting Screws, 0515-1269:
T Plain Shelf 3 1%) Screws 1 and 2 on N824xA
- 2") Screws 3 and 4 on N8222A
fae - 3) Screws 5 and 6 on N82xxA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of modules to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 8 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 8  Included in Kit Use to connect front of modules.

102

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA, N8222A, N82xxA.
Flat Head Mounting Screw, M4 x 0.7 x 10L 6  0515-1269 Use with Mounting Plate.

Rear Foot, Black (Outside 4 feet are optional.) 8  N8200-20203 Use on the rear of the N824xA and N8222A.
Rear Foot, Red (Outside 2 feet are optional.) 4 N8200-20201 Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules 103



3

104

Racking into a 19” EIA Rack Cabinet

E "2 N8211A or N8212A by an N824xA and N824xA

. -'

5063-9212
2 EIA Rackmount
Flange Kit
(Quantity 1) ~#

=

N8200-20203
Rear Foot, Black

(Quantity 6) .
Secure with ‘
existing 5
instrument
screws.

d
N8200-20214

Rear Link, Green
(Quantity 1)

5061-9694
Lock Link Kit

."J_“-

e

Front Hooks

(Quantity 8)

Flathead Screws

(Quantity 8)

5063-9215

4 EIA Rackmount
Flange Kit
{Quantity 1)

Secure with N8200-20201
existing o . Rear Foot, Red
instrument o] & i (Quantity 4)
rews. ol f .
screws & N8200-20205 ¥ Tl ; ;‘ZZ:;Z il
L Mounting Plate .
Front Column - < T . Y instrument
: Fl: ¥ » : screws.
.-""J g
g - . - : | Connection Order of
P ¥ 4 , Mounting Screws, 0515-1269:
e E3666A 6 1 1%) Screws 1 and 2 on N824xA
= Plain Shelf 2m) Screws 3 and 4 on N824xA
31) Screws 5 and 6 on N82xxA
i
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of the N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 8 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 8 Included in Kit Use to connect front of modules.
Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

4 EIA Mounting Plate

Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Link, Green, Vertical

Rear Foot, Red (Outside 2 feet are optional.)

N8200-20205
0515-1269

N8200-20203
N8200-20214
N8200-20201

Connect order: N824xA, N824xA, N82xxA.

Use with Mounting Plate.
Use on the rear of the N824xA.
Use to connect N824xA to the N824xA.

Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

105



Racking into a 19” EIA Rack Cabinet

E .. N8211A or N8212A by an N824xA and N8262A and Adapter

if '-21‘_ .
5063-9212 N8200-60101
2 EIA Rackmount 1 EIA Rackmount Adapter Kit
Flange Kit _(Quantity 1) 5061-9694
{(Quantity 1) ® 5 : Lock Link Kit

N8200-20208

Rear Foot, Green Front Hooks

. (Quantity 6)
Slsl;a:r:'téjg of Flathead Screws
N8262A and secure (CTELIVAR)
with existing 5063-9215

4 EIA Rackmount

_ Flange Kit
J Quantlty 1)
'l

Nﬁzx

instrument screws.

N8200-20203 ’

Rear Foot, Black
(Quantity 4) and z
secure with existing N8200-20205 5

instrument screws. Mountlng4PIate 3
a1 N8200-20201
fﬁ ’ , 7 v 3 Rear Foot, Red
Cl ) (Quantity 4) and

secure with existing

: n__. 5

Front Column

#\T - p instrument screws.
/ - : ’ *| Connection Order of

o 4 ¥ ', Mounting Screws, 0515-1269:
L £3666A 3 \_,ﬁ- : 1) Screws 1 and 2 on N824xA
, X P 2m) Screw 3 on N8262A
S Plain Shelf x__.,x”f 39) Screws 4 and 5 on N82xxA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 1 Included in Kit Use to connect front of the N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to the N824xA.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Adapter Kit, No Handles 1 NB8200-60101
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect N8262A to rack.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Panhead Screw, M4 x 0.7 x 10L

Gray Dress Screw

Sheet Metal Nut
Lock Link Kit

Front Hook

Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Foot, Green (Outside foot is optional.)

Rear Foot, Red (Outside 2 feet are optional.)

Included in Kit
Included in Kit
Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20205
0515-1269
N8200-20203
N8200-20208

N8200-20201

Use to connect Flange/Adapter to modules.

Use to connect Flange/Adapter to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

Use to connect front of modules.

Connect order: N824xA, N8262A, N82xxA.
Use with Mounting Plate.

Use on the rear of the N824xA.

Use on the rear of the N8262A.

Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

107



3 Racking into a 19” EIA Rack Cabinet

MY

E === N8211A or N8212A by an N824xA and N8262A and N8262A

ey |
5063-9212 5061-9694
N8262-60109 ] k. _ _
1 EIA Rackmount 2 EIA Rackmount Flange Kit <] Lock Link Kit
(Quantity 1) J)|

Flange Kit

(Quantity 1) A, g Front Hooks

(Quantity 8)
Flathead Screws

N8200-20203 (Quantity 8)

Rear Foot, Black
{Quantity 4) and
secure with existing
instrument screws.

5063-9215
W s 4 EIA Rackmount
I I y Flange Kit
N8200-20208 A - A (Quantity 1)
Rear Foot, Green
(Quantity 4) P U\I :
Use on rear of both &
N8262As and N

&P ¢

secure with existing (% 4 ' N8200-20201
instrument screws. ? ¥ ~ Rear Link, Red
¢ ! 43 (Quantity 4) and
f-- N8200-20205 ¥ ¥ ‘ # : secure with eXiSting
Front Column - I'-; j instrument screws.

5 —

Mounting Plate:

/ 6 T ’ Connection Order of
& : X Mounting Screws, 0515-1269:

o

o~ . . «| 1%t Screws 1 and 2 on N8262As
s o Efﬁ%’;el ; i 2nd)) Screws 3 and 4 on N824xA
:_’,.--" . 1 2 3) Screws 5 and 6 on N82xxA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 1 Included in Kit Use to connect front of the N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to the N824xA.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Flange Kit, No Handles 1 N8262-60109
Rackmount Flange 2 Included in Kit Use to connect both N8262As to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flanges to N8262As.

108 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

Gray Dress Screw

Sheet Metal Nut
Lock Link Kit

Front Hook

Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Foot, Green (Outside 2 feet are optional.)

Rear Foot, Red (Outside 2 feet are optional.)

Included in Kit
Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20205
0515-1269
N8200-20203
N8200-20208

N8200-20201

Use to connect Flanges to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

Use to connect front of modules.

Connect order: N824xA, N8262As, N82xxA.
Use with Mounting Plate.

Use on the rear of the N824xA.

Use on the rear of the N8262As.

Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

109



3

110

Racking into a 19” EIA Rack Cabinet

E N8211A or N8212A by an N8262A and 3 EIA Adapter

5063-9243 5061-9694
3 EIA Rackmount I Lock Link Kit
Adapter Kit
N8262-60109 (Quantity 1) < '| Front Hooks
1 EIA Rackmount 2 (Quantity 2)
Flange Kit - Flathead Screws
{Quantity 1) (Quantity 2)

N8200-20208 ; 5063-9215
Rear Foot, Green < 4 EIA Ragkmount
(Quantity 2) Flange.K|t
Use on rear of i~ (Quantity 1)
the N8262A and v )
secure with g
existing
instrument
screws. N8200-20201
Rear Link, Red
{ (Quantity 4) and
Front Column . ii 4| L N8200-20205 . . . ¥ secure with existing
- Mounting Plate: instrument screws.
f__,f"” . Connection Order of

!

Mounting Screws, 0515-1269:

-

- E3666A L. 2 £ g +) 15) Screw 1 on N8262A
- Plain Shelf 5 « 4 2") Screws 2 and 3 on N82xxA
Plain Shelf 1 E3666A
4 EIA Rackmount Flange Kit, No Handles 1 5063-9215
4 EIA Rackmount Flange 1 Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
3 EIA Rackmount Adapter Kit, No Handles 1 5063-9243
Adapter Assembly 1 Included in Kit Use as a 3 EIA front filler panel.
Rackmount Flange 1 Included in Kit This part is not used in this configuration.
Panhead Screw, M4 x 0.7 x 10L 3 Included in Kit Use to connect Adapter to N82xxA.
Gray Dress Screw 2 Included in Kit Use to connect Adapter to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Flange Kit, No Handles 1 N8262-60109
Rackmount Flange 1 Included in Kit Use to connect the N8262A to rack.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut
Lock Link Kit
Front Hook
Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Green (Outside foot is optional.)

Rear Foot, Red (Outside 2 feet are optional.)

Included in Kit
Included in Kit
Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20205
0515-1269
N8200-20208

N8200-20201

Use to connect Flanges to N8262As.

Use to connect Flanges to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

Use to connect front of modules.
Connect order: N8262A then N82xxA.
Use with Mounting Plate.

Use on the rear of the N8262A.

Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

111



3 Racking into a 19” EIA Rack Cabinet

E ~ N8211A or N8212A by an N8262A and N8262A and Adapter

»R Tann

N8262-60109

1 EIA Rackmount
Flange Kit

(Quantity 1) & -

5063-9240

N8200-20208
Rear Foot, Green «
(Quantity 4)
Use on rear of
both N8262As
and secure with
existing
instrument
screws.

N8200-20205
Mounting Plate:

Front Column

" E3666A
-~ Plain Shelf

2 EIA Adapter Kit
(Quantity 1)

N8200-20201

-~ 5061-9694
Lock Link Kit
)

<) Front Hook

'] (Quantity 4)
Flathead Screw
(Quantity 4)

-

5063-9215
,.:fx 4 EIA Rackmount

_ Flange Kit
5 J U\I

(Quantity 1)

.
Rear Link, Red ‘

(Quantity 4) and
' * . secure with existing
instrument screws.

Connection Order of

ounting Screws, - :
» Mounting S 0515-1269
) 1%) Screws 1 and 2 on N8262As

2m) Screws 3 and 4 on N82xxA

3 2
Plain Shelf E3666A
4 EIA Rackmount Flange Kit, No Handles 5063-9215
4 EIA Rackmount Flange Included in Kit Use to connect 4 EIA module to rack.
Panhead Screw, M4 x 0.7 x 10L Included in Kit Use to connect 4 EIA Flange to N82xxA.
Gray Dress Screw Included in Kit Use to connect 4 EIA Flange to rack.
Sheet Metal Nut Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Adapter Kit, No Handles 5063-9240
Adapter Assembly Included in Kit Use as a front Filler Panel.
Rackmount Flange Included in Kit This part is not used in this configuration.
Panhead Screw, M4 x 0.7 x 10L Included in Kit Use to connect Adapter to module.
Gray Dress Screw Included in Kit Use to connect Adapter to rack.
Sheet Metal Nut Included in Kit Use to fasten Gray Dress Screws to rack.

1 EIA Rackmount Flange Kit, No Handles

Rackmount Flange

N8262-60109

Included in Kit Use to connect both N8262As to rack.

112

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut
Lock Link Kit
Front Hook
Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Green (Outside 2 feet are optional.)

Rear Foot, Red (Outside 2 feet are optional.)

Included in Kit
Included in Kit
Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20205
0515-1269
N8200-20208

N8200-20201

Use to connect Flanges to N8262As.
Use to connect Flanges to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.

Use to connect front of modules.

Connect order: N8262A, N8262A, N82xxA.
Use with Mounting Plate.

Use on the rear of the N8262As.

Use on the rear of the N82xxA.

Agilent N8200A Series Synthetic Instrument Modules

113



3 Racking into a 19” EIA Rack Cabinet

N8221A by an Adapter with an E7732A 2 EIA Filler Panel

5063-9240
2 EIA Rackmount
Adapter Kit

Front Column

2 EIA Filler Panel Kit (1 MW)

Part of the
2 EIA Rackmount
Adapter Kit

N8200-20201 ‘
Rear Foot, Red

-"'" .-'"" .
" E3666A (Quantity 4)
=y Plain Shelf Use on rear of
o N8221A and
< secure with
existing instrument
SCrews.
Plain Shelf E3666A
2 EIA Filler Panel Kit (1 MW) E7732A Use as a front Filler Panel
that fills the full width of the rack.
Gray Dress Screw Included in Kit Use to connect front Filler Panel to rack.
Sheet Metal Nut Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Adapter Kit, No Handles 5063-9240
Rackmount Adapter Included in Kit Use as a front Filler Panel.
Rackmount Flange Included in Kit Use to connect the N8221A to rack.
Panhead Screw, M4 x 0.7 x 10L Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut Included in Kit Use to fasten Gray Dress Screws to rack.

Rear Foot, Red (All 4 feet are optional.)

N8200-20201

Use on the rear of the N8221A.

114

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

N8221A by an N8221A with an E7732A 2 EIA Filler Panel

5063-9212 ST _
2 EIA Rackmount 2 EIA Filler Panel Kit {1 MW) 5061-9694
Flange Kit i Lock Link Kit

. ]
I

-
N8200-20201 g
Rear Foot, Red ’
(Quantity 4)
Use on rear of
both N8221As
and secure
with existing
instrument
sScrews.

Front Column

" E3666A
cE Plain Shelf

Front Hooks
(Quantity 4)
Flathead Screws
(Quantity 4)

Part of the
2 EIA Rackmount
Flange Kit

e

N8200-20202

Rear Link, Red
(Quantity 2)
= Use on rear of
T both N8221As
; and secure
with existing
instrument
Screws.

Plain Shelf 1 E3666A

2 EIA Filler Panel Kit (1 MW) 1 E7732A
Gray Dress Screw 4 Included in Kit
Sheet Metal Nut 4 Included in Kit

2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit
Gray Dress Screw 4 Included in Kit
Sheet Metal Nut 4 Included in Kit

Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit

Rear Foot, Red (All 4 outside feet are optional.) 4 N8200-20201

Rear Link, Red, Horizontal 2 N8200-20202

Use as a front Filler Panel
that fills the full width of the rack.

Use to connect front Filler Panel to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect both N8221As to rack.
Use to connect Flanges to modules.
Use to connect Flanges to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.
Use to connect front of modules.
Use on rear of both N8221As.

Use to connect N8221A to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules

115



3 Racking into a 19” EIA Rack Cabinet

N8221A by an N8222A with an E7732A 2 EIA Filler Panel
- i

5063-9212 E7732A
2 EIA Rackmount 2 EIA Filler Panel Kit (1 MW) 5061-9694
Flange Kit = [ Lock Link Kit
L -
N8200-20203 l Front Hooks
Rear Foot, Black ’ (Quantity 4)
EJQuantlty 4) 'Y Flathead Screws
se on rear .
tity 4
of N8222A (Quantity 4)
and secure
. - Part of the
with existing
instrument |2:|E|A R;_ckmount
screws. ange Kit

N8200-20205

al Mounting Plate ) 3 - N8200-20201
i . - y ‘ Rear Foot, Red
P {Quantity 4)
Front Column ol J - . H Use on rear
]\ . » * . of N8221A
& .| Connection Order of and secure
o * Mounting Screws, 0515-1269: YV'th existing
g 1) Screws 1 and 2 on N8222A  Instrument
e E3666A 2) Screws 3 and 4 on N8221A  SCrews.
. Plain Shelf
-~
Plain Shelf 1 E3666A
2 EIA Filler Panel Kit (1 MW) 1 E7732A Use as a front Filler Panel
that fills the full width of the rack.
Gray Dress Screw 4 Included in Kit Use to connect front Filler Panel to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of modules to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 N8200-20205 Connect order: N8222A then N8221A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 4 0515-1269 Use with Mounting Plate.

116 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

Rear Foot, Red (Outside 2 feet are optional.) 4 N8200-20201 Use on the rear of the N8221A.

Rear Foot, Black (Outside 2 feet are optional.) 4 N8200-20203 Use on the rear of the N8222A.

Agilent N8200A Series Synthetic Instrument Modules 117



3 Racking into a 19” EIA Rack Cabinet

N8221A by an N824xA with an E7732A 2 EIA Filler Panel

=1 m
5063-9212 E7732A _
2 EIA Rackmount 2 EIAFiller Panel Kit (1 MW) 5061-9694
Flange Kit Lock Link Kit
Front Hooks
(Quantity 4)
Flathead Screws
> (Quantity 4)
N8200-20201 g
Rear Foot, Red Part of the
(Quantity 4) 2 EIA Rackmount
Use on rear of Flange Kit
N8221A. B
3 b = 4 P -~
. - .W o I
¥ i '
% N8200-20203
N8200-20205 [ : . . i Rear Foot, Black
Mounting Plate (Quantity 4)
Front Column L1 . - . Use on rear of
il . N N824xA.
o —— _
o * 1% Connection Order of
P Mounting Screws, 0515-1269:
e E3666A 1%) Screws 1 and 2 on N824xA
e Plain Shelf 2) Screws 3 and 4 on N8221A
Plain Shelf 1 E3666A
2 EIA Filler Panel Kit (1 MW) 1 E7732A Use as a front Filler Panel
that fills the full width of the rack.
Gray Dress Screw 4 Included in Kit Use to connect front Filler Panel to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of modules to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 N8200-20205 Connect order: N824xA then N8221A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 4 0515-1269 Use with Mounting Plate.

118

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

Rear Foot, Red (Outside 2 feet are optional.) 4 N8200-20201 Use on rear of the N8221A.

Rear Foot, Black (Outside 2 feet are optional.) 4 N8200-20203 Use on the rear of the N824xA.

Agilent N8200A Series Synthetic Instrument Modules 119



3 Racking into a 19” EIA Rack Cabinet

N8221A by an N8262A and Adapter with an E7732A 2 EIA Filler Panel

VIR e
E7732A _ 5061-9694
N8200-60101 2 ElA Filler Panel Kit {1 MW) 3 Lock Link Kit
1 EIA Rackmount #
Adapter Kit Front Hooks
(Quantity 1) (Quantity 2)
Flathead Screws
N8200-20208 (Quantity 2)
Rear Foot, Green b
(Quantity 2) 5063-9212
Use on rear 2 EIA Rackmount
of N8262A Flange Kit
and secure (Quantity 1)
with existing /
instrument

SCrews.

N8200-20205 N8200-20201
Y Mounting Plate Rear Foot, Red
A | i
Front Column %5 T v v v {Quantity 4)
el Use on rear of N8221A
o R . . . and secure with existing
P s B ) b - - . instrument screws.
_~_~  EB666A . 2 .| Connection Order of
e Plain Shelf . * Mounting Screws, 0515-1269:
- 1) Screw 1 on N8262A
/\ 2m) Screws 2 and 3 on N8221A
o
Plain Shelf 1 E3666A
2 EIA Filler Panel Kit (1 MW) 1 E7732A Use as a front Filler Panel
that fills the full width of the rack.
Gray Dress Screw 4 Included in Kit Use to connect front Filler Panel to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 1 Included in Kit Use to connect N8221A to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to N8221A.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Adapter Kit, No Handles 1 NB8200-60101
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect N8262A to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 2 Included in Kit Use to connect Flange/Adapter to rack.

120 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

Sheet Metal Nut
Lock Link Kit
Front Hook
Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Green (Outside foot is optional.)

Rear Foot, Red (Outside 2 feet are optional.)

Included in Kit
5061-9694
Included in Kit
Included in Kit
N8200-20205
0515-1269
N8200-20208
N8200-20201

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.
Use to connect front of modules.
Connect order: N8262A, N8221A.
Use with Mounting Plate.

Use on rear of N8262As.

Use on rear of N8221A.

Agilent N8200A Series Synthetic Instrument Modules

121



3

122

Racking into a 19” EIA Rack Cabinet

N8221A by an N8262A and N8262A with an E7732A 2 EIA Filler Panel

Tl

N8262-60109 E7732A 5061-9694

1 EIA Rackmount 2 ElAFiller Panel Kit (1 MW) T Lock Link Kit

Flange Kit -

(Quantity 1) | Front Hooks

(Quantity 4)

N8200-20208 Flathead Screws
Rear Foot, Green L I U~ (Quantity 4)
(Quantity 4)
Use on rear of
both N8262As 5063-9212
and secure 2 EIA Ragkmount
with existing Flange Kit
instrument {Quantity 1)
screws. 4

Front Column

" E3666A
A Plain Shelf

N8200-20205 g, ’ N8200-20201

Mounting Plate Rear Foot, Red
(Quantity 4)

Use on rear of N8221A
and secure with existing

instrument screws.

Connection Order of

Mounting Screws, 0515-1269:
1¢t) Screws 1 and 2 on N8262As
2") Screws 3 and 4 on N8221A

Plain Shelf 1 E3666A
2 EIA Filler Panel Kit (1 MW) 1 E7732A Use as a front Filler Panel
that fills the full width of the rack.
Gray Dress Screw 4 Included in Kit Use to connect front Filler Panel to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 1 Included in Kit Use to connect N8221A to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to N8221A.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Flange Kit, No Handles 1 NB8262-60109
Rackmount Flange 2 Included in Kit Use to connect both N8262As to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flanges to N8262As.
Gray Dress Screw 2 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

3

Lock Link Kit
Front Hook
Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Green (Outside 2 feet are optional.)

Rear Foot, Red (Outside 2 feet are optional.)

5061-9694

Included in Kit

Included in Kit

N8200-20205

0515-1269

N8200-20208
N8200-20201

Use to connect front of modules.

Use to connect front of modules.

Connect order: N8262A, N8262A, N8221A.

Use with Mounting Plate.
Use on rear of N8262As.

Use on rear of N8221A.

Agilent N8200A Series Synthetic Instrument Modules

123



3 Racking into a 19” EIA Rack Cabinet

N8222A by an Adapter with an E7732A 2 EIA Filler Panel
=

E7732A
2 ElAFiller Panel Kit (1 MW)

5063-9240
2 EIA Rackmount
Adapter Kit

Part of the
2 EIA Rackmount
Adapter Kit

zﬁfx.-LJ\lf‘|IL

Front Column

~
N8200-20203
e Rear Foot, Black
o .
J___.--"' ,--""-' E3666A (Quantlty 4)
-
f,_»-"':_,,-*' Plain Shelf Use on rear of
-~ N8222A and
< secure with existing
instrument screws.
~ {f".
Plain Shelf 1 E3666A
2 EIA Filler Panel Kit (1 MW) 1 E7732A Use as a front Filler Panel
that fills the full width of the rack.

Gray Dress Screw 4 Included in Kit Use to connect front Filler Panel to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.

2 EIA Rackmount Adapter Kit, No Handles 1 5063-9240
Rackmount Adapter 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 2 Included in Kit Use to connect the N8222A to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.

Rear Foot, Black (All 4 feet are optional.) 4 N8200-20203 Use on the rear of the N8222A.

124 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

N8222A by an N8222A with an E7732A 2 EIA Filler Panel

5063-9212 E7732A
Flange Kit

N8200-20203
Rear Foot, Black .
(Quantity 4)

Use on rear of
both N8222As

and secure with
existing instrument
screws.

Front Column

- 5061-9694
1 Lock Link Kit

Front Hooks
(Quantity 4)
Flathead Screws
(Quantity 4)

Part of the
2 EIA Rackmount
Flange Kit

N8200-20204
Rear Link, Black
(Quantity 2)

oV Use on rear of both

" E3666A
cE Plain Shelf

N8222As and
secure with existing
instrument screws.

Plain Shelf 1 E3666A

2 EIA Filler Panel Kit (1 MW) 1 E7732A
Gray Dress Screw 4 Included in Kit
Sheet Metal Nut 4 Included in Kit

2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit
Gray Dress Screw 4 Included in Kit
Sheet Metal Nut 4 Included in Kit

Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit

Rear Foot, Black (All 4 outside feet are optional.) 4  N8200-20203

Rear Link, Black, Horizontal 2 N8200-20204

Use as a front Filler Panel
that fills the full width of the rack.

Use to connect front Filler Panel to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect both N8222As to rack.
Use to connect Flanges to modules.
Use to connect Flanges to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect front of modules.
Use to connect front of modules.
Use on rear of both N8222As.

Use to connect N8222A to the N8222A.

Agilent N8200A Series Synthetic Instrument Modules

125



3

126

Racking into a 19” EIA Rack Cabinet

N8222A by an N824xA with an E7732A 2 EIA Filler Panel

5063-9212 E7732A

2 EIA Rackmount 2 ElA Filler Panel Kit {1 MW) 5061-9694

Flange Kit = [ Lock Link Kit

L .

N8200-20203 l
Rear Foot, Black ’ l(:(;%r;tn:g/olz)s
{Quantity 8) . Flathead Screws
Use on rear of Quantity 4
N8222A and (Quantity 4)
N824xA.

Front Column

Part of the
2 EIA Rackmount
Flange Kit

QWUJ‘

N8200-20205 [ 1 H : %] Connection Order of
Mounting Plate Mounting Screws, 0515-1269:
e . 1¢t) Screws 1 and 2 on N824xA

L

L 2) Screws 3 and 4 on N8222A
. T
4 3 1 2
E3666A
Plain Shelf
Plain Shelf 1 E3666A
2 EIA Filler Panel Kit (1 MW) 1 E7732A Use as a front Filler Panel
that fills the full width of the rack.
Gray Dress Screw 4 Included in Kit Use to connect front Filler Panel to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of modules to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 N8200-20205 Connect order: N824xA then N8222A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 4 0515-1269 Use with Mounting Plate.
Rear Foot, Black (Outside 4 feet are optional.) 8  NB8200-20203 Use on the rear of the N824xA and N8222A.

Agilent N8200A Series Synthetic Instrument Modules



N8222A by an N8262A

al

Racking into a 19 EIA Rack Cabinet 3

and Adapter with an E7732A 2 EIA Filler Panel

A configuration of an N8222A by an N8262A and Adapter with an E7732A 2 EIA Filler Panel could not

be done because the mounting plate screw holes can not be accessed for both modules at the same
time. Use the following as an alternate configuration:
N8222A and N8262A by an Adapter with an E7731A 1 EIA Filler Panel.

E7731A

1 EIA Filler Panel Kit (1 MW)

5063-9243
3 EIA Rackmount
Adapter Kit

(Quantity 1) i

N8200-20208
Rear Foot, Green
(Quantity 2)

Use on rear

of N8262A

and secure

with existing
instrument
screws.

N8262-60109
1 EIA Rackmount

Flange Kit
1% i
by (Quantity 1)
il
3w T
'3"::' 5063-9212
G| N8200-20205 2 EIA Rackmount
a Mounting Plate N8200-20203 Flange Kit
Front Column [:_':; _ s 7 - Rear Foot, Black (Quantity 1)
- |a§ » (Quantity 4) Use on rear of
o ‘[ : : : N8222A and secure with
e . e . existing instrument screws.
P E3666A :J Connection Order of
S Plain Shelf

Mounting Screws, 0515-1269:
1¢t) Screw 1 on N8262A
2m) Screws 2 and 3 on N8222A

Plain Shelf

1 EIA Filler Panel Kit (1 MW)

Gray Dress Screw
Sheet Metal Nut

3 EIA Rackmount Adapter Kit, No Handles
Adapter Assembly
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw

Sheet Metal Nut

1 E3666A
1 E7731A Use as a front Filler Panel
that fills the full width of the rack.
2 Included in Kit Use to connect front Filler Panel to rack.
2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5063-9243
1 Included in Kit Use as a 3 EIA front filler panel.
1 Included in Kit This part is not used in this configuration.
3 Included in Kit Use to connect Adapter to N82xxA.
2 Included in Kit Use to connect Adapter to rack.
2 Included in Kit Use to fasten Gray Dress Screws to rack.

Agilent N8200A Series Synthetic Instrument Modules

127



3 Racking into a 19” EIA Rack Cabinet

2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 1 Included in Kit Use to connect N8222A to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to N8222A.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Flange Kit, No Handles 1 N8262-60109
Rackmount Flange 1 Included in Kit Use to connect N8262A to rack.
Panhead Screw, M4 x 0.7 x 10L 1 Included in Kit Use to connect Flange to N8262A.
Gray Dress Screw 1 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 1 Included in Kit Use to fasten Gray Dress Screws to rack.
4 EIA Mounting Plate 1 N8200-20205 Connect order: N8262A, N8222A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 3 0515-1269 Use with Mounting Plate.
Rear Foot, Green (Outside foot is optional.) 2 NB8200-20208 Use on rear of N8262A.
Rear Foot, Black (Outside 2 feet are optional.) 4 N8200-20203 Use on rear of N8222A.

128 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

N8222A by an N8262A and N8262A with an E7732A 2 EIA Filler Panel
[l = Frp
A configuration of an N8222A by an N8262A and N8262A with an E7732A 2 EIA Filler Panel could not
be done because the mounting plate screw holes can not be accessed for all modules at the same
time. Use the following as an alternate configuration:
N8222A and N8262A and N8262A with a 4 EIA Adapter.

N8200-20208
Rear Foot, Green

5063-9245 (Quantity 4)
4 EIA Rackmount Adapter Kit Ufse on rear
Quantity 1 of both N8262As
( v \\ and secure
with existing
~.al4 instrument
= screws. N8262-60109
1 EIA Rackmount
Flange Kit
L i
N I’J\l {IQuan.tlty 1)
3% 431 4
47
i
5063-9212
i|  N8200-20205 ; 2 EIA Rackmount
: Mounting Plate N8200-20203 F|ange Kit
Front Column : R Fo - Rear Foot, Black’ {Quantity 1)
2 ’ (Quantity 4) Use on rear of

N8222A and secure with
existing instrument screws.

“x\ r
NI
LY —
b1
o
—
v

" E3666A

; +J Connection Order of
T Plain Shelf

Mounting Screws, 0515-1269:
1¢t) Screw 1 and 2 on N8262As
2m) Screws 3 and 4 on N8222A

Plain Shelf 1 E3666A
4 EIA Rackmount Adapter Kit, No Handles 1 5063-9245
4 EIA Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
4 EIA Rackmount Flange 1 Included in Kit This part is not used in this configuration.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Adapter to modules.
Gray Dress Screw 2 Included in Kit Use to connect Adapter to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 1 Included in Kit Use to connect N8222A to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to N8222A.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.

Agilent N8200A Series Synthetic Instrument Modules 129



3 Racking into a 19” EIA Rack Cabinet

Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Flange Kit, No Handles 1 NB8262-60109
Rackmount Flange 2 Included in Kit Use to connect N8262As to rack.
Panhead Screw, M4 x 0.7 x 10L 1 Included in Kit Use to connect Flanges to N8262As.
Gray Dress Screw 1 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 1 Included in Kit Use to fasten Gray Dress Screws to rack.
4 EIA Mounting Plate 1 NB8200-20205 Connect order: N8262A, N8222A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 4 0515-1269 Use with Mounting Plate.
Rear Foot, Green (Outside 2 feet are optional.) 4 N8200-20208 Use on rear of N8262As.
Rear Foot, Black (Outside 2 feet are optional.) 4 N8200-20203 Use on rear of N8222A.

130 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

N824xA by an Adapter with an E7732A 2 EIA Filler Panel

E7732A
2 EIA Filler Panel Kit (1 MW)

5063-9240
2 EIA Rackmount
Adapter Kit

Part of the
2 EIA Rackmount
Adapter Kit

Front Column

o ? N8200-20203
S E3666A > Rear Foot, Black

,,-"‘;«""J Plain Shelf (Quantity 4)
'f,f’ Use on rear of
the N824xA.
-
Plain Shelf 1 E3666A
2 EIAFiller Panel Kit (1 MW) 1 E7732A Use as a front Filler Panel
that fills the full width of the rack.
Gray Dress Screw 4 Included in Kit Use to connect front Filler Panel to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Adapter Kit, No Handles 1 5063-9240
Rackmount Adapter 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect the N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Rear Foot, Black (All 4 feet are optional.) 4 N8200-20203 Use on rear of the N824xA.

Agilent N8200A Series Synthetic Instrument Modules 131



3 Racking into a 19” EIA Rack Cabinet

N824xA by an N8221A with an E7732A 2 EIA Filler Panel

=01
5063-9212 E7732A
2 EIA Rapkmount 2 ElA Filler Panel Kit {1 MW) 5061-9694
Flange Kit . Lock Link Kit
-

Front Hooks

BJ

(Quantity 4)
Flathead Screws
- (Quantity 4)
N8200-20201 g ]
Rear Foot, Red i ) Part of the
(Quantity 4) 2 EIA Rackmount
Use on rear of - Flange Kit
N8221A. g i
' b
4 N 524
3?
i N8200-20203
o N8200-20205 [ & X - : Rear Foot, Black
o | Mounting Plate (Quantity 4)
Front Column o . - . Use on rear of
P ol = > g N824xA.
/ SIS _
S ¥, , Connection Order of
P Mounting Screws, 0515-1269:
L E3666A 19 Screws 1 and 2 on N824xA
5 Plain Shelf > 2 Screws 3 and 4 on N8221A
Plain Shelf 1 E3666A
2 EIA Filler Panel Kit (1 MW) 1 E7732A Use as a front Filler Panel
that fills the full width of the rack.
Gray Dress Screw 4 Included in Kit Use to connect front Filler Panel to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of modules to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 N8200-20205 Connect order: N824xA then N8221A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 4 0515-1269 Use with Mounting Plate.
Rear Foot, Red (Outside 2 feet are optional.) 4 N8200-20201 Use on rear of the N8221A.
Rear Foot, Black (Outside 2 feet are optional.) 4 N8200-20203 Use on the rear of the N824xA.

132

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

N824xA by an N8222A with an E7732A 2 EIA Filler Panel

5063-9212 E7732A
2 EIA Rackmount 2 ElA Filler Panel Kit {1 MW) 5061-9694
Flange Kit Lock Link Kit

N8200-20203
Rear Foot, Black ’
(Quantity 8)

Use on rear of

N8222A and
N824xA.

N8200-20205 [ * H .
Mounting Plate

# a

L

Front Column

Connection Order of
Mounting Screws, 0515-1269:
1¢t) Screws 1 and 2 on N824xA

Front Hooks
(Quantity 4)
Flathead Screws
(Quantity 4)

Part of the
2 EIA Rackmount
Flange Kit

et

e 2") Screws 3 and 4 on N8222A
L it
e 4 3 1 2
ol
P E3666A
e ol Plain Shelf
-~
Plain Shelf 1 E3666A
2 EIA Filler Panel Kit (1 MW) 1 E7732A Use as a front Filler Panel
that fills the full width of the rack.

Gray Dress Screw 4 Included in Kit Use to connect front Filler Panel to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.

2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of modules to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.

Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.

4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA then N8222A.

Flat Head Mounting Screw, M4 x 0.7 x 10L 4 0515-1269 Use with Mounting Plate.

Rear Foot, Black (Outside 4 feet are optional.) 8  NB8200-20203 Use on the rear of the N824xA and N8222A.

Agilent N8200A Series Synthetic Instrument Modules

133



3 Racking into a 19” EIA Rack Cabinet

N824xA by an N824xA with an E7732A 2 EIA Filler Panel

5063-9212 E7732A _
2 EIA Rackmount 2 ElA Flllel' Panel K|t (1 MW) 5061-9694
Flange Kit = - Lock Link Kit
-
J| Front Hooks
(Quantity 4)
Flathead Screws
- (Quantity 4)
Part of the
2 EIA Rackmount
” Flange Kit
“ Lu ~
v 7
S % N8200-20203
Rear Foot, Black
(Quantity 4)
Use on rear of
ACUHC T both N824xAs.
- » N8200-20204
T e R .
e : ear Link, Black
f_,f' - E3666A > {Quantity 2)
e ol Plain Shelf
-~
Plain Shelf 1 E3666A
2 EIA Filler Panel Kit (1 MW) 1 E7732A Use as a front Filler Panel
that fills the full width of the rack.
Gray Dress Screw 4 Included in Kit Use to connect front Filler Panel to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect both N824xAs to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.
Rear Foot, Black (All 4 outside feet are optional.) 4  N8200-20203 Use on rear of both N824xAs.
Rear Link, Black, Horizontal 2 NB8200-20204 Use to connect N824xA to the N824xA.

134 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

N824xA by an N8262A and Adapter with an E7732A 2 EIA Filler Panel

E7732A
N8200-60101

1 EIA Rackmount Adapter Kit

N8200-20208
Rear Foot, Green
(Quantity 2)

Use on the rear
of N8262A.

2 EIA Filler Panel Kit (1 MW)

5061-9694
Lock Link Kit

2| Front Hooks
(Quantity 2)
Flathead Screws
(Quantity 2)

5063-9212
2 EIA Rackmount
Flange Kit

Oy 3 | 9 o
el
% N8200-20203
o = . Rear Foot, Black
a1 N8200-20205 [ . . : . (Quantity 4)
Front Column -~ Mounting Plate ’ H L g Use on rear
:T: - *' : of N824xA.
- ;_x" + 7, 3 «| Connection Order of
" E3666A 3 8 Mounting Screws, 0515-1269:
A Plain Shelf { 1%t) Screws 1 and 2 on N824xA
= 2") Screw 3 on N8262A
/\ =
Plain Shelf 1 E3666A
2 EIA Filler Panel Kit (1 MW) 1 E7732A Use as a front Filler Panel
that fills the full width of the rack.
Gray Dress Screw 4 Included in Kit Use to connect front Filler Panel to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 1 Included in Kit Use to connect N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to N824xA.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Adapter Kit, No Handles 1 NB8200-60101
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect N8262A to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 2 Included in Kit Use to connect Flange/Adapter to rack.

Agilent N8200A Series Synthetic Instrument Modules

135



3 Racking into a 19” EIA Rack Cabinet

Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694

Front Hook 2 Included in Kit Use to connect front of modules.

Flat Head Screw, M4 x 0.7 x 6L 2 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA then N8262A
Flat Head Mounting Screw, M4 x 0.7 x 10L 3 0515-1269 Use with Mounting Plate.
Rear Foot, Green (Outside foot is optional.) 2 N8200-20208 Use on rear of N8262A.
Rear Foot, Black (Outside 2 feet are optional.) 4 N8200-20203 Use on rear of N824xA.

136 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

Tl =S
N8262-60109 E7732A .
1 EIA Rackmount ) 2 EIA Filler Panel Kit (1 MW) 5061-9694
Flange Kit N f Lock Link Kit
(Quantity 1) e

/| Front Hooks

N8200-20208 (Quantity 4)
Rear Foot, Green L Flathead Screws
(Quantity 4) » (Quantity 4)
Use on rear of
both N8262As.
5063-9212
2 EIA Rackmount
R‘Hl Flange Kit
)(/X s s

Oy 3 | 9 o
el
% N8200-20203
o . Rear Foot, Black
= N8200-20205 [ = . . i (Quantity 4)
Front Column el Mounting Plate| , Use on rear
B :T: . *' . of N824xA.
o o . . «| Connection Order of
" E3666A 3 8 Mounting Screws, 0515-1269:
A Plain Shelf 4 T2 4s) Screws 1 and 2 on N824xA
L 2M) Screws 3 and 4 on N8262As
Plain Shelf 1 E3666A
2 EIA Filler Panel Kit (1 MW) 1 E7732A Use as a front Filler Panel
that fills the full width of the rack.
Gray Dress Screw 4 Included in Kit Use to connect front Filler Panel to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 1 Included in Kit Use to connect N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange to N824xA.
Gray Dress Screw 2 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Flange Kit, No Handles 1 NB8262-60109
Rackmount Flange 2 Included in Kit Use to connect both N8262As to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flanges to N8262As.
Gray Dress Screw 2 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.

Agilent N8200A Series Synthetic Instrument Modules 137



3 Racking into a 19” EIA Rack Cabinet

Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA, N8262A, N8262A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 4 0515-1269 Use with Mounting Plate.
Rear Foot, Black (Outside 2 feet are optional.) 4 N8200-20203 Use on the rear of the N824xA.
Rear Foot, Green (Outside 2 feet are optional.) 4 N8200-20208 Use on the rear of the N8262As.

138 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

- m N824xA and Adapter by an N8221A and N8221A

5063-9212
NePAit 2P0l = - o 2 EIA Rackmount <) 506; I?'GiAfK't
Rear Foot, Red By [ FI Kit ock Link Ki
ks - N iJ ange Ki
A I ~ | Front Hook

Use on rear of both

(Quantity 4)
N8221As and Flathead Screw
secure with existing (Quantity 4)

instrument screws.

5063-9240
2 EIA Rackmount
N8200-20211 Adapter Kit
Rear Link, Blue _ : (Quantity 1)
(Quantity 2) 7" S LA -
Secure with P s R A T
existing . 4 IJ\‘ i
instrument : -
screws. /T N8200-20205 6 ;
4| Mounting Plate N8200-20203
dl 3 4 Rear Foot, Black
o : v (Quantity 4)
Front Column -3 1L Secure with existing
f ,]\{.1: . - ' instrument screws.
= R, Y I
e 5 | _| Connection Order of
ot :) Mounting Screws, 0515-1269:
- -~
et E3666A 2 1%) Screws 1 and 2 on N824xA
e Plain Shelf 2') Screws 3 and 4 on N8221A
= 34) Screws 5 and 6 on N8221A
Plain Shelf 1 E3666A
2 EIA Rackmount Adapter Kit, No Handles 1 5063-9240
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect front of the N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of N8221As to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to N8221As.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules 139



3 Racking into a 19” EIA Rack Cabinet

Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA then N8221As
Flat Head Mounting Screw, M4 x 0.7 x 10L 6 0515-1269 Use with Mounting Plate.
Rear Foot, Black (Outside 2 feet are optional.) 4 N8200-20203 Use on the rear of the N824xA.
Rear Foot, Red (Outside 2 feet are optional.) 6  N8200-20201 Use on the rear of the N8221As.
Rear Link, Blue, Vertical 1 N8200-20211 Use to connect N8221A to the N8221A.

140 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

#EE N824xA and Adapter by an N8221A and N8222A
-

==

N8200-20203 & [y 4 2 EIA Rackmount Lock Link Kit
Rear Foot, Black N iJ Flange Kit
(Quantity 8) . 9| Front Hook
Use on rear of (Quantity 4)
N8222A and N824xA Flathead Screw
and secure with existing (Quantity 4)
instrument screws.

5063-9240
N8200-20201 ’ : 2 EIA Rackmount
Rear Foot, Red Adapter Kit
(Quantity 4) -
Use on rear of 3
N8221A and

secure with existing
instrument screws.

N8200-20205 | * -

Mounting Plate

Front Column Connection Order of

» . . Mounting Screws, 0515-1269:
. % | 1) Screws 1 and 2 on N824xA
-~ 2M) Screws 3 and 4 on N8222A
/’J,,’ - e :‘ 1| 39) Screws 5 and 6 on N8221A
.-?H___,.-" 1 2
-
Plain Shelf 1 E3666A
2 EIA Rackmount Adapter Kit, No Handles 1 5063-9240
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect front of the N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of N822xAs to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to N822xAs.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules 141



3 Racking into a 19” EIA Rack Cabinet

Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA, N8222A, N8221A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 6 0515-1269 Use with Mounting Plate.
Rear Foot, Black (Outside 4 feet are optional.) 8  N8200-20203 Use on the rear of the N8222A and N824xA.
Rear Foot, Red (Outside 2 feet are optional.) 4 N8200-20201 Use on the rear of the N8221A.

142 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

“z2g N824xA and Adapter by an N8221A and N824xA
o .I..;:.:.i l £ -
5063-9240 ) 5061-9.694 .
2 EIA Rackmount Lock Link Kit
Adapter Kit - g
(Quantity 1) H Front Hook
> : ‘] (Quantity 4)
.+ Flathead Screw
(Quantity 4)
| = ) 5063-9212
N8200-20201 - 2 EIA Rackmount

Rear Foot, Red
(Quantity 4)
Use on rear of
N8221A and
secure with
existing
instrument
SCrews.

N8200-20205
Mounting Plate -

*

S a5

]

&
o

Front Column

-

ot
~_~" E3666A

-

2

Flange Kit
7] (Quantity 1)

g™

N8200-20203
Rear Foot, Black
(Quantity 6)

Use on rear of
both N824xAs

and secure with
existing instrument
screws.

N8200-20214
Rear Link, Green
(Quantity 1) Use on rear of
both N824xAs and secure with
existing instrument screws.

~-y

Connection Order of
Mounting Screws, 0515-1269:
1¢t) Screws 1 and 2 on N824xA

-~ Plain Shelf 27) Screws 3 and 4 on N824xA
34) Screws 5 and 6 on N8221A
Plain Shelf 1 E3666A
2 EIA Rackmount Adapter Kit, No Handles 1 5063-9240
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect front of the N8221A to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of N824xAs to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to N824xAs.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules

143



3 Racking into a 19” EIA Rack Cabinet

Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA, N824xA, N8221A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 6 0515-1269 Use with Mounting Plate.
Rear Foot, Black (Outside 4 feet are optional.) 6  N8200-20203 Use on the rear of both N824xAs.
Rear Foot, Red (Outside 2 feet are optional.) 4 N8200-20201 Use on the rear of the N8221A.
Rear Link, Green, Vertical 1 NB8200-20214 Use to connect N824xA to the N824xA.

144 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

. N824xA and Adapter by an N8221A and N8262A with a 1 EIA Filler

N8200-60101 E7731A

5063-9212 1 EIA Rackmount 1 EIA Filler Panel Kit (1 MW)

2 EIA Rackmount Adapter Kit

Flange Kit : ’ = 5061-9694
N8200-20208 -2 ‘ 1. \ ¥ ", Lock Link Kit
Rear Foot, Green .I : H‘M Iy Front Hook
o - \ (Quantity 4)
of N8262A and . 1 J Flathea_d Screw
secure with existing . il & r (CTELILZCY
instrument screws. 4 : ;Aﬁﬁ] ™, 4~ Part of

- ' Al ' 1 EIA Rackmount

N8200-20201 ’ . ;Tj L Adapter Kit
Rear Foot, Red L= .
(Quantity 4) 4" 3% :
Use on rear 5" Partof = ¥
of N8221Aand A ¥ » 2 EIARackmount
secure with existing |11 N8200-20205 Flange Kit
instrument screws. |i

Mounting Plate 3
y N8200-20203

Rear Foot, Black

) (Quantity 4)
Connection Order of Use on rear

Mounting Screws, 0515-1269: of N824xA and
1¢) Screws 1 and 2 on N824xA  (.cure with
2") Screw 3 on N8262A existing

2 3") Screws 4 and 5 on N8221A . ctrument

Front Column

" E3666A

Pl Plain Shelf
Plain Shelf 1 E3666A
1 EIA Filler Panel Kit (1 MW) 1 E7731A Use as a front Filler Panel
that fills the full width of the rack.
Gray Dress Screw 2 Included in Kit Use to connect front Filler Panel to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect two 2 EIA modules to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to module.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Adapter Kit, No Handles 1 NB8200-60101
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect N8262A to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 2 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.

Agilent N8200A Series Synthetic Instrument Modules 145



3 Racking into a 19” EIA Rack Cabinet

Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA, N8262A, N8221A,
Flat Head Mounting Screw, M4 x 0.7 x 10L 5 0515-1269 Use with Mounting Plate
Rear Foot, Green (Outside foot is optional.) 2 N8200-20208 Use on rear of N8262A.
Rear Foot, Red (Outside 2 feet are optional.) 4 N8200-20201 Use on rear of N8221A.
Rear Foot, Black (Outside 2 feet are optional.) 4 N8200-20203 Use on the rear of N824xA.

146 Agilent N8200A Series Synthetic Instrument Modules



5063-9212

2 EIA Rackmount 2 r

Flange Kit
(Quantity 1) "

N8200-20208

Rear Foot, Green
(Quantity 4)

Use on rear of both
N8262As and secure
with existing
instrument screws.

N8200-20201 o
Rear Foot, Red
(Quantity 4)
Use on rear
of N8221A and
secure with existing [

instrument screws. N8200-20205

Mounting Plate 3 4

Front Column

Racking into a 19" EIA Rack Cabinet

N8262-60109
1 EIA Rackmount
D Flange Kit {Quantity 1)

21

N824xA and Adapter by an N8221A and N8262A and N8262A

5061-9694

"\| Lock Link Kit

| Front Hook
ﬁ/ (Quantity 4)
Flathead Screw
(Quantity 4)

5063-9240
2 EIA Rackmount
| o Adapter Kit
-

» N8200-20203

Connection Order of

Rear Foot, Black
(Quantity 4)

Use on rear

of N824xA and
secure with existing
instrument screws.

Mounting Screws, 0515-1269:

3

L
i E3666A 1) Screws 1 and 2 on N824xA
o Plain Shelf 2") Screws 3 and 4 on N8262As
- 3) Screws 5 and 6 on N8221A
Plain Shelf 1 E3666A
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212

Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

2 EIA Rackmount Adapter Kit, No Handles
Adapter Assembly
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

1 EIA Rackmount Flange Kit, No Handles

Rackmount Flange

2 Included in Kit
4 Included in Kit
4 Included in Kit
4 Included in Kit
1 5063-9240

1 Included in Kit
1 Included in Kit
2 Included in Kit
2 Included in Kit
2 Included in Kit
1 NB8262-60109

2 Included in Kit

Use to connect two 2 EIA modules to rack.

Use to connect Flanges to module.
Use to connect Flanges to rack.

Use to fasten Gray Dress Screws to rack.

Use as a front Filler Panel.

This part is not used in this configuration.
Use to connect Adapter to N8262As.

Use to connect Adapter to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect both N8262As to rack.

Agilent N8200A Series Synthetic Instrument Modules

147



3 Racking into a 19” EIA Rack Cabinet

Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flanges to N8262As.
Gray Dress Screw 2 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 N8200-20205 Connect order: N824xA, N8262As, N8221A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 6 0515-1269 Use with Mounting Plate
Rear Foot, Black (Outside 2 feet are optional.) 4 N8200-20203 Use on the rear of the N824xA.
Rear Foot, Green (Outside 2 feet are optional.) 4 N8200-20208 Use on rear of N8262As.
Rear Foot, Red (Outside 2 feet are optional.) 4 N8200-20201 Use on rear of N8221A.

148 Agilent N8200A Series Synthetic Instrument Modules



5063-9212

Racking into a 19" EIA Rack Cabinet

E N824xA and Adapter by an N8222A and N8222A

H 2 EIA Rack ¢ 5061-9694
N8200-20203 . S Flange ;ﬁ moun Lock Link Kit
Rear Foot, Black A > fi 5
(Quantity 10) . | Front I-!ook
Use on rear of both (Quantity 4)
N8222As and Flathea_d Screw
N824xA and (Quantity 4)

secure with existing
instrument screws.

N8200-20214

Rear Link, Green
{Quantity 1)

Use on rear of both
N8222As and secure
with existing
instrument screws.

N8200-20205
Mounting Plate 3

LR .

5063-9240
2 EIA Rackmount
| . Adapter Kit
‘ J

N

Connection Order of

Mounting Screws, 0515-1269:
1¢t) Screws 1 and 2 on N824xA
2") Screws 3 and 4 on N8222A
3) Screws 5 and 6 on N8222A

. 2
Plain Shelf A
Plain Shelf 1 E3666A
2 EIA Rackmount Adapter Kit, No Handles 1 5063-9240
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect N824xA to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of N8222As to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flange to N8222As.
Gray Dress Screw 4 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules

149



3 Racking into a 19” EIA Rack Cabinet

4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA then both N8222As.
Flat Head Mounting Screw, M4 x 0.7 x 10L 6  0515-1269 Use with Mounting Plate.

Rear Foot, Black (Outside 4 feet are optional.) 10  N8200-20203 Use on rear of both N8222As and N824xA.
Rear Link, Green, Vertical 1 NB8200-20214 Use to connect N8222A to the N8222A.

150 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

w2z g N824xA and Adapter by an N8222A and N824xA

5063-9240
2 EIA Rackmount

N8200-20203
Rear Foot, Black
(Quantity 10)
Use on rear of
N8222A and

both N824xAs.

N8200-20205

e Mounting Plate
Front Column 1 H
l\T T 4
.4

4 3

5061-9694
J'\ Lock Link Kit

Front Hook

(Quantity 4)

Flathead Screw

(Quantity 4)

5063-9212

2 EIA Rackmount
Flange Kit
(Quantity 1)

&

N8200-20214
Rear Link, Green
(Quantity 1)

.| Connection Order of

et +J Mounting Screws, 0515-1269:
ot E3666A 2 1¢t) Screws 1 and 2 on N824xA
e e Plain Shelf 2v) Screws 3 and 4 on N824xA
= 3) Screws 5 and 6 on N8222A
Plain Shelf 1 E3666A
2 EIA Rackmount Adapter Kit, No Handles 1 5063-9240

Adapter Assembly
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut
2 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut
Lock Link Kit
Front Hook

Flat Head Screw, M4 x 0.7 x 6L

1 Included in Kit Use as a front Filler Panel.

1 Included in Kit Use to connect front of the N8222A to rack.
4 Included in Kit Use to connect Flange/Adapter to modules.
4 Included in Kit Use to connect Flange/Adapter to rack.
4 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5063-9212

2 Included in Kit Use to connect front of N824xAs to rack.
4 Included in Kit Use to connect Flanges to N824xAs.
4 Included in Kit Use to connect Flanges to rack.
4 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5061-9694

4 Included in Kit Use to connect front of modules.

4 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules

151



3 Racking into a 19” EIA Rack Cabinet

4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA, N824xA, N8222A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 6  0515-1269 Use with Mounting Plate.

Rear Foot, Black (Outside 4 feet are optional.) 10  N8200-20203 Use on the rear of N824xAs and N8222A.
Rear Link, Green, Vertical 1 NB8200-20214 Use to connect N824xA to the N824xA.

152 Agilent N8200A Series Synthetic Instrument Modules



ol Tens

N8200-60101

5063-9212
1 EIA Rackmount

2 EIA Ra_ckmount Adapter Kit
Flange Kit )

N8200-20208 = ‘

Rear Foot, Green J

(Quantity 2)

Use on rear -

of N8262A and ¥

secure with existing
instrument screws.

v
N8200-20203
Rear Foot, Black ’
(Quantity 8)
Use on rear of >
N8222A and
N824xA and N8200-20205

secure with existing

Mounting Plate 3
instrument screws. . ¢

Front Column

~ " E3666A
; - Plain Shelf

Racking into a 19" EIA Rack Cabinet

E7731A

N824xA and Adapter by an N8222A and N8262A with a 1 EIA Filler

1 EIA Filler Panel Kit (1 MW)

Connection Order of

-~ 5061-9694
l Lock Link Kit

o Front Hook

(Quantity 4)
J Flathead Screw

(Quantity 4)

Part of

% 1 EIA Rackmount

_ Adapter Kit

Part of v,

2 EIA Rackmount
Flange Kit

Mounting Screws, 0515-1269:
1¢t) Screws 1 and 2 on N824xA
2") Screw 3 on N8262A

3) Screws 4 and 5 on N8222A

3

Plain Shelf

1 EIA Filler Panel Kit (1 MW)

Gray Dress Screw
Sheet Metal Nut

2 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

1 EIA Rackmount Adapter Kit, No Handles
Adapter Assembly
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw

Sheet Metal Nut

E3666A
E7731A

Included in Kit
Included in Kit
5063-9212
Included in Kit
Included in Kit
Included in Kit
Included in Kit
N8200-60101
Included in Kit
Included in Kit
Included in Kit
Included in Kit

Included in Kit

Use as a front Filler Panel
that fills the full width of the rack.

Use to connect front Filler Panel to rack.

Use to fasten Gray Dress Screws to rack.

Use to connect two 2 EIA modules to rack.
Use to connect Flanges to module.
Use to connect Flange to rack.

Use to fasten Gray Dress Screws to rack.

Use as a front Filler Panel.

Use to connect N8262A to rack.

Use to connect Flange/Adapter to modules.

Use to connect Flange/Adapter to rack.

Use to fasten Gray Dress Screws to rack.

Agilent N8200A Series Synthetic Instrument Modules

153



3 Racking into a 19” EIA Rack Cabinet

Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA, N8262A, N8222A,
Flat Head Mounting Screw, M4 x 0.7 x 10L 5 0515-1269 Use with Mounting Plate
Rear Foot, Green (Outside foot is optional.) 2 N8200-20208 Use on rear of N8262A.
Rear Foot, Black (Outside 4 feet are optional.) 8  NB8200-20203 Use on the rear of N824xA and N8222A.

154 Agilent N8200A Series Synthetic Instrument Modules



=

Racking into a 19" EIA Rack Cabinet

=== N824xA and Adapter by an N8222A and N8262A and N8262A

5063-9212 N8262-60109
2 EIA Rackmount =, 4 1 EIARackmount
Flange Kit D Flange Kit (Quantity 1) - 5061-9694
(Quantity 1) ® f~ E : Lock Link Kit
N8200-20208 i,J g
Rear Foot, Green Front Hook
i - (Quantity 4)
{Quantity 4) . Eath dys
Use on rear of both ' » Qa e?’t 4crew
N8262As and secure ; (Quantity 4)
with existing b 5063-9240
instrument screws. v 2 EIA Rackmount
|  Adapter Kit
N8200-20203 ~ ,
Rear Foot, Black xﬁ e,
(Quantity 8) N8200-20205 24 Lu

Use on rear of both
N8222As and
N824xA and secure
with existing
instrument screws.

Mounting Plate

Connection Order of

Mounting Screws, 0515-1269:
1¢t) Screws 1 and 2 on N824xA
2m) Screws 3 and 4 on N8262As

Front Column

- _.f""ﬂ 3) Screws 5 and 6 on N8222A
" E3666A >
L Plain Shelf )
- -
Plain Shelf 1 E3666A
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect two 2 EIA modules to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to module.
Gray Dress Screw 4 Included in Kit Use to connect Flange to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Adapter Kit, No Handles 1 5063-9240
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit This part is not used in this configuration.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Adapter to N8262As.
Gray Dress Screw 2 Included in Kit Use to connect Adapter to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Flange Kit, No Handles 1 NB8262-60109
Rackmount Flange 2 Included in Kit Use to connect both N8262As to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flanges to N8262As.

Agilent N8200A Series Synthetic Instrument Modules

155



3 Racking into a 19” EIA Rack Cabinet

Gray Dress Screw 2 Included in Kit Use to connect Flanges to rack.

Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694

Front Hook 4 Included in Kit Use to connect front of modules.

Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 N8200-20205 Connect order: N824xA, N8262As, N8222A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 6 0515-1269 Use with Mounting Plate
Rear Foot, Green (Outside 2 feet are optional.) 4 N8200-20208 Use on rear of N8262As.
Rear Foot, Black (Outside 4 feet are optional.) 8  N8200-20203 Use on the rear of the N824xA and N8222A.

156 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

5063-9240
2 EIA Rackmount

Adapter Kit = -
(Quantity 1)

|
N8200-20201 ¥
Rear Foot, Red ’ ;
(Quantity 4)

Use on rear of

N8221A and

secure with 5"
existing L
T N8200-20205
Mounting Plate ~ 4 3
; i

instrument
sScrews.
Rear Link, Green

Front Column

Connection Order of

N8200-20214

(Quantity 1) Use on rear of
both N824xAs and secure with
existing instrument screws.

N824xA and N824xA by an N8221A and an Adapter

5061-9694
Lock Link Kit

Front Hook
(Quantity 4)
Flathead Screw
(Quantity 4)

5063-9212
2 EIA Rackmount
Flange Kit

| (Quantity 1)

g™

ki N8200-20203
Rear Foot, Black
(Quantity 6)

Use on rear of
both N824xAs

and secure with
existing instrument

- screws.
W Mounting Screws, 0515-1269:
-~ [E3666A 1s) Screws 1 and 2 on N824xA
Plain Shelf 2) Screws 3 and 4 on N824xA
31) Screws 5 and 6 on N8221A
Plain Shelf 1 E3666A
2 EIA Rackmount Adapter Kit, No Handles 1 5063-9240
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect front of the N8221A to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of N824xAs to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to N824xAs.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules

157



3 Racking into a 19” EIA Rack Cabinet

4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA, N824xA, N8221A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 6  0515-1269 Use with Mounting Plate.

Rear Foot, Black (Outside 2 feet are optional.) 6  N8200-20203 Use on the rear of both N824xAs.

Rear Link, Green, Vertical 1 NB8200-20214 Use to connect N824xA to the N824xA.
Rear Foot, Red (Outside 2 feet are optional.) 4 N8200-20201 Use on the rear of the N8221A.

158 Agilent N8200A Series Synthetic Instrument Modules



N8200-20201

Rear Foot, Red
(Quantity 6)

Use on rear of both
N8221A and secure
with existing
instrument screws.

N8200-20211

Rear Link, Blue
(Quantity 1) and
secure with existing
instrument screws.

N8200-20205 g%
Mounting Plate

6 5 4
7 —
Hi—3— &

Front Column

2 EIA Rackmount
Flange Kit

Racking into a 19" EIA Rack Cabinet

2 m N824xA and N824xA by an N8221A and N8221A

5061-9694
Lock Link Kit

& || Front Hook
» ‘j {(Quantity 8)
3. Flathead Screw
e, (Quantity 8)
5063-9212
2 EIA Rackmount
Flange Kit
{Quantity 2)

N8200-20203

3 g Rear Foot, Black

N8200-20214
Rear Link, Green
(Quantity 1)

(Quantity 6)

Use on rear

of both N824xAs
and secure with
existing instrument

- . «| Connection Order of
. 3 “ Mounting Screws, 0515-1269;  SCTeWs.
= 12 1) Screws 1 and 2 on N824xA
e 2} Screws 3 and 4 on N824xA
i Ef@GGSAh . ’ 3 Screws 5 and 6 on N8221A
o an she ,/’*I 4") Screws 7 and 8 on N8221A
Plain Shelf 1 E3666A
2 EIA Rackmount Flange Kit, No Handles 2 5063-9212

Rackmount Flange

Panhead Screw, M4 x 0.7 x 10L

Gray Dress Screw

Sheet Metal Nut
Lock Link Kit

Front Hook

Flat Head Screw, M4 x 0.7 x 6L
4 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Link, Green, Vertical
Rear Foot, Red (Outside 2 feet are optional.)

Rear Link, Blue, Vertical

4 Included in Kit Use to connect front of modules to rack.

8 Included in Kit Use to connect Flanges to modules.
8 Included in Kit Use to connect Flanges to rack.
8 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5061-9694

8 Included in Kit Use to connect front of modules.

8 Included in Kit Use to connect front of modules.

1 N8200-20205 Connect order: N824xAs then N8221As

8 0515-1269 Use with Mounting Plate.
6  N8200-20203 Use on the rear of both N824xAs.
1 N8200-20214 Use to connect N824xA to the N824xA.
6  N8200-20201 Use on the rear of the N8221As.

1 N8200-20211 Use to connect N8221A to the N8221A.

Agilent N8200A Series Synthetic Instrument Modules

159



3

160

Racking into a 19” EIA Rack Cabinet

S s N824xA and N824xA by an N8221A and N8222A

N8200-20203
Rear Foot, Black
(Quantity 10)
Use on rear of
N8222A and

N824xAs.

N8200-20201
Rear Foot, Red
(Quantity 4)
Use on rear of
N8221A.

Front Column

2 EIA Rackmount
Flange Kit

5061-9694
Lock Link Kit

2| Front Hook

(Quantity 8)

Flathead Screw

(Quantity 8)

5063-9212

2 EIA Rackmount
Flange Kit
(Quantity 2)

N8200-20214
Rear Link, Green
(Quantity 1)

Connection Order of

H,f:,»”/ Mounting Screws, 0515-1269:
-.___,-";____, - . . ¥ o 1% Screws 1 and 2 on N824xA
3 E3666A P " 2") Screws 3 and 4 on N824xA
~ Plain Shelf 2
' ain She B 12 3n) Screws 5 and 6 on N8222A
Y et 4") Screws 7 and 8 on N8221A
Plain Shelf 1 E3666A
2 EIA Rackmount Flange Kit, No Handles 2 5063-9212
Rackmount Flange 4 Included in Kit Use to connect front of modules to rack.
Panhead Screw, M4 x 0.7 x 10L 8 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 8 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 8 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 8  Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 8 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 N8200-20205 Connect order: N824xAs, N8222A, N8221A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 8 0515-1269 Use with Mounting Plate.
Rear Foot, Black (Outside 4 feet are optional.) 10  N8200-20203 Use on the rear of the N8222A and
N824xAs.
Rear Link, Green, Vertical 1 NB8200-20214 Use on the rear of N824xA and N824xA.
Rear Foot, Red (Outside 2 feet are optional.) 4 N8200-20201 Use on the rear of the N8221A.

Agilent N8200A Series Synthetic Instrument Modules



N8200-20203
Rear Foot, Black 2, e 2 EIA Rackmount
fa, Flange Kit

(Quantity 6)

Use on rear of

all N824xAs and
secure with existing
instrument screws.

N8200-20201
Rear Foot, Red
(Quantity 4)
Use on rear of
N8221A and
secure with existing
instrument screws.

N8200-20204
Rear Link, Black

(Quantity 2)

Use on rear of both N8200-20206

N824xAs and Mounting Plate

secure with existing . »

instrument screws. . !
" = 1

Front Column ® 1

" E3666A
e Plain Shelt

Racking into a 19 EIA Rack Cabinet 3

=1 N824xA and N824xA by an N8221A and N824xA

5061-9694
Lock Link Kit

&' | Front Hook

o . (Quantity 8)
.. Flathead Screw
i N (Quantity 8)

5063-9212

2 EIA Rackmount
Flange Kit
Quantlty 2)

;

. N8200-20214
b Rear Link, Green
(Quantity 1) Use on the
rear of both N824xA and
secure with existing

instrument screws.

Connection Order of

Mounting Screws, 0515-1269:

1st) Screws 1 and 2 on N824xA (bottom)
2") Screws 3 and 4 on N8221A (bottom)
31) Connect N824xAs with Rear Links.

Plain Shelf
2 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut
Lock Link Kit
Front Hook
Flat Head Screw, M4 x 0.7 x 6L
2 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 4 feet are optional.)
Rear Foot, Red (Outside 2 feet are optional.)
Rear Link, Black, Horizontal

Rear Link, Green, Vertical

1 E3666A

2 5063-9212

4 Included in Kit Use to connect front of module to rack.
8 Included in Kit Use to connect Flanges to modules.
8 Included in Kit Use to connect Flanges to rack.
8 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5061-9694

8 Included in Kit Use to connect front of modules.

8 Included in Kit Use to connect front of modules.

1 NB8200-20206 Connect order: Bottom N824xA, N8221A.

4 0515-1269 Use with Mounting Plate.
6  N8200-20203 Use on the rear of the N824xAs.
4 N8200-20201 Use on the rear of the N8221A.
2 N8200-20204 Use on the rear of N824xA and N824xA.

1 N8200-20214 Use on the rear of N824xA and N824xA.

Agilent N8200A Series Synthetic Instrument Modules

161



3

162

Racking into a 19” EIA Rack Cabinet

“=2g . N824xA and N824xA by an N8221A and N8262A and Adapter

5063-9212

2 EIA Rackmount
Flange Kit A
(Quantity 2) “® = o
N8200-20208
Rear Foot, Green
(Quantity 2)

Use on rear

of N8262A.

N8200-20201
Rear Foot, Red

N8200-60101
1 EIA Rackmount Adapter Kit

(Quantity 4)
Use on rear =
of N8221A. T
6
1| N8200-20205
: Mounting Plate 5
o o —AF
Front Column L4 u . *
[
@ ] T. .’ )
L : »
_.--"'-’ e
.---_f..-'::_-__._.-"" E3666A ‘- 2 I_;‘" s.‘
~ Plain Shelf 6 ’,x'"‘

5061-9694
Lock Link Kit

Front Hook
(Quantity 6)
Flathead Screw
(Quantity 6)

2 EIA Rackmount
Flange Kit

¥ - N8200-20203
N8200-20214 Rear Foot, Black

Rear Link, Green (Quantity 6)
(Quantity 1) Use on rear
of N824xAs.

- Connection Order of

Mounting Screws, 0515-1269:
1¢t) Screws 1 and 2 on N824xA
2") Screws 3 and 4 on N824xA
3) Screws 5 N8262A

4™ Screws 6 and 7 on N8221A

Plain Shelf

2 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

1 EIA Rackmount Adapter Kit, No Handles
Adapter Assembly
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

Lock Link Kit

Front Hook

1 E3666A

2 5063-9212

3 Included in Kit Use to connect front of module to rack.
6  Included in Kit Use to connect Flanges to modules.
6 Included in Kit Use to connect Flanges to rack.
6 Included in Kit Use to fasten Gray Dress Screws to rack.
1 NB8200-60101
1 Included in Kit Use as a front Filler Panel.
1 Included in Kit Use to connect front of the N8262A to rack.
2 Included in Kit Use to connect Flange to N8262A.
2 Included in Kit Use to connect Flange/Adapter to rack.
2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5061-9694

6 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

Flat Head Screw, M4 x 0.7 x 6L 6  Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xAs, N8262A, N8221A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 7  0515-1269 Use with Mounting Plate.
Rear Foot, Black (Outside 2 feet are optional.) 6  N8200-20203 Use on the rear of N824xAs.
Rear Link, Green, Vertical 1 NB8200-20214 Use to connect N824xA to the N824xA.
Rear Foot, Red (Outside 2 feet are optional.) 4 N8200-20201 Use on the rear of the N8221A.
Rear Foot, Green (Outside foot is optional.) 2 N8200-20208 Use on the rear of the N8262A.

Agilent N8200A Series Synthetic Instrument Modules 163



3 Racking into a 19” EIA Rack Cabinet

=== N824xA and N824xA by an N8221A and N8262A and N8262A

5063-9212 N8262-60109
2 EIA Rackmount . 4 1EIARackmount 5061-9694
Flange Kit i B Flange Kit (Quantity 1) Lock Link Kit

(Quantity 2) ™ =

Front Hook
N8200-20208 (Quantity 8)
Rear Foot, Green Flathead Screw
(Quantity 4) (Quantity 8)

Use on rear of

both N8262As.
2 EIA Rackmount

Flange Kit
N8200-20201
Rear Foot, Red

(Quantity 4) ST 0% o
Use on rear c . d S
of N8221A. 7

%
~|| N8200-20205 i N8200-20203
¢|| Mounting Plate 6 /5 /4 3 N8200-20214 Rear Foot, Black
1 o 4l -’ — Rear Link, Green (Quantity 6)
Front Column .__ilzg_#.ﬁ__. {(Quantity 1) Use on rear
K CUEE ST S of N824xAs.
. . G *| Connection Order of
g Mounting Screws, 0515-1269:
e E3666A L * : » | 1¢') Screws 1 and 2 on N824xA
e Plain Shelf 7/ _— # %, 2v) Screws 3 and 4 on N824xA
- —~ 3) Screws 5 and 6 on N8262As
~ ,,x’f 4™ Screws 7 and 8 on N8221A
Plain Shelf 1 E3666A
2 EIA Rackmount Flange Kit, No Handles 2 5063-9212
Rackmount Flange 3 Included in Kit Use to connect front of module to rack.
Panhead Screw, M4 x 0.7 x 10L 6 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 6 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 6 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Flange Kit, No Handles 1 NB8262-60109
Rackmount Flange 2 Included in Kit Use to connect both N8262As to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flanges to N8262As.
Gray Dress Screw 2 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 8  Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 8 Included in Kit Use to connect front of modules.

164 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19" EIA Rack Cabinet

4 EIA Mounting Plate

Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 2 feet are optional.)
Rear Link, Green, Vertical

Rear Foot, Red (Outside 2 feet are optional.)

Rear Foot, Green (Outside 2 feet are optional.)

N8200-20205

0515-1269

N8200-20203
N8200-20214
N8200-20201

N8200-20208

Connect order: N824xA, N824xA, N8262A
N8262A, N8221A.

Use with Mounting Plate.

Use on the rear of N824xAs.

Use to connect N824xA to the N824xA.
Use on the rear of the N8221A.

Use on the rear of the N8262As.

Agilent N8200A Series Synthetic Instrument Modules

165



3 Racking into a 19” EIA Rack Cabinet

5063-9240

2 EIA Rackmount
Adapter Kit (Quantity 1) |

N8200-20203
Rear Foot, Black
(Quantity 10)
Use on rear of
N8222A and i
both N824xAs.

ol

N8200-20205
Mounting Plate

Front Column

N824xA and N824xA by an N8222A and an Adapter

5061-9694
J'\ Lock Link Kit

Front Hook

(Quantity 4)

Flathead Screw

(Quantity 4)

5063-9212

2 EIA Rackmount
Flange Kit
(Quantity 1)

&

N8200-20214
Rear Link, Green
(Quantity 1)

.| Connection Order of

' Mounting Screws, 0515-1269:

T E3666A 2 1) Screws 1 and 2 on N824xA
S Plain Shelf 2") Screws 3 and 4 on N824xA
= 3) Screws 5 and 6 on N8222A
e
Plain Shelf 1 E3666A
2 EIA Rackmount Adapter Kit, No Handles 1 5063-9240
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect front of the N8222A to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
2 EIA Rackmount Flange Kit, No Handles 1 5063-9212
Rackmount Flange 2 Included in Kit Use to connect front of N824xAs to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flanges to N824xAs.
Gray Dress Screw 4 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 4 Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 4 Included in Kit Use to connect front of modules.
166 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

4 EIA Mounting Plate 1 NB8200-20205 Connect order: N824xA, N824xA, N8222A.
Flat Head Mounting Screw, M4 x 0.7 x 10L 6  0515-1269 Use with Mounting Plate.

Rear Foot, Black (Outside 4 feet are optional.) 10  N8200-20203 Use on the rear of N824xAs and N8222A.
Rear Link, Green, Vertical 1 NB8200-20214 Use to connect N824xA to the N824xA.

Agilent N8200A Series Synthetic Instrument Modules 167



3

168

Racking into a 19” EIA Rack Cabinet

N8200-20203
Rear Foot, Black
(Quantity 12)
Use on rear of both
N8222As and
N824xAs and
secure with existing
instrument screws.

§

Foolld ¥

N8200-20214

Rear Link, Green
(Quantity 2)

Use on rear of both
N8222As and
N824xAs and
secure with existing
instrument screws.

N8200-20205
Mounting Plate

2 EIA Rackmount
Flange Kit

3 == N824xA and N824xA by an N8222A and N8222A

5061-9694
Lock Link Kit

& | Front Hook

(Quantity 8)

Flathead Screw

(Quantity 8)

5063-9212

2 EIA Rackmount
Flange Kit
{Quantity 2)

5 4 3
——r—F
Front Column a bl T X 4 :| Connection Order of
- . 4 » *| Mounting Screws, 0515-1269:
e d . | .| 1) Screws 1 and 2 on N824xA
e et e . 3 3 =) 27d) Screws 3 and 4 on N824xA
- o
P E3666A \8? 12 3 Screws 5 and 6 on N8222A
P Plain Shelf ,,/,l 4" Screws 7 and 8 on N8222A
o ~
Plain Shelf 1 E3666A
2 EIA Rackmount Flange Kit, No Handles 2 5063-9212
Rackmount Flange 4 Included in Kit Use to connect front of module to rack.
Panhead Screw, M4 x 0.7 x 10L 8 Included in Kit Use to connect Flanges to modules.
Gray Dress Screw 8 Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut 8 Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 1 5061-9694
Front Hook 8  Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L 8 Included in Kit Use to connect front of modules.
4 EIA Mounting Plate 1 N8200-20205 Connect order: N824xAs then N8222As.
Flat Head Mounting Screw, M4 x 0.7 x 10L 8 0515-1269 Use with Mounting Plate.
Rear Foot, Black (Outside 4 feet are optional.) 12 N8200-20203 Use on the rear of N824xAs and N8222A.
Rear Link, Green, Vertical 2 N8200-20214 Use on the rear of N824xAs and N8222As.

Agilent N8200A Series Synthetic Instrument Modules



5063-9212
2 EIA Rackmount -
Flange Kit
(Quantity 2) 8
. &

N8200-20203

Rear Foot, Black ’
(Quantity 10)
Use on rear of
N8222A and

all N824xAs. P

N8200-20204
Rear Link, Black
(Quantity 2)

N8200-20206
Mounting Plate

Racking into a 19 EIA Rack Cabinet 3

SZo rzog N824xA and N824xA by an N8222A and N824xA

5061-9694
Lock Link Kit

2| Front Hook
(Quantity 8)
Flathead Screw
(Quantity 8)

2 EIA Rackmount
Flange Kit

-~

N8200-20214
Rear Link, Green
(Quantity 1)

-

Connection Order of

2> Mounting Screws, 0515-1269:
1st) Screws 1 and 2 on N824xA (bottom)
2") Screws 3 and 4 on N8222A (bottom)
31) Connect N824xAs with Rear Links.

Plain Shelf
2 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut
Lock Link Kit
Front Hook
Flat Head Screw, M4 x 0.7 x 6L
2 EIA Mounting Plate
Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 6 feet are optional.)
Rear Link, Black, Horizontal

Rear Link, Green, Vertical

1 E3666A

2 5063-9212

4 Included in Kit Use to connect front of module to rack.
8 Included in Kit Use to connect Flanges to modules.
8 Included in Kit Use to connect Flanges to rack.
8 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5061-9694

8 Included in Kit Use to connect front of modules.

8 Included in Kit Use to connect front of modules.

1 N8200-20206 Connect order: Bottom N824xA, N8222A.

4 0515-1269 Use with Mounting Plate.
10  N8200-20203 Use on the rear of N824xAs and N8222A.
2 NB8200-20204 Use on the rear of N824xA and N824xA.

1 N8200-20214 Use on the rear of N824xA and N824xA.

Agilent N8200A Series Synthetic Instrument Modules

169



3 Racking into a 19” EIA Rack Cabinet

“Z2g .. N824xA and N824xA by an N8222A and N8262A and Adapter
iy |1 |

S el N8200-60101
2 EIA Rackmount 1 EIA Rackmount Adapter Kit 5061-9694

Flange Kit Lock Link Kit

{(Quantity 2) ®= o, A N
N8200-20208 . : \L

Front Hook
(Quantity 6)

Rear Foot, Green . Flathead Screw
(Quantity 2) ' y (Quantity 6)
Use on rear
of N8262A. d !
" 2 EIA Rackmount
N8200-20203 Flange Kit
Rear Foot, Black
(Quantity 10)
Use on rear of
N8222A and
both N824xAs. '
| N8200-20205 B
1| Mounting Plate 5 4 3 N8200.—20214
0]
1 Rear Link, Green
Front Column ;.'l"-‘ﬁ_x;.-’\ {Quantity 1)
/,«""J Connection Order of
- Mounting Screws, 0515-1269:

1st) Screws 1 and 2 on N824xA

. E3666A 27d) Screws 3 and 4 on N824xA

St Plain Shelf 34 Screws 5 N8262A
fe 4%) Screws 6 and 7 on N8222A
Plain Shelf E3666A
2 EIA Rackmount Flange Kit, No Handles 5063-9212
Rackmount Flange Included in Kit Use to connect front of module to rack.
Panhead Screw, M4 x 0.7 x 10L Included in Kit Use to connect Flanges to modules.
Gray Dress Screw Included in Kit Use to connect Flanges to rack.
Sheet Metal Nut Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Adapter Kit, No Handles N8200-60101
Adapter Assembly Included in Kit Use as a front Filler Panel.
Rackmount Flange Included in Kit Use to connect front of the N8262A to rack.
Panhead Screw, M4 x 0.7 x 10L Included in Kit Use to connect Flange to N8262A.
Gray Dress Screw Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut Included in Kit Use to fasten Gray Dress Screws to rack.
Lock Link Kit 5061-9694
Front Hook Included in Kit Use to connect front of modules.
Flat Head Screw, M4 x 0.7 x 6L Included in Kit Use to connect front of modules.
170 Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

4 EIA Mounting Plate

Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 4 feet are optional.)
Rear Link, Green, Vertical

Rear Foot, Green (Outside foot is optional.)

N8200-20205
0515-1269

N8200-20203
N8200-20214
N8200-20208

Connect order: N824xAs, N8262A, N8222A.
Use with Mounting Plate.

Use on the rear of N824xAs and N8222A.
Use to connect N824xA to the N824xA.

Use on the rear of the N8262A.

Agilent N8200A Series Synthetic Instrument Modules

171



3

172

Racking into a 19” EIA Rack Cabinet

5063-9212

=== NB824xA and N824xA by an N8222A and N8262A and N8262A

N8262-60109

2 EIA Rackmount . A1 EIA Rackmount Flange Kit 5061-9694

Flange Kit D {Quantity 1) Lock Link Kit

{Quantity 2) * - . [ﬂ "

H Front Hook
N8200-20208 i (Quantity 8)
Rear Foot, Green .’ : -~ Flathead Screw
(Quantity 4) P (Quantity 8)
Use on rear of
both N8262As.
— 2 EIA Rackmount

N8200-20203

Rear Foot, Black ’
(Quantity 10)

Use on rear of

N8222A and

both N824xAs. 1
s || N8200-20205
| a
a1 Mounting Plate 6 5
‘] !
7 | o f F F
Front Column Liﬁ‘ﬂ . Gt
" e T_ i 4 )
g : - »
L
.-'-’-'...-..-""'# ) -
.~ E3666A 4 =TS
'/,.-f" Plain Shelf 7 /;""f
. --"-f-"'.
- -

Flange Kit

N8200-20214
Rear Link, Green
(Quantity 1)

Connection Order of

Mounting Screws, 0515-1269:
1¢t) Screws 1 and 2 on N824xA
2") Screws 3 and 4 on N824xA
3) Screws 5 and 6 on N8262As
4™ Screws 7 and 8 on N8222A

Plain Shelf

2 EIA Rackmount Flange Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

1 EIA Rackmount Adapter Kit, No Handles
Rackmount Flange
Panhead Screw, M4 x 0.7 x 10L
Gray Dress Screw
Sheet Metal Nut

Lock Link Kit
Front Hook

Flat Head Screw, M4 x 0.7 x 6L

1 E3666A

2 5063-9212

3 Included in Kit Use to connect front of module to rack.
6  Included in Kit Use to connect Flanges to modules.
6 Included in Kit Use to connect Flanges to rack.
6 Included in Kit Use to fasten Gray Dress Screws to rack.
1 NB8262-60109
2 Included in Kit Use to connect front of N8262As to rack.
2 Included in Kit Use to connect Flanges to N8262As.
2 Included in Kit Use to connect Flanges to rack.
2 Included in Kit Use to fasten Gray Dress Screws to rack.
1 5061-9694

8 Included in Kit Use to connect front of modules.

8 Included in Kit Use to connect front of modules.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

4 EIA Mounting Plate

Flat Head Mounting Screw, M4 x 0.7 x 10L
Rear Foot, Black (Outside 4 feet are optional.)
Rear Link, Green, Vertical

Rear Foot, Green (Outside 2 feet are optional.)

N8200-20205

0515-1269
N8200-20203
N8200-20214

N8200-20208

Connect order: N824xA, N824xA, N8262A,
N8262A, N8222A.

Use with Mounting Plate.
Use on the rear of N824xAs and N8222A.
Use to connect N824xA to the N824xA.

Use on the rear of the N8262As.

Agilent N8200A Series Synthetic Instrument Modules

173



3

174

Racking into a 19” EIA Rack Cabinet

N8262A by an Adapter with an E7733A 3 EIA Filler Panel

B TE R

N8200-60101

1 EIA Rackmount

Adapter Kit
{Quantity 1)

N8200-20208
Rear Foot, Green

E7733A

3 ElA Filler Panel Kit (1 MW)

v

. « Part of -
(eTNUy23) 1 EIA Rackmount
Use on rear of Adapter Kit
the N8262A and 2
Front Column secure with existing
instrument screws.
.-f’-.
-
___.-’ e
__#,,»-’? - E3666A
2T Plain Shelf
Plain Shelf 1 E3666A
3 EIAFiller Panel Kit (1 MW) 1 E7733A Use as a front Filler Panel
that fills the full width of the rack.
Gray Dress Screw 6 Included in Kit Use to connect 3 EIA Filler Panel to rack.
Sheet Metal Nut 6 Included in Kit Use to fasten Gray Dress Screws to rack.
1 EIA Rackmount Adapter Kit, No Handles 1 NB8200-60101
Adapter Assembly 1 Included in Kit Use as a front Filler Panel.
Rackmount Flange 1 Included in Kit Use to connect the N8262A to rack.
Panhead Screw, M4 x 0.7 x 10L 2 Included in Kit Use to connect Flange/Adapter to N8262A.
Gray Dress Screw 2 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 2 Included in Kit Use to fasten Gray Dress Screws to rack.
Rear Foot, Green (Both of the 2 feet are optional.) 2 N8200-20208 Use on the rear of the N8262A.

Agilent N8200A Series Synthetic Instrument Modules



Racking into a 19 EIA Rack Cabinet 3

N8262A and N8262A by an Adapter with an E7732A 2 EIA Filler Panel

T aae
=0 T ann

E7732A
2 ElAFiller Panel Kit (1 MW)

N8200-60101

1 EIA Rackmount
Adapter Kit
(Quantity 2)

N8200-20208
Rear Foot, Green

(Quantity 4)
Use on rear of both 1 EIA Rackmount
N8262As and secure Adapter Kits

Front Column with existing

instrument screws.

-
-
i
.-""-.# .-""-J.
i E3666A
2T Plain Shelf
Plain Shelf 1 E3666A
2 EIA Filler Panel Kit (1 MW) 1 E7732A Use as a front Filler Panel
that fills the full width of the rack.

Gray Dress Screw 4 Included in Kit Use to connect 2 EIA Filler Panel to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.

1 EIA Rackmount Adapter Kit, No Handles 2 N8200-60101
Adapter Assembly 2 Included in Kit Use as a front Filler Panel.
Rackmount Flange 2 Included in Kit Use to connect N8262As to rack.
Panhead Screw, M4 x 0.7 x 10L 4 Included in Kit Use to connect Flange/Adapter to modules.
Gray Dress Screw 4 Included in Kit Use to connect Flange/Adapter to rack.
Sheet Metal Nut 4 Included in Kit Use to fasten Gray Dress Screws to rack.

Rear Foot, Green (All 4 feet are optional.) 4 N8200-20208 Use on the rear of the N8262As.

Agilent N8200A Series Synthetic Instrument Modules 175



3 Racking into a 19” EIA Rack Cabinet

176 Agilent N8200A Series Synthetic Instrument Modules



() Rack Configuration Guide

.o. ® .o.
0%
o0 @ @oe./
..... Generic Rack Configurations
o

*  This chapter displays generic rack configurations and hardware used by
N8200A Series synthetic instrument modules.

Detailed configurations of N8200A Series synthetic instrument modules of 4 EIA, 2 EIA, or
1 EIA in height, that are 1/2 MW (one-half module width), and placed in a 19” EIA rack
cabinet can be found in Chapter 3, “Racking into a 19” EIA Rack Cabinet.

“Front Hooks" on page 178
“2 EIA Mounting Plate" on page 178

“Red Rear Link and Rackmount Flanges' on page 178

“1 EIA Instruments of Equal Length with Blue Rear Link™ on page 179
“1 EIA Instruments with Front Adapter Panel" on page 179

“2 EIA Instruments, System Il Front Frames with Red Rear Link" on page 180
“2 EIA Instruments, Custom Front Frames with Black Rear Link™ on page 180

“2 EIA Mixed Length and Mixed Front Frame Styles" on page 181

“4 EIA, 2 EIA, and 1 EIA Mixed Length with Mounting Plate and Rear Feet" on page 181
“4 EIA, 2 EIA, and 1 EIA Rackmount Adapter Kits" on page 182

“4 EIA Equal Length Instruments with Rear Links™ on page 182

“4 EIA and 2 EIA Equal Length Instruments with Rear Links" on page 183

“4 EIA and 2 EIA Mixed Length Instruments with Mounting Plate and Rear Links™ on
page 183

Agilent Technologies 177



4

Generic Rack Configurations

Front Hooks

“ Lock Link Kit
5061-9694

2 EIA Mounting Plate

Md ¥ 8L FLH
ATTACH PLATE

TO SHORTER UNITS
FIRST \

MOUNTING PLATE

T AUX. M3 MTG POINTS Rackmount Flange Kits,

4 EIA Rackmount Flange Kit, 5063-9215
OPTIONAL EEAH FEET LN OUTSIDE 3 EIA Rackmount Flange Kit, 5063-9214
T e Tceed 2 EIA Rackmount Flange Kit, 5063-9212

1 EIA Rackmount Flange Kit, N8262-60109

Agilent N8200A Series Synthetic Instrument Modules



Generic Rack Configurations 4

1 EIA Instruments of Equal Length with Blue Rear Link

NE200-20207

SECURED WITH 3X AUXILARY

MOUMTING
EXISTING NSTRUMENT SLES ()
SCREWS

1 EIA Instruments with Front Adapter Panel

1 EIA Rackmount Adapter Kit,

Part of the N8200-60101

1 EIA Rackmount Adapter Kit f

GEMERIC
RACK HAL
§ SHELF

23 AUXILARY

MOLUNTING ME8200-00005
MA200-00001 HOLES [M3] L-BR ACKET
REAR FLLER U ON FILLER SECURED TO
SECURED WITH FILLER WITH M3
EXISTING INSTRUMENT SCREW. INTEGRATOR
SCREWS TO DETERMINE

ATTACHMENT TO
RAIL / SHELF

Agilent N8200A Series Synthetic Instrument Modules 179



4 Generic Rack Configurations

2 EIA Instruments, System Il Front Frames with Red Rear Link

2% NB200-20202
REAR LMK [RED)
SECURED WITH
EXAGTING INSTRUMENT
SCREWS

2 EIA Instruments, Custom Front Frames with Black Rear Link

25 N8200-20204
REAR LEE [BLACK])
SECURED WITH
EXAGTING INSTRUMENT
SCREWS

180 Agilent N8200A Series Synthetic Instrument Modules



Generic Rack Configurations 4

2 EIA Mixed Length and Mixed Front Frame Styles

U UEING SYE B
FRONT FRAME

2U USING CUSTOM
FRONT FRAME

-~ / 2% NB200-20203
NE200-20201 ’ | REAR FOOT (BLACK]

REAR FOOT IRED) ! SECURED WITH
SECURED WITH l.'l EXISTHG INSTRUMENT
EXIETNG INSTRUMENT SCREWS

SCREWS NB200-20206

MOUNTING PLATE 2U
SECURED TO REAR
FEET USING M4 ¥ 10L
FLTHD SCHREW
0515-1269

4 EIA, 2 EIA, and 1 EIA Mixed Length with Mounting Plate and Rear Feet

2% W USKG CUSTOM
FRONT FRAME SHOWM '

4U USING SYE 1
FROWT FRAME

2U USiNG
CUSTOM
..__FHDHT FRAME

“NE200-20208, GREEN
REAR FOOT U
SECURED WITH
EXIETING INSTRUMENT
SCREWSI

1 T i
NB200-20201 NB200-20205 Hziﬂnﬂ !?SEPFBIHLACHF

AEAR FOOT (RED) MOUNTING PLATE 4U
SECURED WITH SECURED TO REAR ESEFE‘#EE.]D lfﬁrq*l-plquufuT
EXISTING INSTHLUMENT FEET LISING M4 X 0L SCREWS
SCREWS FLTHD SCREW
0315-1269

Agilent N8200A Series Synthetic Instrument Modules 181



4

182

2% Ne200-20201 (RED)
CR

Generic Rack Configurations

4 EIA, 2 EIA, and 1 EIA Rackmount Adapter Kits

Rackmount Adapter Kits,
4 EIA, 5063-9245

3 EIA, 5063-9243

2 EIA, 5063-9240

1 EIA, N8200-60101

INSTRUMENTS

OR GuSTOM'
FROMT FRAME GEMNERIC
RACK RAIL

4 SHELF

N8200-00002 2U Ry ey
2% WN8200-20203 [BLACK) NBZO0-00003 3U HOLES (M3) SECURED TO
REAR FOOT, INSTRUMENT NA200-00004 AU L L
CASE STYLE DEPENDANT REAR FILLER PHML SCAEW. INTEGRATOR
SECURED WITH EXISTING SECURED TG REAR FEET el LR
INSTRUMENT SCREWS USING 2 Md X EL PNHD ATTACHMENT TO
SCREW. 0515.0380 AL e e

4 EIA Equal Length Instruments with Rear Links

# NSTRUMENTE MUST BE OF THE SAME FRAME STYLE

IMETRUMENTS HSTRUMENTS

USNG S¥5 1

R CUSTOM .
o oY B.JFHLE FRONT FRAME

2X WB200-20202 (REDI
OR

2¥ WEZ20D-20204 (BLACK)

REAR LMK, INSTRUMENT

CASE STYLE DEPENDAMNT

SECURED WITH EXISTNG

MSTRUMENT SCREWS s
ILE: 2U_

Agilent N8200A Series Synthetic Instrument Modules



Generic Rack Configurations 4

4 EIA and 2 EIA Equal Length Instruments with Rear Links

INSTRUMENTS
USNG 575 1|
O CUSTOM
FRONT FRAME

Eﬁ MBZ200-20211 {BLUED
2¥ MNB200-20214 (GREEM)

- f REAR LINK, MNSTRUMENT
= S————— A ool
2x WBZ200-20204 [BLACK] I
REAR LINK, INSTRUMENT INSTRUMENT SCREWS

CASE STYLE DEPENDAMNT
SECUAED WITH EXISTING
IMSTRUMENT SCREWS

4 EIA and 2 EIA Mixed Length Instruments with Mounting Plate and Rear Links

NETRUMENTS
USMG SYS 1
DR CUSTOM
FROMT FRAME

NETRUMENTS

USMNE SY5 1
R CUSTOM =
FRONT FRAME =

< 2¥ MEZD0-2020 (RED)
OR

2¥ MBZ00-20203 (BLACK)
REAR FOOT, INSTRUMENT
CASE STYLE DEPEMDAMT
SECURED WITH EXIESTING

2X Nez200-20202 (RED) -

OR ! INSTRUMENT SCGREWS
EeRER LAY hezee
- MOUNTING FLATE 4U NOTCHED
CASE STYLE DEPENDANT SECURED TO REAR FEET
SECURED WITH EXISTIMG USING M4 X 10L FLTHD
INSTRUMENT SCREWS SCREW, 0515-1268

FLE: 4U_M¥

Agilent N8200A Series Synthetic Instrument Modules 183



4 Generic Rack Configurations

184 Agilent N8200A Series Synthetic Instrument Modules



Index

Numerics

1 MW instrument, full width of the
rack, 10

A

Agilent’s Modular Cabinets (System
), 10

E

Electronic Industries Alliance
(EIA), 10
example of, 1 EIA Filler Panel Kit, 127
example of, 2 EIA Mounting
Plate, 161, 169
example of, 3 EIA Filler Panel Kit (1
MW), 174
example of, 3 EIA Rackmount Adapter
Kit, 110, 127

F

flanges, 17

IEEE 1588 precision time protocol
(PTP), 3

IEEE 1588 time synchronization and
protocol standard, 3

International Electrotechnical
Commission (IEC), 10

L

LAN eXtension for Instrumentation
(LX), 3

R

rackmount flange kits, 17

S

System lI
rackmount flange kits, 17
System Il, Agilent’s Modular
Cabinets, 10

Index-1



Index

Index-2



	Introducing N8200A Series Synthetic Instrument Modules
	Contents
	Introduction to Racks and Kits
	Understanding Agilent’s Modular Cabinets (System II)
	Height, Width, and Depth of System II Instruments
	Figure 1 Height, Width (Module Width or MW), and Depth of System II Instruments

	Height, Width, and Depth of N8200A Series Instruments
	Height, Width, and Depth of Non-System II Instruments

	Selecting Kits
	Figure 2 Kits for Handles and Rackmount Flanges
	Kits for Rackmount Flanges without Handles
	Figure 3 Kits for Rackmount Flanges without Handles

	Kits for Rackmount Adapters
	Figure 4 Kits for Rackmount Adapters

	Kits for Support Shelves (E3666A Plain Shelf)
	Figure 5 Kits for Support Shelves (E3666A Plain Shelf)



	Rack Configuration Parts List
	Racking into a 19” EIA Rack Cabinet
	N8201A by an Adapter
	N8201A by an N8201A
	N8201A by an N8211A or N8212A
	N8201A by an N8221A and Adapter
	N8201A by an N8221A and N8221A
	N8201A by an N8221A and N8222A
	N8201A by an N8221A and N824xA
	N8201A by an N8221A and N8262A and Adapter
	N8201A by an N8221A and N8262A and N8262A
	N8201A by an N8222A and Adapter
	N8201A by an N8222A and N8222A
	N8201A by an N8222A and N824xA
	N8201A by an N8222A and N8262A and Adapter
	N8201A by an N8222A and N8262A and N8262A
	N8201A by an N824xA and Adapter
	N8201A by an N824xA and N8221A
	N8201A by an N824xA and N8222A
	N8201A by an N824xA and N824xA
	N8201A by an N824xA and N8262A and Adapter
	N8201A by an N824xA and N8262A and N8262A
	N8201A by an N8262A and 3 EIA Adapter
	N8201A by an N8262A and N8262A and Adapter
	N8211A or N8212A by an Adapter
	N8211A or N8212A by an N8211A or N8212A
	N8211A or N8212A by an N8221A and Adapter
	N8211A or N8212A by an N8221A and N8221A
	N8211A or N8212A by an N8221A and N8222A
	N8211A or N8212A by an N8221A and N824xA
	N8211A or N8212A by an N8221A and N8262A and Adapter
	N8211A or N8212A by an N8221A and N8262A and N8262A
	N8211A or N8212A by an N8222A and Adapter
	N8211A or N8212A by an N8222A and N8222A
	N8211A or N8212A by an N8222A and N824xA
	N8211A or N8212A by an N8222A and N8262A and Adapter
	N8211A or N8212A by an N8222A and N8262A and N8262A
	N8211A or N8212A by an N824xA and Adapter
	N8211A or N8212A by an N824xA and N8221A
	N8211A or N8212A by an N824xA and N8222A
	N8211A or N8212A by an N824xA and N824xA
	N8211A or N8212A by an N824xA and N8262A and Adapter
	N8211A or N8212A by an N824xA and N8262A and N8262A
	N8211A or N8212A by an N8262A and 3 EIA Adapter
	N8211A or N8212A by an N8262A and N8262A and Adapter
	N8221A by an Adapter with an E7732A 2 EIA Filler Panel
	N8221A by an N8221A with an E7732A 2 EIA Filler Panel
	N8221A by an N8222A with an E7732A 2 EIA Filler Panel
	N8221A by an N824xA with an E7732A 2 EIA Filler Panel
	N8221A by an N8262A and Adapter with an E7732A 2 EIA Filler Panel
	N8221A by an N8262A and N8262A with an E7732A 2 EIA Filler Panel
	N8222A by an Adapter with an E7732A 2 EIA Filler Panel
	N8222A by an N8222A with an E7732A 2 EIA Filler Panel
	N8222A by an N824xA with an E7732A 2 EIA Filler Panel
	N8222A by an N8262A and Adapter with an E7732A 2 EIA Filler Panel
	N8222A by an N8262A and N8262A with an E7732A 2 EIA Filler Panel
	N824xA by an Adapter with an E7732A 2 EIA Filler Panel
	N824xA by an N8221A with an E7732A 2 EIA Filler Panel
	N824xA by an N8222A with an E7732A 2 EIA Filler Panel
	N824xA by an N824xA with an E7732A 2 EIA Filler Panel
	N824xA by an N8262A and Adapter with an E7732A 2 EIA Filler Panel
	N824xA by an N8262A and N8262A with an E7732A 2 EIA Filler Panel
	N824xA and Adapter by an N8221A and N8221A
	N824xA and Adapter by an N8221A and N8222A
	N824xA and Adapter by an N8221A and N824xA
	N824xA and Adapter by an N8221A and N8262A with a 1 EIA Filler
	N824xA and Adapter by an N8221A and N8262A and N8262A
	N824xA and Adapter by an N8222A and N8222A
	N824xA and Adapter by an N8222A and N824xA
	N824xA and Adapter by an N8222A and N8262A with a 1 EIA Filler
	N824xA and Adapter by an N8222A and N8262A and N8262A
	N824xA and N824xA by an N8221A and an Adapter
	N824xA and N824xA by an N8221A and N8221A
	N824xA and N824xA by an N8221A and N8222A
	N824xA and N824xA by an N8221A and N824xA
	N824xA and N824xA by an N8221A and N8262A and Adapter
	N824xA and N824xA by an N8221A and N8262A and N8262A
	N824xA and N824xA by an N8222A and an Adapter
	N824xA and N824xA by an N8222A and N8222A
	N824xA and N824xA by an N8222A and N824xA
	N824xA and N824xA by an N8222A and N8262A and Adapter
	N824xA and N824xA by an N8222A and N8262A and N8262A
	N8262A by an Adapter with an E7733A 3 EIA Filler Panel
	N8262A and N8262A by an Adapter with an E7732A 2 EIA Filler Panel

	Generic Rack Configurations
	Front Hooks
	2 EIA Mounting Plate
	Red Rear Link and Rackmount Flanges
	1 EIA Instruments of Equal Length with Blue Rear Link
	1 EIA Instruments with Front Adapter Panel
	2 EIA Instruments, System II Front Frames with Red Rear Link
	2 EIA Instruments, Custom Front Frames with Black Rear Link
	2 EIA Mixed Length and Mixed Front Frame Styles
	4 EIA, 2 EIA, and 1 EIA Mixed Length with Mounting Plate and Rear Feet
	4 EIA, 2 EIA, and 1 EIA Rackmount Adapter Kits
	4 EIA Equal Length Instruments with Rear Links
	4 EIA and 2 EIA Equal Length Instruments with Rear Links
	4 EIA and 2 EIA Mixed Length Instruments with Mounting Plate and Rear Links


